# **Stock Book**



Sappi North America Stock Book

This Stock Book provides product details and stocking information for McCoy, Spectro, Opus, Somerset, Flo, Galerie, and EuroArt Plus. The information is accurate at the time of publication (indicated by effective dates on each page) and is subject to change.

For SMO items, please consult your customer service representative. Visit *sappi.com* for the most up-to-date product information.

| McC    | oy—She           | eets                     |                    |                 |               |                 |                  |     |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Gloss  | Text             | 80/118                   | 96                 | 95.0            | 72            | .0037           |                  | 540 | 94                     | 95.90, 2.70, -7.30   |
|        |                  | 100/148                  | 96                 | 96.5            | 72            | .0045           |                  | 444 | 114                    | 95.90, 2.70, -7.30   |
|        | Cover            | 80/216                   | 96                 | 98.5            | 72            | .0069           |                  | 290 | 175                    | 95.90, 2.70, -7.30   |
|        |                  | 100/270                  | 96                 | 99.0            | 72            | .0090           |                  | 222 | 229                    | 95.90, 2.70, -7.30   |
|        |                  | 120/325                  | 96                 | 99.0            | 72            | .0110           |                  | 182 | 279                    | 95.90, 2.70, -7.30   |
| Silk   | Text             | 80/118                   | 96                 | 95.0            | 43            | .0041           |                  | 488 | 104                    | 95.90, 2.70, -7.30   |
|        |                  | 100/148                  | 96                 | 96.5            | 43            | .0050           |                  | 404 | 127                    | 95.90, 2.70, -7.30   |
|        | Cover            | 80/216                   | 96                 | 98.5            | 43            | .0076           |                  | 262 | 193                    | 95.90, 2.70, -7.30   |
|        |                  | 100/270                  | 96                 | 99.0            | 43            | .0098           |                  | 204 | 249                    | 95.90, 2.70, -7.30   |
|        |                  | 120/325                  | 96                 | 99.0            | 43            | .0120           |                  | 166 | 305                    | 95.90, 2.70, -7.30   |
|        |                  | 130/352                  | 96                 | 99.0            | 43            | .0132           |                  | 152 | 335                    | 95.90, 2.70, -7.30   |
| Matte  | Text             | 80/118                   | 96                 | 95.0            | 25            | .0044           |                  | 454 | 112                    | 95.90, 2.70, -7.30   |
|        |                  | 100/148                  | 96                 | 96.5            | 25            | .0056           |                  | 356 | 142                    | 95.90, 2.70, -7.30   |
|        | Cover            | 80/216                   | 96                 | 98.5            | 25            | .0085           |                  | 234 | 216                    | 95.90, 2.70, -7.30   |
|        |                  | 100/270                  | 96                 | 99.0            | 25            | .0106           |                  | 188 | 269                    | 95.90, 2.70, -7.30   |

| McCoy—Gift Card |                  |                          |                    |                 |               |                 |                  |     |                        |                      |  |
|-----------------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|--|
| FINISH          | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |  |
| Silk            | Cover            | 288/780                  | 96                 | 99.0            | 43            | .0280           |                  | 68  | 748                    | 95.90, 2.70, -7.30   |  |

| McC    | McCoy-Web        |                          |                    |                 |               |                 |                  |     |                        |                                 |  |  |  |  |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|---------------------------------|--|--|--|--|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE <sup>1</sup> |  |  |  |  |
| Gloss  | Text             | 80/118                   | 96                 | 95.0            | 72            | .0037           |                  | 540 | 94                     | 95.90, 2.70, -7.30              |  |  |  |  |
|        |                  | 100/148                  | 96                 | 96.5            | 72            | .0048           |                  | 414 | 122                    | 95.90, 2.70, -7.30              |  |  |  |  |
|        | Cover            | 80/216                   | 96                 | 98.5            | 72            | .0070           |                  | 286 | 178                    | 95.90, 2.70, -7.30              |  |  |  |  |
| Silk   | Text             | 80/118                   | 96                 | 95.0            | 43            | .0041           |                  | 488 | 104                    | 95.90, 2.70, -7.30              |  |  |  |  |
|        |                  | 100/148                  | 96                 | 96.5            | 43            | .0053           |                  | 376 | 135                    | 95.90, 2.70, -7.30              |  |  |  |  |
|        | Cover            | 80/216                   | 96                 | 98.5            | 43            | .0076           |                  | 262 | 193                    | 95.90, 2.70, -7.30              |  |  |  |  |
| Matte  | Text             | 80/118                   | 96                 | 95.0            | 25            | .0045           |                  | 444 | 114                    | 95.90, 2.70, -7.30              |  |  |  |  |
|        |                  | 100/148                  | 96                 | 96.5            | 25            | .0058           |                  | 344 | 147                    | 95.90, 2.70, -7.30              |  |  |  |  |
|        | Cover            | 80/216                   | 96                 | 98.5            | 25            | .0085           |                  | 234 | 216                    | 95.90, 2.70, -7.30              |  |  |  |  |

| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|--------------------|
| Gloss  | Text             | 80/118                   | 96                 | 95.0            | 72            | .0037           |                  | 540 | 94                     | 95.90, 2.70, -7.30 |
|        |                  | 100/148                  | 96                 | 96.5            | 72            | .0045           |                  | 444 | 114                    | 95.90, 2.70, -7.30 |
|        | Cover            | 80/216                   | 96                 | 98.5            | 72            | .0069           |                  | 290 | 175                    | 95.90, 2.70, -7.30 |
|        |                  | 100/270                  | 96                 | 99.0            | 72            | .0090           |                  | 222 | 229                    | 95.90, 2.70, -7.30 |
|        |                  | 120/325                  | 96                 | 99.0            | 72            | .0110           |                  | 182 | 279                    | 95.90, 2.70, -7.30 |
| Silk   | Text             | 80/118                   | 96                 | 95.0            | 43            | .0041           |                  | 488 | 104                    | 95.90, 2.70, -7.30 |
|        |                  | 100/148                  | 96                 | 96.5            | 43            | .0050           |                  | 404 | 127                    | 95.90, 2.70, -7.30 |
|        | Cover            | 80/216                   | 96                 | 98.5            | 43            | .0076           |                  | 262 | 193                    | 95.90, 2.70, -7.30 |
|        |                  | 100/270                  | 96                 | 99.0            | 43            | .0098           |                  | 204 | 249                    | 95.90, 2.70, -7.30 |
|        |                  | 120/325                  | 96                 | 99.0            | 43            | .0120           |                  | 166 | 305                    | 95.90, 2.70, -7.30 |

McCov—Digital and McCov—Digital for HP Indigo

up-to-date product specifications and available certifications.

Effective

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
All values listed are approximate and subject to change. Please visit sappi.com for the most

| Spec              | Spectro C1S            |                       |                          |     |       |            |            |  |  |  |  |  |  |  |
|-------------------|------------------------|-----------------------|--------------------------|-----|-------|------------|------------|--|--|--|--|--|--|--|
| CALIPER<br>(mils) | THICKNESS<br>(microns) | TAG WEIGHT<br>24"×36" | COVER WEIGHT<br>20"× 26" | GSM | GLOSS | SMOOTHNESS | BRIGHTNESS | L*a*b* PAPER WHITE   |  |  |  |  |  |  |
| 8                 | 203                    | 109                   | 66                       | 177 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 10                | 254                    | 120                   | 72                       | 195 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 12                | 305                    | 141                   | 85                       | 230 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 14                | 356                    | 158                   | 95                       | 257 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 16                | 407                    | 177                   | 106                      | 288 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 18                | 457                    | 193                   | 116                      | 314 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 20                | 508                    | 206                   | 124                      | 335 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |
| 24                | 610                    | 243                   | 146                      | 396 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |  |

| Spec              | Spectro C1S—Digital and Digital for HP Indigo |                       |                       |     |       |            |            |  |  |  |  |  |  |
|-------------------|---|-----------------------|-----------------------|-----|-------|------------|------------|--|--|--|--|--|--|
| CALIPER<br>(mils) | THICKNESS<br>(microns)                        | TAG WEIGHT<br>24"×36" | COVER WEIGHT 20"× 26" | GSM | GLOSS | SMOOTHNESS | BRIGHTNESS | L*a*b* PAPER WHITE   |  |  |  |  |  |
| 10                | 254   | 120                   | 72                    | 195 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |
| 12                | 305   | 141                   | 85                    | 230 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |
| 14                | 356   | 158                   | 95                    | 257 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |
| 16                | 407   | 177                   | 106                   | 288 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |

| Spec              | tro C2S                |                       |                          |     |       |            |            |  |
|-------------------|------------------------|-----------------------|--------------------------|-----|-------|------------|------------|--|
| CALIPER<br>(mils) | THICKNESS<br>(microns) | TAG WEIGHT<br>24"×36" | COVER WEIGHT<br>20"× 26" | GSM | GLOSS | SMOOTHNESS | BRIGHTNESS | L*a*b* PAPER WHITE                       |
| 8                 | 203                    | 124                   | 75                       | 202 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38 |
| 10                | 254                    | 145                   | 87                       | 236 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38 |
| 12                | 305                    | 171                   | 103                      | 278 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38 |
| 14                | 356                    | 196                   | 119                      | 319 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38 |
| 16                | 407                    | 217                   | 132                      | 353 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38 |

| Spec              | Spectro C2S—Digital and Digital for HP Indigo |                       |                       |     |       |            |            |  |  |  |  |  |  |
|-------------------|---|-----------------------|-----------------------|-----|-------|------------|------------|--|--|--|--|--|--|
| CALIPER<br>(mils) | THICKNESS<br>(microns)                        | TAG WEIGHT<br>24"×36" | COVER WEIGHT 20"× 26" | GSM | GLOSS | SMOOTHNESS | BRIGHTNESS | L*a*b* PAPER WHITE   |  |  |  |  |  |
| 10                | 254   | 145                   | 87                    | 236 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38                           |  |  |  |  |  |
| 12                | 305   | 171                   | 103                   | 278 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30<br>95.60, 1.06, -3.38                           |  |  |  |  |  |
| 14                | 356   | 196                   | 119                   | 319 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |
| 16                | 407   | 217                   | 132                   | 353 | 50    | 1.0        | 92         | 95.00, 0.70, -6.30 <sup>1</sup><br>95.60, 1.06, -3.38 <sup>2</sup> |  |  |  |  |  |

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> CIE L\*a\*b\* values are approximate and stated with UV included, according to ISO 5631-2:2015 guidelines. The color measurement methodology incorporates CIE standard illuminant D65 (simulated), 10° Standard Observer, and d/0° illumination/measurement geometry. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons—not as product specifications.

<sup>2</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons - not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>1</sup> CIE L\*a\*b\* values are approximate and stated with UV included, according to ISO 5631-2:2015 guidelines. The color measurement methodology incorporates CIE standard illuminant D65 (simulated), 10° Standard Observer, and d/0° illumination/measurement geometry. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons—not as product specifications.

<sup>2</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons – not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

| Opus   | -Shee            | ts                       |                    |                 |               |                 |                      |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|----------------------|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Gloss  | Text             | 70/104                   | 94                 | 92.5            | 72            | .0031           | 638                  | 79                     | 96.20, 1.45, -4.85   |
|        |                  | 80/118                   | 94                 | 93.5            | 72            | .0035           | 570                  | 89                     | 96.20, 1.45, -4.85   |
|        |                  | 100/148                  | 94                 | 96.0            | 72            | .0044           | 454                  | 112                    | 96.20, 1.45, -4.85   |
|        | Cover            | 65/176                   | 94                 | 97.0            | 72            | .0056           | 356                  | 142                    | 96.20, 1.45, -4.85   |
|        |                  | 80/216                   | 94                 | 98.0            | 72            | .0068           | 294                  | 173                    | 96.20, 1.45, -4.85   |
|        |                  | 100/270                  | 94                 | 99.0            | 72            | .0090           | 222                  | 229                    | 96.20, 1.45, -4.85   |
|        |                  | 120/325                  | 94                 | 99.0            | 72            | .0111           | 180                  | 282                    | 96.20, 1.45, -4.85   |
|        |                  | 130/352                  | 94                 | 99.0            | 72            | .0121           | 164                  | 307                    | 96.20, 1.45, -4.85   |
| Dull   | Text             | 70/104                   | 94                 | 92.5            | 47            | .0033           | 602                  | 84                     | 96.20, 1.45, -4.85   |
|        |                  | 80/118                   | 94                 | 94.0            | 47            | .0037           | 540                  | 94                     | 96.20, 1.45, -4.85   |
|        |                  | 100/148                  | 94                 | 96.0            | 47            | .0047           | 426                  | 119                    | 96.20, 1.45, -4.85   |
|        | Cover            | 65/176                   | 94                 | 97.5            | 47            | .0061           | 330                  | 155                    | 96.20, 1.45, -4.85   |
|        |                  | 80/216                   | 94                 | 98.0            | 47            | .0076           | 262                  | 193                    | 96.20, 1.45, -4.85   |
|        |                  | 100/270                  | 94                 | 99.0            | 47            | .0100           | 200                  | 254                    | 96.20, 1.45, -4.85   |
|        |                  | 120/325                  | 94                 | 99.0            | 47            | .0120           | 166                  | 305                    | 96.20, 1.45, -4.85   |
|        |                  | 130/352                  | 94                 | 99.0            | 47            | .0134           | 148                  | 340                    | 96.20, 1.45, -4.85   |
| Matte  | Text             | 60/89                    | 94                 | 91.5            | 22            | .0032           | 626                  | 81                     | 96.20, 1.45, -4.85   |
|        |                  | 70/104                   | 94                 | 93.5            | 22            | .0038           | 526                  | 97                     | 96.20, 1.45, -4.85   |
|        |                  | 80/118                   | 94                 | 94.5            | 36            | .0041           | 488                  | 104                    | 96.20, 1.45, -4.85   |
|        |                  | 100/148                  | 94                 | 97.0            | 36            | .0053           | 376                  | 135                    | 96.20, 1.45, -4.85   |
|        | Cover            | 65/176                   | 94                 | 97.5            | 36            | .0072           | 7pt² 278             | 183                    | 96.20, 1.45, -4.85   |

| 1 | CIE L*a*b* values are approximate and in conformance with ISO 13655:2017. Data are specified      |
|---|---|
|   | according to the measurement condition M0, measured using an X-Rite eXact, configured to D50,     |
|   | 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary       |
|   | significantly when measured with different instruments. Average CIE L*a*b* data are presented for |
|   | relative paper shade comparisons - not as product specifications. Paper white values specified    |
|   | according to the measurement condition M1 are available upon request.                             |

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

| Opus   | -Web             |                          |                    |                 |               |                 |                      |                        |                                 |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|----------------------|------------------------|---------------------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE <sup>1</sup> |
| Gloss  | Text             | 60/89                    | 92                 | 92.0            | 72            | .0029           | 688                  | 74                     | 95.80, 1.45, -4.00              |
|        |                  | 70/104                   | 92                 | 93.0            | 72            | .0035           | 578                  | 89                     | 95.80, 1.45, -4.00              |
|        |                  | 80/118                   | 92                 | 94.0            | 72            | .0039           | 512                  | 99                     | 95.80, 1.45, -4.00              |
|        |                  | 100/148                  | 92                 | 96.5            | 72            | .0050           | 402                  | 126                    | 95.80, 1.45, -4.00              |
|        | Cover            | 65/176                   | 92                 | 97.0            | 72            | .0056           | 356                  | 142                    | 95.80, 1.45, -4.00              |
|        |                  | 80/216                   | 92                 | 98.0            | 72            | .0072           | 278                  | 183                    | 95.80, 1.45, -4.00              |
| Dull   | Text             | 60/89                    | 92                 | 93.0            | 43            | .0030           | 658                  | 76                     | 95.80, 1.45, -4.00              |
|        |                  | 70/104                   | 92                 | 93.5            | 43            | .0036           | 562                  | 91                     | 95.80, 1.45, -4.00              |
|        |                  | 80/118                   | 92                 | 95.0            | 43            | .0042           | 482                  | 107                    | 95.80, 1.45, -4.00              |
|        |                  | 100/148                  | 92                 | 96.5            | 47            | .0048           | 416                  | 122                    | 95.80, 1.45, -4.00              |
|        | Cover            | 65/176                   | 92                 | 97.5            | 47            | .0061           | 328                  | 155                    | 95.80, 1.45, -4.00              |
|        |                  | 80/216                   | 92                 | 98.0            | 47            | .0079           | 252                  | 201                    | 95.80, 1.45, -4.00              |
| Satin  | Text             | 60/89                    | 92                 | 93.0            | 40            | .0030           | 658                  | 76                     | 95.80, 1.45, -4.00              |
|        |                  | 70/104                   | 92                 | 94.0            | 40            | .0036           | 562                  | 91                     | 95.80, 1.45, -4.00              |
|        |                  | 80/118                   | 92                 | 95.0            | 40            | .0042           | 482                  | 107                    | 95.80, 1.45, -4.00              |
|        |                  | 100/148                  | 92                 | 96.5            | 40            | .0048           | 416                  | 122                    | 95.80, 1.45, -4.00              |
|        | Cover            | 65/176                   | 92                 | 97.5            | 40            | .0061           | 328                  | 155                    | 95.80, 1.45, -4.00              |
|        |                  | 80/216                   | 92                 | 98.0            | 40            | .0079           | 252                  | 201                    | 95.80, 1.45, -4.00              |
| Matte  | Text             | 60/89                    | 92                 | 91.5            | 22            | .0032           | 626                  | 81                     | 95.80, 1.45, -4.00              |
|        |                  | 70/104                   | 92                 | 93.5            | 22            | .0038           | 526                  | 97                     | 95.80, 1.45, -4.00              |
|        |                  | 80/118                   | 92                 | 95.0            | 36            | .0041           | 488                  | 104                    | 95.80, 1.45, -4.00              |
|        |                  | 100/148                  | 92                 | 97.0            | 36            | .0053           | 376                  | 135                    | 95.80, 1.45, -4.00              |
|        | Cover            | 65/176                   | 92                 | 97.5            | 36            | .0072           | 7pt² 278             | 183                    | 95.80, 1.45, -4.00              |

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

| Opus   | Opus PS—Sheets   |                          |                    |                 |               |                 |                  |     |                        |                      |  |  |  |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|--|--|--|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |  |  |  |
| Gloss  | Cover            | 70/190                   | 94                 | 98.0            | 65            | .0071           | 7pt²             | 282 | 180                    | 96.20, 1.45, -4.85   |  |  |  |
|        |                  | 87/235                   | 94                 | 98.0            | 65            | .0092           | 9pt³             | 218 | 234                    | 96.20, 1.45, -4.85   |  |  |  |
| Matte  | Text             | 105/155 <sup>4</sup>     | 94                 | 97.5            | 15            | .0072           | 7pt²             | 278 | 183                    | 96.20, 1.45, -4.85   |  |  |  |
|        | Cover            | 80/216                   | 94                 | 98.5            | 36            | .0093           | 9pt³             | 214 | 236                    | 96.20, 1.45, -4.85   |  |  |  |

| Opus   | PS-W             | /eb                      |                    |                 |               |                 |                  |     |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Gloss  | Cover            | 70/190                   | 92                 | 98.0            | 65            | .0071           | 7pt²             | 282 | 180                    | 95.80, 1.45, -4.00   |
|        |                  | 78/210                   | 92                 | 98.0            | 65            | .0080           |                  | 250 | 203                    | 95.80, 1.45, -4.00   |
|        |                  | 87/235                   | 92                 | 98.0            | 65            | .0092           | 9pt³             | 218 | 229                    | 95.80, 1.45, -4.00   |
| Dull   | Cover            | 70/190                   | 92                 | 98.0            | 43            | .0071           | 7pt²             | 282 | 180                    | 95.80, 1.45, -4.00   |
|        |                  | 78/210                   | 92                 | 98.0            | 43            | .0080           |                  | 250 | 203                    | 95.80, 1.45, -4.00   |
|        |                  | 87/235                   | 92                 | 98.0            | 43            | .0092           | 9pt³             | 218 | 229                    | 95.80, 1.45, -4.00   |
| Matte  | Text             | 105/155 <sup>4</sup>     | 92                 | 97.5            | 15            | .0072           | 7pt²             | 278 | 183                    | 95.80, 1.45, -4.00   |
|        | Cover            | 80/216                   | 92                 | 98.5            | 36            | .0093           | 9pt³             | 214 | 236                    | 95.80, 1.45, -4.00   |

| 1 | CIE L*a*b* values are approximate and in conformance with ISO 13655:2017. Data are specified      |
|---|---|
|   | according to the measurement condition M0, measured using an X-Rite eXact, configured to D50,     |
|   | 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary       |
|   | significantly when measured with different instruments. Average CIE L*a*b* data are presented for |
|   | relative paper shade comparisons—not as product specifications. Paper white values specified      |
|   | according to the measurement condition M1 are available upon request.                             |

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

| Opus   | -Digit           | al and Opu               | s—Digital          | for HP          | Indig         | 0               |                  |     |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Gloss  | Text             | 80/118                   | 94                 | 93.5            | 72            | .0035           |                  | 570 | 89                     | 96.20, 1.45, -4.85   |
|        |                  | 100/148                  | 94                 | 96.0            | 72            | .0044           |                  | 454 | 112                    | 96.20, 1.45, -4.85   |
|        | Cover            | 80/216                   | 94                 | 98.0            | 72            | .0068           |                  | 294 | 173                    | 96.20, 1.45, -4.85   |
|        |                  | 100/270                  | 94                 | 99.0            | 72            | .0090           |                  | 222 | 229                    | 96.20, 1.45, -4.85   |
|        |                  | 120/325                  | 94                 | 99.0            | 72            | .0111           |                  | 180 | 282                    | 96.20, 1.45, -4.85   |
| Dull   | Text             | 80/118                   | 94                 | 94.0            | 47            | .0037           |                  | 540 | 94                     | 96.20, 1.45, -4.85   |
|        |                  | 100/148                  | 94                 | 96.0            | 47            | .0047           |                  | 426 | 119                    | 96.20, 1.45, -4.85   |
|        | Cover            | 80/216                   | 94                 | 98.0            | 47            | .0076           |                  | 262 | 193                    | 96.20, 1.45, -4.85   |
|        |                  | 100/270                  | 94                 | 99.0            | 47            | .0100           |                  | 200 | 254                    | 96.20, 1.45, -4.85   |
|        |                  |                          |                    |                 |               |                 |                  |     |                        |                      |

94 99.0 47 .0120

305 96.20, 1.45, -4.85

120/325

Effective

<sup>3</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.

<sup>4</sup> Matte Reply Card.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

| Som    | erset-\          | Web                      |                    |                 |               |                 |                     |                          |                    |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|---------------------|--------------------------|--------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER PP | THICKNESS<br>I (microns) | L*a*b* PAPER WHITE |
| Gloss  | Text             | 45/67                    | 88                 | 89.5            | 70            | .0022           | 906                 | 56                       | 95.00, 1.00, -2.10 |
|        |                  | 50/74                    | 88                 | 90.5            | 70            | .0024           | 820                 | 61                       | 95.00, 1.00, -2.10 |
|        |                  | 55/81                    | 88                 | 91.5            | 70            | .0026           | 758                 | 66                       | 95.00, 1.00, -2.10 |
|        |                  | 60/89                    | 88                 | 92.0            | 70            | .0029           | 690                 | 74                       | 95.00, 1.00, -2.10 |
|        |                  | 70/104                   | 88                 | 93.0            | 70            | .0034           | 590                 | 86                       | 95.00, 1.00, -2.10 |
|        |                  | 80/118                   | 88                 | 94.0            | 70            | .0040           | 504                 | 102                      | 95.00, 1.00, -2.10 |
|        |                  | 100/148                  | 88                 | 96.0            | 70            | .0052           | 382                 | 132                      | 95.00, 1.00, -2.10 |
|        | Cover            | 68/185                   | 88                 | 98.0            | 65            | .0072           | 7pt² 278            | 183                      | 95.00, 1.00, -2.10 |
|        |                  | 80/216                   | 88                 | 98.0            | 70            | .0073           | 7pt² 276            | 185                      | 95.00, 1.00, -2.10 |
|        |                  | 82/222                   | 88                 | 98.0            | 65            | .0092           | 9pt³ 218            | 234                      | 95.00, 1.00, -2.10 |
| Satin  | Text             | 45/67                    | 88                 | 89.5            | 28            | .0025           | 806                 | 64                       | 95.00, 1.00, -2.10 |
|        |                  | 50/74                    | 88                 | 90.5            | 28            | .0027           | 730                 | 69                       | 95.00, 1.00, -2.10 |
|        |                  | 60/89                    | 88                 | 93.0            | 30            | .0031           | 656                 | 79                       | 95.00, 1.00, -2.10 |
|        |                  | 70/104                   | 88                 | 94.0            | 30            | .0036           | 558                 | 91                       | 95.00, 1.00, -2.10 |
|        |                  | 80/118                   | 88                 | 95.0            | 30            | .0042           | 478                 | 107                      | 95.00, 1.00, -2.10 |
|        |                  | 100/148                  | 88                 | 96.0            | 30            | .0054           | 368                 | 137                      | 95.00, 1.00, -2.10 |
|        | Cover            | 80/216                   | 88                 | 97.5            | 43            | .0075           | 7pt² 268            | 191                      | 95.00, 1.00, -2.10 |

| 1 | CIE L*a*b* values are approximate and in conformance with ISO 13655:2017. Data are specified      |
|---|---|
|   | according to the measurement condition M0, measured using an X-Rite eXact, configured to D50,     |
|   | 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary       |
|   | significantly when measured with different instruments. Average CIE L*a*b* data are presented for |
|   | relative paper shade comparisons - not as product specifications. Paper white values specified    |
|   | according to the measurement condition M1 are available upon request.                             |

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

| Some   | erset—\          | Web                      |                    |                 |               |                 |                  |     |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Matte  | Text             | 45/67²                   | 88                 | 91.0            | 18            | .0026           | -                | 766 | 66                     | 95.00, 1.00, -2.10   |
|        |                  | 50/74 <sup>2</sup>       | 88                 | 92.0            | 18            | .0029           | 7                | 700 | 74                     | 95.00, 1.00, -2.10   |
|        |                  | 60/89                    | 88                 | 93.0            | 22            | .0032           | (                | 320 | 81                     | 95.00, 1.00, -2.10   |
|        |                  | 70/104                   | 88                 | 94.0            | 22            | .0038           | Ę                | 526 | 97                     | 95.00, 1.00, -2.10   |
|        |                  | 80/118                   | 88                 | 95.0            | 22            | .0045           | 4                | 148 | 114                    | 95.00, 1.00, -2.10   |
|        |                  | 100/148                  | 88                 | 96.0            | 23            | .0058           | 3                | 346 | 147                    | 95.00, 1.00, -2.10   |
|        |                  | 105/155 <sup>3</sup>     | 88                 | 97.0            | 15            | .0071           | 7pt⁴ 2           | 282 | 180                    | 95.00, 1.00, -2.10   |
|        | Cover            | 65/176                   | 88                 | 98.5            | 25            | .0073           | 7pt⁴ :           | 274 | 185                    | 95.00, 1.00, -2.10   |
|        |                  | 80/216                   | 88                 | 98.5            | 25            | .0094           | 9pt⁵ <i>1</i>    | 214 | 239                    | 95.00, 1.00, -2.10   |

Effective

<sup>3</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>2</sup> Meets SIMRA/NASTA specifications.

<sup>3</sup> Matte Reply Card.

<sup>4</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

<sup>5</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

| Flo-   | Sheets           |                          |                    |                 |               |                 |                    |                        |                      |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|--------------------|------------------------|----------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER P | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
| Gloss  | Text             | 70/104                   | 90                 | 91.5            | 68            | .0031           | 63                 | 3 79                   | 95.80, 1.22, -3.25   |
|        |                  | 80/118                   | 90                 | 93.0            | 68            | .0035           | 57                 | 2 89                   | 95.80, 1.22, -3.25   |
|        |                  | 100/148                  | 90                 | 96.5            | 68            | .0043           | 46                 | 5 109                  | 95.80, 1.22, -3.25   |
|        | Cover            | 80/216                   | 90                 | 97.5            | 68            | .0072           | 7pt² 27            | 3 183                  | 95.80, 1.22, -3.25   |
|        |                  | 100/270                  | 90                 | 99.0            | 68            | .0093           | 9pt³ 21            | 1 236                  | 95.80, 1.22, -3.25   |
|        |                  | 120/325                  | 90                 | 99.0            | 68            | .0110           | 18                 | 2 279                  | 95.80, 1.22, -3.25   |
| Dull   | Text             | 70/104                   | 90                 | 92.0            | 47            | .0033           | 61                 | 2 84                   | 95.80, 1.22, -3.25   |
|        |                  | 80/118                   | 90                 | 94.0            | 47            | .0036           | 55                 | 91                     | 95.80, 1.22, -3.25   |
|        |                  | 100/148                  | 90                 | 96.5            | 47            | .0047           | 42                 | 5 119                  | 95.80, 1.22, -3.25   |
|        | Cover            | 80/216                   | 90                 | 97.5            | 47            | .0075           | 7pt² 26            | 3 191                  | 95.80, 1.22, -3.25   |
|        |                  | 100/270                  | 90                 | 99.0            | 47            | .0099           | 9pt³ 20            | 2 251                  | 95.80, 1.22, -3.25   |
|        |                  | 120/325                  | 90                 | 99.0            | 47            | .0121           | 16                 | 3 307                  | 95.80, 1.22, -3.25   |
| Matte  | Text             | 60/89                    | 90                 | 92.0            | 22            | .0032           | 62                 | 81                     | 95.80, 1.22, -3.25   |
|        |                  | 70/104                   | 90                 | 94.0            | 22            | .0038           | 52                 | 97                     | 95.80, 1.22, -3.25   |
|        |                  | 80/118                   | 90                 | 94.5            | 36            | .0041           | 48                 | 3 104                  | 95.80, 1.22, -3.25   |
|        |                  | 100/148                  | 90                 | 96.0            | 36            | .0052           | 38                 | 3 132                  | 95.80, 1.22, -3.25   |
|        |                  | 110/162                  | 90                 | 97.0            | 15            | .0073           | 7pt² 27            | 1 185                  | 95.80, 1.22, -3.25   |
|        | Cover            | 65/176                   | 90                 | 98.5            | 36            | .0072           | 7pt² 27            | 3 183                  | 95.80, 1.22, -3.25   |
|        |                  | 80/216                   | 90                 | 98.0            | 36            | .0092           | 9pt³ 21            | 3 234                  | 95.80, 1.22, -3.25   |
|        |                  | 100/270                  | 90                 | 99.0            | 36            | .0106           | 19                 | 269                    | 95.80, 1.22, -3.25   |

| 1 CIE L*a*b* values are approximate and in conformance with ISO 13655:2017. Data a  | re specified  |
|---|---------------|
| according to the measurement condition M0, measured using an X-Rite eXact, confi    | gured to D50, |
| 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values  | s may vary    |
| significantly when measured with different instruments. Average CIE L*a*b* data are | presented for |
| relative paper shade comparisons—not as product specifications. Paper white value   | es specified  |
| according to the measurement condition M1 are available upon request.               |               |

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

| Flo-   | Web              |                          |                    |                 |               |                 |                  |     |                        |                    |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|--------------------|
| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE |
| Gloss  | Text             | 40/59                    | 82                 | 88.0            | 55            | .0020           |                  | 996 | 51                     | 92.50, 0.82, -1.75 |
|        |                  | 45/67                    | 82                 | 89.5            | 60            | .0023           |                  | 882 | 58                     | 92.50, 0.82, -1.75 |
|        |                  | 50/74                    | 82                 | 90.0            | 60            | .0025           |                  | 792 | 64                     | 92.50, 0.82, -1.75 |
|        |                  | 60/89                    | 83                 | 92.0            | 60            | .0029           |                  | 680 | 74                     | 93.40, 0.93, -1.95 |
|        |                  | 70/104                   | 83                 | 93.0            | 60            | .0035           |                  | 572 | 89                     | 93.40, 0.93, -1.95 |
| Matte  | Text             | 40/59                    | 82                 | 90.0            | 29            | .0022           |                  | _3  | 56                     | 92.50, 0.82, -1.75 |
|        |                  | 45/67                    | 82                 | 91.5            | 23            | .0024           |                  | _3  | 61                     | 92.50, 0.82, -1.75 |
|        |                  |                          |                    |                 |               |                 |                  |     |                        |                    |

82 91.7 23 .0027

| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|--------------------|
| Gloss  | Text             | 80/118                   | 90                 | 93.0            | 68            | .0035           |                  | 572 | 89                     | 95.80, 1.22, -3.25 |
|        |                  | 100/148                  | 90                 | 96.5            | 68            | .0043           |                  | 466 | 109                    | 95.80, 1.22, -3.25 |
|        | Cover            | 80/216                   | 90                 | 97.5            | 68            | .0072           | 7pt⁴             | 278 | 183                    | 95.80, 1.22, -3.25 |
|        |                  | 100/270                  | 90                 | 99.0            | 68            | .0093           | 9pt⁵             | 214 | 236                    | 95.80, 1.22, -3.25 |
|        |                  | 120/325                  | 90                 | 99.0            | 68            | .0110           |                  | 182 | 279                    | 95.80, 1.22, -3.25 |
| Dull   | Text             | 80/118                   | 90                 | 94.0            | 47            | .0036           |                  | 556 | 91                     | 95.80, 1.22, -3.25 |
|        |                  | 100/148                  | 90                 | 96.5            | 47            | .0047           |                  | 426 | 119                    | 95.80, 1.22, -3.25 |
|        | Cover            | 80/216                   | 90                 | 97.5            | 47            | .0075           | 7pt⁴             | 268 | 191                    | 95.80, 1.22, -3.25 |
|        |                  | 100/270                  | 90                 | 99.0            | 47            | .0099           | 9pt⁵             | 202 | 251                    | 95.80, 1.22, -3.25 |
|        |                  | 120/325                  | 90                 | 99.0            | 47            | .0121           |                  | 168 | 307                    | 95.80, 1.22, -3.25 |

 $50/74^{2}$ 

69 92.50, 0.82, -1.75

Effective

<sup>3</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.

<sup>4</sup> Matte Reply Card.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>2</sup> Meets SIMRA/NASTA specifications.

<sup>3</sup> For PPI information, please contact your Sappi sales representative.

<sup>4</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

<sup>5</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

| FINISH | TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | BRIGHTNESS<br>STD. | OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | GUAR.<br>CALIPER | PPI | THICKNESS<br>(microns) | L*a*b* PAPER WHITE 1 |
|--------|------------------|--------------------------|--------------------|-----------------|---------------|-----------------|------------------|-----|------------------------|----------------------|
| Gloss  | Text             | 60/90                    | 91                 | 92.0            | 65            | .0028           |                  | 714 | 70                     | 95.00, 1.25, -5.80   |
|        |                  | 70/104                   | 91                 | 93.5            | 65            | .0032           |                  | 624 | 81                     | 95.00, 1.25, -5.80   |
|        |                  | 80/118                   | 92                 | 95.0            | 65            | .0037           |                  | 540 | 93                     | 95.00, 1.25, -5.80   |
|        |                  | 100/150                  | 92                 | 97.5            | 65            | .0048           |                  | 416 | 121                    | 95.00, 1.25, -5.80   |
|        | Cover            | 80/216                   | 92                 | 99.0            | 65            | .0074           | 7pt²             | 270 | 188                    | 95.00, 1.25, -5.80   |
|        |                  | 92/250                   | 92                 | 99.0            | 65            | .0093           | 9pt³             | 214 | 236                    | 95.00, 1.25, -5.80   |
|        |                  | 100/275                  | 92                 | 99.0            | 65            | .0100           | 9pt³             | 200 | 253                    | 95.00, 1.25, -5.80   |
|        |                  | 120/325                  | 92                 | 99.0            | 65            | .0123           |                  | 164 | 312                    | 95.00, 1.25, -5.80   |
|        |                  | 130/350                  | 92                 | 99.5            | 65            | .0135           |                  | 148 | 343                    | 95.00, 1.25, -5.80   |
| Silk   | Text             | 60/90                    | 92                 | 92.5            | 32            | .0033           |                  | 606 | 83                     | 95.00, 1.25, -5.80   |
|        |                  | 70/104                   | 92                 | 94.0            | 32            | .0038           |                  | 526 | 96                     | 95.00, 1.25, -5.80   |
|        |                  | 80/118                   | 92                 | 95.5            | 32            | .0043           |                  | 466 | 109                    | 95.00, 1.25, -5.80   |
|        |                  | 100/150                  | 92                 | 98.0            | 32            | .0054           |                  | 370 | 138                    | 95.00, 1.25, -5.80   |
|        | Cover            | 74/200                   | 92                 | 99.0            | 32            | .0074           | 7pt²             | 270 | 188                    | 95.00, 1.25, -5.80   |
|        |                  | 80/216                   | 92                 | 99.0            | 32            | .0093           | 9pt³             | 214 | 236                    | 95.00, 1.25, -5.80   |
|        |                  | 100/275                  | 92                 | 99.0            | 35            | .0105           | 9pt³             | 190 | 267                    | 95.00, 1.25, -5.80   |
|        |                  | 120/325                  | 92                 | 99.0            | 35            | .0132           |                  | 152 | 335                    | 95.00, 1.25, -5.80   |
|        |                  | 130/350                  | 92                 | 99.5            | 35            | .0145           |                  | 138 | 368                    | 95.00, 1.25, -5.80   |

| Galer  | ie Lite-W                   | /eb                      |                           |                          |                        |               |                 |      |                                 |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|------|---------------------------------|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI  | L*a*b* PAPER WHITE <sup>1</sup> |
| Gloss  | 23.6/35                     | 68                       | 68                        | 81                       | 88                     | 42            | .0014           | 1430 | 90.00, 0.90, 2.10               |
|        | 26.3/39                     | 70                       | 69                        | 83                       | 89                     | 46            | .0015           | 1334 | 90.00, 0.90, 2.10               |
|        | 28.4/42                     | 71                       | 70                        | 85                       | 90                     | 48            | .0016           | 1250 | 90.00, 0.90, 2.10               |
|        | 30.4/45                     | 71                       | 71                        | 87                       | 91                     | 50            | .0017           | 1176 | 90.00, 0.90, 2.10               |
|        | 32.4/48                     | 72                       | 72                        | 89                       | 92                     | 51            | .0018           | 1110 | 90.00, 0.90, 2.10               |
|        | 34.5/51                     | 72                       | 73                        | 90                       | 93                     | 55            | .0019           | 1054 | 90.00, 0.90, 2.10               |
|        | 36.5/54                     | 72                       | 73                        | 92                       | 94                     | 58            | .0020           | 1000 | 90.00, 0.90, 2.10               |

| Galer  | ie Lite Bul                 | lk-Web                   |                           |                          |                        |               |                 |     |                    |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|-----|--------------------|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI | L*a*b* PAPER WHITE |
| Matte  | 28.4/42                     | 72                       | 73                        | 88                       | 92                     | 15            | .0023           | 870 | 91.00, 0.90, 2.10  |
|        | 30.4/45                     | 73                       | 74                        | 89                       | 92                     | 15            | .0025           | 800 | 91.00, 0.90, 2.10  |
|        | 32.4/48                     | 74                       | 75                        | 91                       | 93                     | 15            | .0026           | 770 | 91.00, 0.90, 2.10  |
|        | 34.5/51                     | 74                       | 75                        | 92                       | 94                     | 15            | .0028           | 714 | 91.00, 0.90, 2.10  |
|        | 36.5/54                     | 74                       | 75                        | 93                       | 95                     | 15            | .0030           | 667 | 91.00, 0.90, 2.10  |

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>2</sup> Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.

<sup>3</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

| Galer  | Galerie Brite—Web           |                          |                           |                          |                        |               |                 |      |                                 |  |  |  |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|------|---------------------------------|--|--|--|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI  | L*a*b* PAPER WHITE <sup>1</sup> |  |  |  |
| Gloss  | 36.5/54                     | 79                       | 83                        | 90                       | 92                     | 46            | .0019           | 1050 | 92.00, 1.20, -1.20              |  |  |  |
|        | 38.5/57                     | 80                       | 85                        | 91                       | 92                     | 48            | .0020           | 1000 | 92.00, 1.20, -1.20              |  |  |  |
|        | 40.5/60                     | 81                       | 86                        | 91                       | 93                     | 51            | .0021           | 950  | 92.00, 1.20, -1.20              |  |  |  |
|        | 43.9/65                     | 81                       | 86                        | 92                       | 94                     | 55            | .0022           | 910  | 92.00, 1.20, -1.20              |  |  |  |
|        | 47.3/70                     | 82                       | 87                        | 93                       | 95                     | 56            | .0024           | 833  | 92.00, 1.20, -1.20              |  |  |  |
|        | 54.0/80                     | 82                       | 87                        | 94                       | 96                     | 57            | .0027           | 740  | 92.00, 1.20, -1.20              |  |  |  |

| Galer  | Galerie Brite Plus-Web      |                          |                           |                          |                        |               |                 |     |                                 |  |  |  |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|-----|---------------------------------|--|--|--|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI | L*a*b* PAPER WHITE <sup>1</sup> |  |  |  |
| Gloss  | 36.5/54                     | 80                       | 84                        | 91                       | 92                     | 48            | .0022           | 910 | 92.00, 1.20, -1.20              |  |  |  |
|        | 38.5/57                     | 81                       | 85                        | 91                       | 93                     | 48            | .0024           | 833 | 92.00, 1.20, -1.20              |  |  |  |
|        | 40.5/60                     | 81                       | 85                        | 92                       | 93                     | 48            | .0026           | 770 | 92.00, 1.20, -1.20              |  |  |  |
|        | 43.9/65                     | 81                       | 85                        | 93                       | 95                     | 50            | .0028           | 714 | 92.00, 1.20, -1.20              |  |  |  |
|        | 47.3/70                     | 81                       | 85                        | 94                       | 96                     | 50            | .0031           | 645 | 92.00, 1.20, -1.20              |  |  |  |

| Galer  | Galerie Bright Bulk—Web     |                          |                           |                          |                        |               |                 |     |                      |  |  |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|-----|----------------------|--|--|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI | L*a*b* PAPER WHITE 1 |  |  |
| Matte  | 40.5/60                     | 82                       | 86                        | 92                       | 94                     | 15            | .0028           | 714 | 93.40, 1.20, -1.70   |  |  |
|        | 38.5/57                     | 81                       | 85                        | 91                       | 93                     | 15            | .0027           | 740 | 93.40, 1.20, -1.70   |  |  |
|        | 43.9/65                     | 82                       | 87                        | 93                       | 94                     | 15            | .0031           | 645 | 93.40, 1.20, -1.70   |  |  |
|        | 47.3/70                     | 83                       | 88                        | 94                       | 95                     | 15            | .0033           | 606 | 93.40, 1.20, -1.70   |  |  |
|        | 54.0/80                     | 83                       | 88                        | 95                       | 96                     | 15            | .0038           | 525 | 93.40, 1.20, -1.70   |  |  |

| Galeri | Galerie Fine — Web          |                          |                           |                          |                        |               |                 |     |                      |  |  |  |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|-----|----------------------|--|--|--|
| FINISH | BASIS<br>WEIGHT<br>(Ib/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI | L*a*b* PAPER WHITE 1 |  |  |  |
| Gloss  | 43.9/65                     | 86                       | 92                        | 90                       | 91                     | 65            | .0022           | 910 | 94.10, 2.00, -3.00   |  |  |  |
|        | 47.3/70                     | 88                       | 93                        | 91                       | 93                     | 65            | .0023           | 870 | 94.10, 2.00, -3.00   |  |  |  |
|        | 50.7/75                     | 88                       | 93                        | 91                       | 94                     | 67            | .0024           | 834 | 94.10, 2.00, -3.00   |  |  |  |
|        | 54.0/80                     | 89                       | 94                        | 92                       | 94                     | 67            | .0026           | 770 | 94.10, 2.00, -3.00   |  |  |  |
|        | 60.8/90                     | 90                       | 95                        | 93                       | 95                     | 68            | .0028           | 714 | 94.10, 2.00, -3.00   |  |  |  |
| Silk   | 43.9/65                     | 87                       | 92                        | 90                       | 93                     | 35            | .0024           | 834 | 94.00, 2.00, -3.00   |  |  |  |
|        | 47.3/70                     | 88                       | 93                        | 91                       | 94                     | 35            | .0026           | 770 | 94.00, 2.00, -3.00   |  |  |  |
|        | 50.7/75                     | 88                       | 93                        | 91                       | 94.5                   | 35            | .0027           | 740 | 94.00, 2.00, -3.00   |  |  |  |
|        | 54.0/80                     | 89                       | 94                        | 92                       | 95                     | 35            | .0029           | 690 | 94.00, 2.00, -3.00   |  |  |  |
|        | 60.8/90                     | 90                       | 95                        | 93                       | 95                     | 40            | .0032           | 624 | 94.00, 2.00, -3.00   |  |  |  |

| Galeri | Galerie Fine Bulk – Web     |                          |                           |                          |                        |               |                 |     |                    |  |  |  |
|--------|-----------------------------|--------------------------|---------------------------|--------------------------|------------------------|---------------|-----------------|-----|--------------------|--|--|--|
| FINISH | BASIS<br>WEIGHT<br>(lb/GSM) | GE<br>BRIGHTNESS<br>STD. | ISO<br>BRIGHTNESS<br>STD. | TAPPI<br>OPACITY<br>STD. | ISO<br>OPACITY<br>STD. | GLOSS<br>STD. | CALIPER<br>AVG. | PPI | L*a*b* PAPER WHITE |  |  |  |
| Matte  | 43.9/65                     | 88                       | 92                        | 90                       | 93                     | 25            | .0027           | 740 | 94.30, 1.90, -3.20 |  |  |  |
|        | 47.3/70                     | 89                       | 93                        | 91                       | 94                     | 30            | .0028           | 714 | 94.30, 1.90, -3.20 |  |  |  |
|        | 54.0/80                     | 90                       | 94                        | 92                       | 95                     | 30            | .0031           | 645 | 94.30, 1.90, -3.20 |  |  |  |

Effective

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

<sup>1</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

# **Stocking Information**

# We've created our fine line of coated paper products to meet the needs of any communications objective.

Product information can be found on the following pages:

19 McCoy

When experience is everything

39 Spectro

When surface and performance make the perfect match

55 Opus

When more choice means fewer decisions

89 Somerset

When strong and stunning wins the race

105 Flo

When excellence meets cost-effectiveness

125 EuroArt Plus

When you need a dream on the surface and dependability on press



Visit *sappi.com* for the most up-to-date product information and specifications.



# Authentic brilliance in a world of imitation.

Like their customers, high-end brands expect a legacy

of craftsmanship. Clear distinction is required. Compromise does not exist. Only meticulous quality will suffice—so only McCoy® will satisfy. It's the only premium coated paper on the market, meeting the detail-obsessed needs of high-end, luxury brands. Our paper is made with superior ingredients, including our own custom coating, to ensure best-in-class brightness and image integrity—crossing the threshold from ordinary to outstanding.

#### Luxury paper—realized

McCoy's supreme surface enables fully saturated films of ink to maintain superb detail, from shadow to highlight. Its unrivaled luminosity can expand the range of print and create bold contrast—allowing rich, vivid images to pop off the page. Offering a one-of-a-kind finish, McCoy creates an experience that lasts.

#### Perfection from its genesis

McCoy is rooted in our heritage of excellence, from the meticulous selection of wood types and fiber mix to the manufacturing of our own proprietary coating. It's this unyielding attention to detail that seals in McCoy's sophistication.

# Uncompromising variability tolerance

We adhere to tight tolerances for variability to ensure that McCoy provides a consistent, stunning blue-white printing surface. So when you choose McCoy, your brand is printed on the highest-quality paper that exceeds the most demanding industry standards.

#### Stocked basis weights

| Sheets           |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | SILK | MATTE |
| Text             | 80/118                   |                  | •     | •    | •     |
|                  | 100/148                  |                  | •     | •    | •     |
| Cover            | 80/216                   |                  | •     | •    | •     |
|                  | 100/270                  |                  | •     | •    | •     |
|                  | 120/325                  |                  | •     | •    |       |
|                  | 130/352                  |                  |       | •    |       |

| Gift Card        |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | SILK | MATTE |
| Cover            | 288/780                  |                  |       | •    |       |

| Web              |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | SILK | MATTE |
| Text             | 80/118                   |                  |       | •    |       |
|                  | 100/148                  |                  |       | •    |       |

| Digital          | Digital and Digital for HP Indigo |                  |                |                |       |  |  |  |  |  |  |
|------------------|-----------------------------------|------------------|----------------|----------------|-------|--|--|--|--|--|--|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm)          | GUAR.<br>CALIPER | GLOSS          | SILK           | MATTE |  |  |  |  |  |  |
| Text             | 80/118                            |                  | •              | •              |       |  |  |  |  |  |  |
|                  | 100/148                           |                  | •              | •              |       |  |  |  |  |  |  |
| Cover            | 65/176                            |                  |                | • <sup>1</sup> |       |  |  |  |  |  |  |
|                  | 80/216                            |                  | •              | •              |       |  |  |  |  |  |  |
|                  | 100/270                           |                  | •              | •              |       |  |  |  |  |  |  |
|                  | 120/325                           |                  | • <sup>1</sup> | • 1            |       |  |  |  |  |  |  |

#### **Specifications**

FINISHE

Gloss, Silk, Matte

PUT UP

Cartons, Skids, Reams, Rolls

SHAD

Ultra bright blue white

L\*a\*b PAPER WHITE<sup>2</sup>

95.90, 2.70, -7.30

RECYCLED FIBER CONTENT SHEETS

10%

RECYCLED FIBER CONTENT WEB

10%

RECYCLED FIBER CONTENT DIGITAL

10%

CERTIFICATIONS

SFI Certified Sourcing FSC CoC certified<sup>3</sup>

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy Digital for HP Indigo only.
- 2 CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
- 3 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Gloss Text**

#### 80lb/118gsm

Brightness – 96 Opacity – 95 Paper Gloss – 72 Caliper – .0037 PPI – 540

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                    |                    |                    |
|---------|--------|--------|----------|--------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 23 × 35 | K5029  | Carton | 136      | 1100               | 16                 | 17600              |
| 25 × 38 | K5074  | Carton | 160      | 1000               | 16                 | 16000              |
|         | K55040 | Skid   | 160      |                    |                    | 10000              |
| 28 × 40 | K5081  | Carton | 188      | 800                | 16                 | 12800              |

Brightness – 96 Opacity – 95 Paper Gloss – 72 Caliper – .0037 PPI – 540

\$10% recycled fiber<sup>1</sup>
SFI Certified Sourcing
FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18 | K11925 | Carton | 36       | 1500              | 40                 | 60000             |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Gloss Text**

#### 100lb/148gsm

Brightness—96 Opacity—96.5 Paper Gloss—72 Caliper—.0045 PPI—444

PPI-444
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K5264  | Carton | 100      | 1600              | 16                  | 25600             |
| 23 × 35 | K5266  | Carton | 169      | 900               | 16                  | 14400             |
|         | K54722 | Skid   | 169      |                   |                     | 8000              |
| 25 × 38 | K5271  | Carton | 200      | 800               | 16                  | 12800             |
|         | K54715 | Skid   | 200      |                   |                     | 8000              |
| 28 × 40 | K5319  | Carton | 236      | 600               | 16                  | 9600              |
|         | K54717 | Skid   | 236      |                   |                     | 8000              |

Brightness—96 Opacity—96.5 Paper Gloss—72 Caliper—.0045 PPI—444

Caliper − .0045
PPI − 444

\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 12 × 18 | K11926 | Carton | 45       | 1200              | 40                 | 48000              |

Brightness−96 Opacity−96.5 Paper Gloss−72 Caliper−.0045 PPI−444 ♣10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital for H | P Indigo |        |          |                   |                    |          |
|---------------|----------|--------|----------|-------------------|--------------------|----------|
| SIZE          | CODE     | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS / |
| 12 × 18       | K11882   | Carton | 45       | 1200              | 40                 | 48000    |
| 13 × 19       | K11744   | Carton | 52       | 1000              | 36                 | 36000    |
| 29½ × 20⅓ 16  | K13064   | Carton | 129      | 800               | 20                 | 16000    |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Gloss Cover**

#### 80lb/216gsm

Brightness – 96 Opacity – 98.5 Paper Gloss – 72 Caliper – .0069 PPI – 290

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified²

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K3653  | Carton | 146      | 1100              | 16                 | 17600             |
| 20×26   | K3654  | Carton | 160      | 1000              | 16                 | 16000             |
| 23 × 35 | K3655  | Carton | 248      | 625               | 16                 | 10000             |
| 25 × 38 | K3659  | Carton | 292      | 500               | 16                 | 8000              |
|         | K53660 | Skid   | 292      |                   |                    | 5500              |
| 26 × 40 | K3661  | Carton | 320      | 500               | 16                 | 8000              |
|         | K53663 | Skid   | 320      |                   |                    | 5500              |
| 28 × 40 | K3668  | Carton | 344      | 400               | 16                 | 6400              |
|         | K53671 | Skid   | 344      |                   |                    | 5500              |

Brightness—96
Opacity—98.5
Paper Gloss—72
Caliper—.0069
PPI—290
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital |        |        |          |                    |                     |                    |
|---------|--------|--------|----------|--------------------|---------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |
| 18 × 12 | K11927 | Carton | 66       | 750                | 40                  | 30000              |

Brightness −96 Opacity −98.5 Paper Gloss −72 Caliper −.0069 PPI−290 \$10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified²

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |  |
|---|--------|--------|----------|-------------------|--------------------|--------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |  |
| 18 × 12   | K11883 | Carton | 66       | 750               | 40                 | 30000              |  |  |
| 19 × 13   | K11745 | Carton | 76       | 750               | 36                 | 27000              |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13065 | Carton | 189      | 500               | 20                 | 10000              |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Gloss Cover**

#### 100lb/270gsm

Brightness – 96 Opacity – 99 Paper Gloss – 72 Caliper – .0090 PPI – 222

| . apo. a.ooo                   |
|--------------------------------|
| Caliper0090                    |
| PPI-222                        |
| ☼10% recycled fiber            |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K3677  | Carton | 183      | 875               | 16                 | 14000             |
| 20×26   | K3678  | Carton | 200      | 750               | 16                 | 12000             |
| 23 × 35 | K3679  | Carton | 310      | 500               | 16                 | 8000              |
|         | K53680 | Skid   | 310      |                   |                    | 4000              |
| 25 × 38 | K3682  | Carton | 366      | 375               | 16                 | 6000              |
|         | K53683 | Skid   | 366      |                   |                    | 4000              |
| 26 × 40 | K3684  | Carton | 400      | 375               | 16                 | 6000              |
| 28 × 40 | K3685  | Carton | 430      | 375               | 16                 | 6000              |

Brightness −96 Opacity −99 Paper Gloss −72 Caliper −.0090 PPI −222

PPI-222
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12 | K11928 | Carton | 83       | 600               | 40                 | 24000             |

Brightness—96 Opacity—99 Paper Gloss—72 Caliper—.0090 PPI—222 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                     |                    |  |  |
|---|--------|--------|----------|-------------------|---------------------|--------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |  |  |
| 18 × 12   | K11884 | Carton | 83       | 600               | 40                  | 24000              |  |  |
| 19 × 13   | K11746 | Carton | 95       | 600               | 36                  | 21600              |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13066 | Carton | 236      | 400               | 20                  | 8000               |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Gloss Cover**

#### 120lb/325gsm

Brightness-96 Opacity-99 Paper Gloss-72 Caliper -. 0110 PPI-182

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20×26   | K3687  | Carton | 240      | 625               | 16                 | 10000             |
| 23 × 35 | K3688  | Carton | 372      | 400               | 16                 | 6400              |
|         | K12884 | Skid   | 372      |                   |                    | 3000              |
| 25 × 38 | K3689  | Carton | 438      | 375               | 16                 | 6000              |
|         | K12885 | Skid   | 438      |                   |                    | 3000              |
| 26 × 40 | K3690  | Carton | 480      | 300               | 16                 | 4800              |
|         | K12886 | Skid   | 480      |                   |                    | 3000              |
| 28 × 40 | K3691  | Carton | 516      | 300               | 16                 | 4800              |
|         | K10977 | Skid   | 516      |                   |                    | 3000              |

Brightness-96 Opacity-99 Paper Gloss-72 Caliper -. 0110 PPI-182 ♠10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K11855 | Carton | 100      | 500               | 40                 | 20000             |  |  |
| 19 × 13   | K11856 | Carton | 114      | 500               | 36                 | 18000             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13067 | Carton | 283      | 350               | 20                 | 7000              |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **McCoy Silk Text**

#### 80lb/118gsm

Brightness-96 Opacity-95 Paper Gloss-43 Caliper -. 0041 PPI-488

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                    |                    |                    |
|---------|--------|--------|----------|--------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 19×25   | K3751  | Carton | 80       | 2000               | 16                 | 32000              |
| 23 × 35 | K3754  | Carton | 136      | 1100               | 16                 | 17600              |
| 24 × 36 | K3755  | Carton | 146      | 1000               | 16                 | 16000              |
|         | K10978 | Skid   | 146      |                    |                    | 10000              |
| 25 × 38 | K3757  | Carton | 160      | 1000               | 16                 | 16000              |
|         | K53758 | Skid   | 160      |                    |                    | 9500               |
| 28 × 40 | K3759  | Carton | 188      | 800                | 16                 | 12800              |
|         | K12590 | Skid   | 188      |                    |                    | 9500               |

Brightness-96 Opacity-95 Paper Gloss-43 Caliper -. 0041 PPI-488

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Web   |       |        |          |
|-------|-------|--------|----------|
| SIZE  | CODE  | PUT UP | DIAMETER |
| 351/2 | K4132 | Roll   | 40       |

Brightness-96 Opacity-95 Paper Gloss-43 Caliper - .0041 PPI-488 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17 | K11931 | Carton | 31       | 2000              | 32                 | 64000             |
| 12 × 18 | K11935 | Carton | 36       | 1500              | 40                 | 60000             |

Brightness-96 Opacity-95 Paper Gloss-43 Caliper - .0041 PPI-488 ♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |
|-------------------------|--------|--------|----------|-------------------|--------------------|--------------------|--|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |
| 12 × 18                 | K11877 | Carton | 36       | 1500              | 40                 | 60000              |  |
| 13 × 19                 | K11739 | Carton | 42       | 1500              | 36                 | 54000              |  |
| 29½ × 20⅓ <sub>16</sub> | K13240 | Carton | 103      | 1000              | 20                 | 20000              |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

# **McCoy Silk Text**

#### 100lb/148gsm

Brightness-96 Opacity-96.5 Paper Gloss-43 Caliper - .0050 PPI-404

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K3760  | Carton | 100      | 1600              | 16                 | 25600             |
|         | K12889 | Skid   | 100      |                   |                    | 14000             |
| 23 × 35 | K3761  | Carton | 169      | 900               | 16                 | 14400             |
|         | K53762 | Skid   | 169      |                   |                    | 7500              |
| 24 × 36 | K3763  | Carton | 182      | 800               | 16                 | 12800             |
|         | K10979 | Skid   | 182      |                   |                    | 8000              |
| 25 × 38 | K3764  | Carton | 200      | 800               | 16                 | 12800             |
|         | K53765 | Skid   | 200      |                   |                    | 7500              |
| 28 × 40 | K3766  | Carton | 236      | 600               | 16                 | 9600              |
|         | K53767 | Skid   | 236      |                   |                    | 7500              |

Brightness-96 Opacity-96.5 Paper Gloss-43 Caliper - .0053 PPI-376 ☼10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Web   |       |        |          |
|-------|-------|--------|----------|
| SIZE  | CODE  | PUT UP | DIAMETER |
| 351/2 | K4137 | Roll   | 40       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **McCoy Silk Text**

#### 100lb/148gsm

Brightness-96 Opacity-96.5 Paper Gloss-43 Caliper - .0050 PPI-404

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                    |                    |                    |
|---------|--------|--------|----------|--------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 12 × 18 | K11936 | Carton | 45       | 1200               | 40                 | 48000              |

Brightness-96 Opacity-96.5 Paper Gloss-43 Caliper - .0050 PPI-404 ☼10% recycled fiber¹

SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |
|-------------------------|--------|--------|----------|-------------------|--------------------|--------------------|--|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |
| 12 × 18                 | K11878 | Carton | 45       | 1200              | 40                 | 48000              |  |
| 13 × 19                 | K11740 | Carton | 52       | 1000              | 36                 | 36000              |  |
| 29½ × 20⅓ <sub>16</sub> | K13068 | Carton | 129      | 800               | 20                 | 16000              |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most

# **McCoy Silk Cover**

#### 65lb/176gsm

Brightness – 96 Opacity – 98.0 Paper Gloss – 43 Caliper – .0059 PPI – 338

| Digital for HP Indigo |        |        |          |                   |                    |                    |  |  |
|-----------------------|--------|--------|----------|-------------------|--------------------|--------------------|--|--|
| SIZE                  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |  |
| 13 × 19               | K12541 | Carton | 62       | 1000              | 36                 | 36000              |  |  |
|                       | K12554 | Skid   | 62       |                   |                    | 36000              |  |  |
| 19 × 13               | K13353 | Carton | 62       | 1000              | 36                 | 36000              |  |  |

# **McCoy Silk Cover**

#### 80lb/216gsm

Brightness – 96 Opacity – 98.5 Paper Gloss – 43 Caliper – .0076 PPI – 262

PPI-262 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K3770  | Carton | 146      | 1100              | 16                 | 17600             |
|         | K12893 | Skid   | 146      |                   |                    | 9000              |
| 20×26   | K3772  | Carton | 160      | 1000              | 16                 | 16000             |
| 23 × 35 | K3778  | Carton | 248      | 625               | 16                 | 10000             |
|         | K53779 | Skid   | 248      |                   |                    | 5000              |
| 25 × 38 | K3782  | Carton | 292      | 500               | 16                 | 8000              |
|         | K53785 | Skid   | 292      |                   |                    | 5000              |
| 26 × 40 | K3786  | Carton | 320      | 500               | 16                 | 8000              |
|         | K53788 | Skid   | 320      |                   |                    | 5000              |
| 28 × 40 | K3789  | Carton | 344      | 400               | 16                 | 6400              |
|         | K53790 | Skid   | 344      |                   |                    | 5000              |

Brightness—96 Opacity—98.5 Paper Gloss—43 Caliper—.0076 PPI—262 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                    |                     |                   |
|---------|--------|--------|----------|--------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 17 × 11 | K11933 | Carton | 58       | 1000               | 32                  | 32000             |
| 18 × 12 | K11937 | Carton | 66       | 750                | 40                  | 30000             |

Brightness −96 Opacity −98.5 Paper Gloss −43 Caliper −.0076 PPI −262 \$10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified²

| Digital for HP Indigo   |        |        |          |                   |                     |                    |  |
|---|--------|--------|----------|-------------------|---------------------|--------------------|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |  |
| 18 × 12   | K11879 | Carton | 66       | 750               | 40                  | 30000              |  |
| 19 × 13   | K11741 | Carton | 76       | 750               | 36                  | 27000              |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13069 | Carton | 189      | 500               | 20                  | 10000              |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Silk Cover**

#### 100lb/270gsm

Brightness-96 Opacity-99 Paper Gloss-43 Caliper -. 0098 PPI-204

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K3791  | Carton | 183      | 875               | 16                  | 14000             |
| 20×26   | K3792  | Carton | 200      | 750               | 16                  | 12000             |
| 23 × 35 | K3794  | Carton | 310      | 500               | 16                  | 8000              |
|         | K53795 | Skid   | 310      |                   |                     | 3750              |
| 25 × 38 | K3796  | Carton | 366      | 375               | 16                  | 6000              |
|         | K53797 | Skid   | 366      |                   |                     | 3750              |
| 26 × 40 | K3798  | Carton | 400      | 375               | 16                  | 6000              |
|         | K53799 | Skid   | 400      |                   |                     | 3750              |
| 28 × 40 | K3800  | Carton | 430      | 375               | 16                  | 6000              |
|         | K53801 | Skid   | 430      |                   |                     | 3750              |

Brightness-96 Opacity-99 Paper Gloss-43 Caliper - .0098 PPI-204 ☼10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital   |        |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K11938 | Carton | 83       | 600               | 40                 | 24000             |
| 20½ × 14⅓ | K11986 | Carton | 113      | 500               | 36                 | 18000             |

Brightness-96 Opacity-99 Paper Gloss-43 Caliper - .0098 PPI-204 ♣10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |  |
|---|--------|--------|----------|-------------------|--------------------|--------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |  |
| 18 × 12   | K11880 | Carton | 83       | 600               | 40                 | 24000              |  |  |
| 19 × 13   | K11742 | Carton | 95       | 600               | 36                 | 21600              |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13070 | Carton | 236      | 400               | 20                 | 8000               |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# McCoy Silk Cover

#### 120lb/325gsm

Brightness-96

| Opacity—99                     |
|--------------------------------|
| Paper Gloss-43                 |
| Caliper0120                    |
| PPI-166                        |
| 10% recycled fiber             |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |
|                                |

| Sheets  |        |        |          |                   |                     |                    |
|---------|--------|--------|----------|-------------------|---------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |
| 20×26   | K3803  | Carton | 240      | 625               | 16                  | 10000              |
| 23 × 35 | K3807  | Carton | 372      | 400               | 16                  | 6400               |
|         | K53814 | Skid   | 372      |                   |                     | 3000               |
| 25 × 38 | K3854  | Carton | 438      | 375               | 16                  | 6000               |
|         | K53855 | Skid   | 438      |                   |                     | 3000               |
| 26 × 40 | K3856  | Carton | 480      | 300               | 16                  | 4800               |
|         | K53857 | Skid   | 480      |                   |                     | 3000               |
| 28 × 40 | K3858  | Carton | 516      | 300               | 16                  | 4800               |
|         | K53859 | Skid   | 516      |                   |                     | 3000               |

Brightness-96 Opacity-99 Paper Gloss-43 Caliper - .0120 PPI-166 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for H   | P Indigo |        |          |                   |                    |                    |
|---|----------|--------|----------|-------------------|--------------------|--------------------|
| SIZE  | CODE     | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 13 × 19   | K12542   | Ream   | 114      | 250³              | 72 <sup>4</sup>    | 18000              |
|   | K12555   | Skid   | 114      |                   |                    | 18000              |
| 18 × 12   | K11853   | Carton | 100      | 500               | 40                 | 20000              |
| 19 × 13   | K11854   | Carton | 114      | 500               | 36                 | 18000              |
|   | K12566   | Skid   | 114      |                   |                    | 18000              |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13071   | Carton | 283      | 350               | 20                 | 7000               |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 Sheets/Ream.
- 4 Reams/Pallet.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

Effective

# **McCoy Silk Cover**

#### 130lb/352gsm

Brightness – 96 Opacity – 99 Paper Gloss – 43 Caliper – .0132 PPI – 152

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20 × 26 | K3862  | Carton | 260      | 600               | 16                 | 9600              |
| 23 × 35 | K3863  | Carton | 403      | 375               | 16                 | 6000              |
|         | K12890 | Skid   | 403      |                   |                    | 3000              |
| 25 × 38 | K3864  | Carton | 476      | 325               | 16                 | 5200              |
| 26 × 40 | K3865  | Carton | 520      | 300               | 16                 | 4800              |
|         | K12891 | Skid   | 520      |                   |                    | 3000              |
| 28 × 40 | K3866  | Carton | 560      | 275               | 16                 | 4400              |
|         | K12892 | Skid   | 560      |                   |                    | 3000              |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Silk Gift Card**

#### 288lb/780gsm

Brightness—96 Opacity—99 Paper Gloss—43 Caliper—.0280 PPI—68 ♣10% recycled fiber¹

SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 28 × 40 | K55046 | Carton | 1242     | 120               | 16                 | 1920               |
|         | K55045 | Skid   | 1242     |                   |                    | 1250               |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Matte Text**

#### 80lb/118gsm

Brightness – 96 Opacity – 95 Paper Gloss – 25 Caliper – .0044 PPI – 454

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 23 × 35 | K3701  | Carton | 136      | 1100              | 16                 | 17600              |
| 25 × 38 | K3703  | Carton | 160      | 1000              | 16                 | 16000              |
|         | K53704 | Skid   | 160      |                   |                    | 8000               |
| 28 × 40 | K3705  | Carton | 188      | 800               | 16                 | 12800              |
|         | K12591 | Skid   | 188      |                   |                    | 8000               |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Matte Text**

#### 100lb/148gsm

Brightness−96
Opacity−96.5
Paper Gloss−25
Caliper−.0056
PPI−356
♣10% recycled fiber¹
SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |          |
|---------|--------|--------|----------|-------------------|--------------------|----------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS / |
| 19 × 25 | K3706  | Carton | 100      | 1600              | 16                 | 25600    |
| 23 × 35 | K3712  | Carton | 169      | 900               | 16                 | 14400    |
| 25 × 38 | K3714  | Carton | 200      | 800               | 16                 | 12800    |
|         | K53717 | Skid   | 200      |                   |                    | 6000     |
| 28 × 40 | K3719  | Carton | 236      | 600               | 16                 | 9600     |
|         | K12592 | Skid   | 236      |                   |                    | 6000     |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **McCoy Matte Cover**

#### 80lb/216gsm

Brightness—96 Opacity—98.5 Paper Gloss—25 Caliper—.0085 PPI—234

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 19 × 25 | K3729  | Carton | 146      | 1100              | 16                 | 17600              |
| 23 × 35 | K3731  | Carton | 248      | 625               | 16                 | 10000              |
| 25 × 38 | K3732  | Carton | 292      | 500               | 16                 | 8000               |
| 26 × 40 | K3733  | Carton | 320      | 500               | 16                 | 8000               |
|         | K53734 | Skid   | 320      |                   |                    | 4000               |
| 28 × 40 | K3735  | Carton | 344      | 400               | 16                 | 6400               |

#### 100lb/270gsm

Brightness—96 Opacity—99 Paper Gloss—25 Caliper—.0106 PPI—188

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |       |        |          |                   |                    |                    |
|---------|-------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE  | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 19×25   | K3736 | Carton | 183      | 875               | 16                 | 14000              |
| 20 × 26 | K3737 | Carton | 200      | 750               | 16                 | 12000              |
| 23 × 35 | K3738 | Carton | 310      | 500               | 16                 | 8000               |
| 25 × 38 | K3739 | Carton | 366      | 400               | 16                 | 6400               |
| 26 × 40 | K3740 | Carton | 400      | 375               | 16                 | 6000               |
| 28 × 40 | K3742 | Carton | 430      | 375               | 16                 | 6000               |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 McCoy is sold standard with 10% recycled fiber.
- 2 All McCoy products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.



# The new standard in luxury that lasts.

For when what's inside really counts. Spectro® wows with a superior surface on both sides of the sheet. As a paperboard with enhanced optics, it's ideal for both packaging and commercial printing applications. Consider Spectro your invitation to stand out from the crowd.

# Superior printability and surface, side to side

Spectro C1S and C2S deliver a uniform side-to-side smooth printing surface that features a proprietary coating engineered for brilliant color reproduction, sharper details, and better ink hold-out.

#### A breadth of applications

From direct mail to luxury goods packaging to point-of-sale materials, Spectro offers unrivaled versatility for both commercial print and packaging applications as you build your brand. Expect high-quality performance across numerous applications, including digital and folio sizes, all made and stocked in the US for quicker availability.

# Consistent downstream performance

Spectro has the strength and durability to provide optimum convertibility for folding, die-cutting, gluing, and other converting applications. It's designed with exceptional dimensional stability, providing more flexibility in layout and downstream operations.

#### Stocked basis weights

| Spect   | Spectro C1S             |                           |     |       |            |  |  |  |  |  |
|---------|-------------------------|---------------------------|-----|-------|------------|--|--|--|--|--|
| CALIPER | TAG WEIGHT<br>24" × 36" | COVER WEIGHT<br>20" × 26" | GSM | GLOSS | BRIGHTNESS |  |  |  |  |  |
| 8pt     | 109                     | 66                        | 177 | 50    | 92         |  |  |  |  |  |
| 10pt    | 120                     | 72                        | 195 | 50    | 92         |  |  |  |  |  |
| 12pt    | 141                     | 85                        | 230 | 50    | 92         |  |  |  |  |  |
| 14pt    | 158                     | 95                        | 257 | 50    | 92         |  |  |  |  |  |
| 16pt    | 177                     | 106                       | 288 | 50    | 92         |  |  |  |  |  |
| 18pt    | 193                     | 116                       | 314 | 50    | 92         |  |  |  |  |  |
| 20pt    | 206                     | 124                       | 335 | 50    | 92         |  |  |  |  |  |
| 24pt    | 243                     | 146                       | 396 | 50    | 92         |  |  |  |  |  |

| Spec    | Spectro C1S Digital and Digital for HP Indigo |                           |     |       |            |  |  |  |  |
|---------|---|---------------------------|-----|-------|------------|--|--|--|--|
| CALIPER | TAG WEIGHT 24" × 36"                          | COVER WEIGHT<br>20" × 26" | GSM | GLOSS | BRIGHTNESS |  |  |  |  |
| 10pt    | 120   | 72                        | 195 | 50    | 92         |  |  |  |  |
| 12pt    | 141   | 85                        | 230 | 50    | 92         |  |  |  |  |
| 14pt    | 158   | 95                        | 257 | 50    | 92         |  |  |  |  |
| 16pt    | 177   | 106                       | 288 | 50    | 92         |  |  |  |  |

| Spect   | Spectro C2S             |                           |     |       |            |  |  |  |  |  |
|---------|-------------------------|---------------------------|-----|-------|------------|--|--|--|--|--|
| CALIPER | TAG WEIGHT<br>24" × 36" | COVER WEIGHT<br>20" × 26" | GSM | GLOSS | BRIGHTNESS |  |  |  |  |  |
| 8pt     | 124                     | 75                        | 202 | 50    | 92         |  |  |  |  |  |
| 10pt    | 145                     | 87                        | 236 | 50    | 92         |  |  |  |  |  |
| 12pt    | 171                     | 103                       | 278 | 50    | 92         |  |  |  |  |  |
| 14pt    | 196                     | 119                       | 319 | 50    | 92         |  |  |  |  |  |
| 16pt    | 217                     | 132                       | 353 | 50    | 92         |  |  |  |  |  |

| Spectro C2S Digital and Digital for HP Indigo |                      |                           |     |       |            |  |  |  |
|---|----------------------|---------------------------|-----|-------|------------|--|--|--|
| CALIPER                                       | TAG WEIGHT 24" × 36" | COVER WEIGHT<br>20" × 26" | GSM | GLOSS | BRIGHTNESS |  |  |  |
| 10pt  | 145                  | 87                        | 236 | 50    | 92         |  |  |  |
| 12pt  | 171                  | 103                       | 278 | 50    | 92         |  |  |  |
| 14pt  | 196                  | 119                       | 319 | 50    | 92         |  |  |  |
| 16pt  | 217                  | 132                       | 353 | 50    | 92         |  |  |  |

#### **Specifications**

PUT UP

Cartons, Skids, Reams

SHAD

Ultra bright blue white

L\*a\*b PAPER WHITE

95.00, 0.70, -6.30<sup>1</sup> 95.50, 1.05, -3.40<sup>2</sup>

RECYCLED FIBER CONTENT

10% available upon request

CERTIFICATION

SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

<sup>1</sup> CIE L\*a\*b\* values are approximate and stated with UV included, according to ISO 5631-2:2015 guidelines. The color measurement methodology incorporates CIE standard illuminant D65 (simulated), 10° Standard Observer, and d/0° illumination/measurement geometry. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons—not as product specifications.

<sup>2</sup> CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paperboard shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.

<sup>3</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.

Effective 03.23

#### 8pt

Tag Weight
24"x36"-109
Cover Weight
20"x26"-66
GSM-177
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C | 15     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K20029 | Carton | 120      | 1000              | 16                 | 16000             |
|           | K20200 | Skid   | 120      |                   |                    | 10000             |
| 20 × 26   | K20030 | Carton | 131      | 1000              | 16                 | 16000             |
|           | K20201 | Skid   | 131      |                   |                    | 10000             |
| 23 × 29   | K20031 | Carton | 168      | 650               | 16                 | 10400             |
|           | K20202 | Skid   | 168      |                   |                    | 5000              |
| 23 × 35   | K20032 | Carton | 203      | 600               | 16                 | 9600              |
|           | K20203 | Skid   | 203      |                   |                    | 5000              |
| 25 × 38   | K20033 | Carton | 240      | 500               | 16                 | 8000              |
|           | K20204 | Skid   | 240      |                   |                    | 5000              |
| 26 × 40   | K20034 | Carton | 262      | 500               | 16                 | 8000              |
|           | K20205 | Skid   | 262      |                   |                    | 5000              |
| 28 × 40   | K20000 | Carton | 282      | 400               | 16                 | 6400              |
|           | K20206 | Skid   | 282      |                   |                    | 5000              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

# **Spectro C1S**

#### 10pt

Tag Weight 24"×36" −120 Cover Weight 20"×26" −72 GSM −195 Brightness −92 Gloss −50 €10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified²

| Spectro C | 1S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K20035 | Carton | 132      | 900               | 16                 | 14400             |
|           | K20210 | Skid   | 132      |                   |                    | 8000              |
| 20×26     | K20036 | Carton | 144      | 800               | 16                 | 12800             |
|           | K20211 | Skid   | 144      |                   |                    | 8000              |
| 23 × 29   | K20037 | Carton | 185      | 600               | 16                 | 9600              |
|           | K20212 | Skid   | 185      |                   |                    | 4000              |
| 23 × 35   | K20038 | Carton | 224      | 500               | 16                 | 8000              |
|           | K20213 | Skid   | 224      |                   |                    | 4000              |
| 25 × 38   | K20039 | Carton | 264      | 400               | 16                 | 6400              |
|           | K20214 | Skid   | 264      |                   |                    | 4000              |
| 26 × 40   | K20040 | Carton | 288      | 400               | 16                 | 6400              |
|           | K20215 | Skid   | 288      |                   |                    | 4000              |
| 28 × 40   | K20001 | Carton | 312      | 400               | 16                 | 6400              |
|           | K20216 | Skid   | 312      |                   |                    | 4000              |

Tag Weight
24"×36"-120
Cover Weight
20"×26"-72
GSM-195
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C1S—Digital                |        |        |          |                   |                    |                   |  |  |  |
|------------------------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|--|
| SIZE                               | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |  |
| 8 <sup>1</sup> / <sub>2</sub> × 11 | K23519 | Ream   | 26       | 150³              | 384³               | 57600             |  |  |  |
| 17 × 11                            | K23501 | Carton | 52       | 600               | 48                 | 28800             |  |  |  |
| 18 × 12                            | K23502 | Carton | 60       | 600               | 48                 | 28800             |  |  |  |
| 19 × 13                            | K23503 | Carton | 69       | 600               | 42                 | 25200             |  |  |  |
| 20 × 14                            | K23504 | Carton | 78       | 500               | 42                 | 21000             |  |  |  |

Tag Weight
24"x36"-120
Cover Weight
20"x26"-72
GSM-195
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C19   | Spectro C1S—Digital for HP Indigo |        |          |                   |                    |                   |  |  |  |  |
|---|-----------------------------------|--------|----------|-------------------|--------------------|-------------------|--|--|--|--|
| SIZE  | CODE                              | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |  |  |
| 18 × 12   | K26501                            | Carton | 60       | 600               | 48                 | 28800             |  |  |  |  |
| 19 × 13   | K26502                            | Carton | 69       | 600               | 42                 | 25200             |  |  |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26503                            | Skid   | 171      |                   |                    | 6600              |  |  |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- $1\ \ \text{Spectro is available with } 10\%\ \text{recycled fiber based on availability and applicable upcharges}.$
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 150 Sheets/Ream, 8 Reams/Carton.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

#### 12pt

Tag Weight 24"x 36" – 141 Cover Weight 20"x 26" – 85 GSM – 230 Brightness – 92 Gloss – 50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C1S | \$     |        |          |                   |                    |                   |
|-------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE        | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25       | K20041 | Carton | 155      | 750               | 16                 | 12000             |
|             | K20220 | Skid   | 155      |                   |                    | 7000              |
| 20×26       | K20042 | Carton | 170      | 750               | 16                 | 12000             |
|             | K20221 | Skid   | 170      |                   |                    | 7000              |
| 23×29       | K20043 | Carton | 218      | 600               | 12                 | 7200              |
|             | K20222 | Skid   | 218      |                   |                    | 3500              |
| 23 × 35     | K20044 | Carton | 263      | 400               | 16                 | 6400              |
|             | K20223 | Skid   | 263      |                   |                    | 3500              |
| 25 × 38     | K20045 | Carton | 310      | 350               | 16                 | 5600              |
|             | K20224 | Skid   | 310      |                   |                    | 3500              |
| 26 × 40     | K20046 | Carton | 340      | 400               | 16                 | 6400              |
|             | K20225 | Skid   | 340      |                   |                    | 3500              |
| 28 × 40     | K20002 | Carton | 366      | 350               | 16                 | 5600              |
|             | K20226 | Skid   | 366      |                   |                    | 3500              |

Tag Weight 24"x36"-141 Cover Weight 20"x26"-85 GSM-230 Brightness-92 Gloss-50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C1S—Digital                |        |        |          |                   |                    |                   |  |  |  |
|------------------------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|--|
| SIZE                               | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |  |
| 8 <sup>1</sup> / <sub>2</sub> × 11 | K23525 | Ream   | 31       | 125³              | 384³               | 48000             |  |  |  |
| 17 × 11                            | K23507 | Carton | 61       | 500               | 48                 | 24000             |  |  |  |
| 18 × 12                            | K23508 | Carton | 71       | 500               | 48                 | 24000             |  |  |  |
| 19 × 13                            | K23509 | Carton | 81       | 500               | 42                 | 21000             |  |  |  |
| 20 × 14                            | K23510 | Carton | 91       | 450               | 42                 | 18900             |  |  |  |

Tag Weight 24" x 36" - 141 Cover Weight 20" x 26" - 85 GSM - 230 Brightness - 92 Gloss - 50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Spectro C1S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |  |
| 18 × 12   | K26504 | Carton | 71       | 500               | 48                 | 24000             |  |  |  |
| 19 × 13   | K26505 | Carton | 81       | 500               | 42                 | 21000             |  |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26506 | Skid   | 200      |                   |                    | 5500              |  |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- 1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 125 Sheets/Ream, 8 Reams/Carton.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **Spectro C1S**

#### 14pt

Tag Weight 24"x36"-158 Cover Weight 20"x26"-95 GSM-257 Brightness-92 Gloss-50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C | 1S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K20047 | Carton | 174      | 600               | 16                 | 9600              |
|           | K20230 | Skid   | 174      |                   |                    | 6000              |
| 20 × 26   | K20048 | Carton | 190      | 550               | 16                 | 8800              |
|           | K20231 | Skid   | 190      |                   |                    | 6000              |
| 23 × 29   | K20049 | Carton | 244      | 475               | 12                 | 5700              |
|           | K20232 | Skid   | 244      |                   |                    | 3000              |
| 23 × 35   | K20050 | Carton | 294      | 300               | 16                 | 4800              |
|           | K20233 | Skid   | 294      |                   |                    | 3000              |
| 25 × 38   | K20051 | Carton | 348      | 300               | 16                 | 4800              |
|           | K20234 | Skid   | 348      |                   |                    | 3000              |
| 26 × 40   | K20052 | Carton | 380      | 300               | 16                 | 4800              |
|           | K20235 | Skid   | 380      |                   |                    | 3000              |
| 28 × 40   | K20003 | Carton | 410      | 275               | 16                 | 4400              |
|           | K20236 | Skid   | 410      |                   |                    | 3000              |

Tag Weight
24"x36"-158
Cover Weight
20"x26"-95
GSM-257
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C1S—Digital |        |        |          |                   |                    |                   |  |  |
|---------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12             | K23512 | Carton | 79       | 450               | 48                 | 21600             |  |  |
| 19 × 13             | K23513 | Carton | 90       | 450               | 42                 | 18900             |  |  |
| 20 × 14             | K23514 | Carton | 102      | 400               | 42                 | 16800             |  |  |

24"×36" −158
Cover Weight
20"×26" −95
GSM −257
Brightness −92
Gloss −50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

Tag Weight

| Spectro C1S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K26507 | Carton | 79       | 450               | 48                 | 21600             |  |  |
| 19 × 13   | K26508 | Carton | 90       | 450               | 42                 | 18900             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26509 | Skid   | 225      |                   |                    | 4800              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- 1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

Effective

#### 16pt

Tag Weight
24"x36"-177
Cover Weight
20"x26"-106
GSM-288
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C | 1S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K20053 | Carton | 195      | 550               | 16                 | 8800              |
|           | K20240 | Skid   | 195      |                   |                    | 5000              |
| 20×26     | K20054 | Carton | 213      | 550               | 16                 | 8800              |
|           | K20241 | Skid   | 213      |                   |                    | 5000              |
| 23 × 29   | K20055 | Carton | 273      | 450               | 12                 | 5400              |
|           | K20242 | Skid   | 273      |                   |                    | 2500              |
| 23 × 35   | K20056 | Carton | 330      | 300               | 16                 | 4800              |
|           | K20243 | Skid   | 330      |                   |                    | 2500              |
| 25 × 38   | K20057 | Carton | 390      | 275               | 16                 | 4400              |
|           | K20244 | Skid   | 390      |                   |                    | 2500              |
| 26 × 40   | K20058 | Carton | 426      | 300               | 16                 | 4800              |
|           | K20245 | Skid   | 426      |                   |                    | 2500              |
| 28 × 40   | K20004 | Carton | 458      | 275               | 16                 | 4400              |
|           | K20246 | Skid   | 458      |                   |                    | 2500              |

Tag Weight 24"×36"-177 Cover Weight 20"×26"-106 GSM-288 Brightness-92 Gloss-50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C1S—Digital |        |        |          |                   |                    |                   |  |  |
|---------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12             | K23516 | Carton | 89       | 400               | 48                 | 19200             |  |  |
| 19 × 13             | K23517 | Carton | 101      | 400               | 42                 | 16800             |  |  |

Tag Weight 24"×36"-177
Cover Weight 20"×26"-106
GSM-288
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Spectro C1S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K26510 | Carton | 89       | 400               | 48                 | 19200             |  |  |
| 19 × 13   | K26511 | Carton | 101      | 400               | 42                 | 16800             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26512 | Skid   | 252      |                   |                    | 4200              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Spectro C1S**

#### 18pt

Tag Weight
24"x36"-193
Cover Weight
20"x26"-116
GSM-314
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C | :1S    |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19 × 25   | K20059 | Carton | 212      | 500               | 16                 | 8000              |
|           | K20250 | Skid   | 212      |                   |                    | 4500              |
| 20×26     | K20060 | Carton | 232      | 475               | 16                 | 7600              |
|           | K20251 | Skid   | 232      |                   |                    | 4500              |
| 23 × 29   | K20061 | Carton | 298      | 400               | 12                 | 4800              |
|           | K20252 | Skid   | 298      |                   |                    | 2250              |
| 23 × 35   | K20062 | Carton | 360      | 250               | 16                 | 4000              |
|           | K20253 | Skid   | 360      |                   |                    | 2250              |
| 25 × 38   | K20063 | Carton | 424      | 250               | 16                 | 4000              |
|           | K20254 | Skid   | 424      |                   |                    | 2250              |
| 26 × 40   | K20064 | Carton | 464      | 300               | 16                 | 4800              |
|           | K20255 | Skid   | 464      |                   |                    | 2250              |
| 28 × 40   | K20005 | Carton | 500      | 250               | 16                 | 4000              |
|           | K20256 | Skid   | 500      |                   |                    | 2250              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

Effective

<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

#### 20pt

Tag Weight
24"x36"-206
Cover Weight
20"x26"-124
GSM-335
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C1S |        |        |          |                   |                    |                   |
|-------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE        | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25       | K20065 | Carton | 227      | 450               | 16                 | 7200              |
|             | K20260 | Skid   | 227      |                   |                    | 4000              |
| 20×26       | K20066 | Carton | 248      | 475               | 16                 | 7600              |
|             | K20261 | Skid   | 248      |                   |                    | 4000              |
| 23 × 29     | K20067 | Carton | 318      | 350               | 12                 | 4200              |
|             | K20262 | Skid   | 318      |                   |                    | 2000              |
| 23 × 35     | K20068 | Carton | 384      | 250               | 16                 | 4000              |
|             | K20263 | Skid   | 384      |                   |                    | 2000              |
| 25 × 38     | K20069 | Carton | 454      | 225               | 16                 | 3600              |
|             | K20264 | Skid   | 454      |                   |                    | 2000              |
| 26 × 40     | K20070 | Carton | 496      | 275               | 16                 | 4400              |
|             | K20265 | Skid   | 496      |                   |                    | 2000              |
| 28 × 40     | K20006 | Carton | 534      | 225               | 16                 | 3600              |
|             | K20266 | Skid   | 534      |                   |                    | 2000              |

# All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

# **Spectro C1S**

#### 24pt

Tag Weight 24"×36" −243 Cover Weight 20"×26" −146 GSM −396 Brightness −92 Gloss −50 €10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified²

| Spectro C | 15     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19 × 25   | K20071 | Carton | 267      | 350               | 16                 | 5600              |
|           | K20270 | Skid   | 267      |                   |                    | 3500              |
| 20 × 26   | K20072 | Carton | 293      | 350               | 16                 | 5600              |
|           | K20271 | Skid   | 293      |                   |                    | 3500              |
| 23 × 29   | K20073 | Carton | 375      | 300               | 12                 | 3600              |
|           | K20272 | Skid   | 375      |                   |                    | 1750              |
| 23×35     | K20074 | Carton | 453      | 200               | 16                 | 3200              |
|           | K20273 | Skid   | 453      |                   |                    | 1750              |
| 25 × 38   | K20075 | Carton | 534      | 175               | 16                 | 2800              |
|           | K20274 | Skid   | 534      |                   |                    | 1750              |
| 26 × 40   | K20076 | Carton | 586      | 225               | 16                 | 3600              |
|           | K20275 | Skid   | 586      |                   |                    | 1750              |
| 28 × 40   | K20007 | Carton | 630      | 175               | 16                 | 2800              |
|           | K20276 | Skid   | 630      |                   |                    | 1750              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

#### 8pt

Effective

03.23

50

Tag Weight 24"×36"-124 Cover Weight 20"×26"-75 GSM-202 Brightness-92 Gloss-50 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C | 2S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K21500 | Carton | 136      | 1000              | 16                 | 16000             |
|           | K21507 | Skid   | 136      |                   |                    | 10000             |
| 20 × 26   | K21501 | Carton | 149      | 1000              | 16                 | 16000             |
|           | K21508 | Skid   | 149      |                   |                    | 10000             |
| 23 × 29   | K21502 | Carton | 191      | 650               | 16                 | 10400             |
|           | K21509 | Skid   | 191      |                   |                    | 5000              |
| 23 × 35   | K21503 | Carton | 231      | 600               | 16                 | 9600              |
|           | K21510 | Skid   | 231      |                   |                    | 5000              |
| 25 × 38   | K21504 | Carton | 272      | 500               | 16                 | 8000              |
|           | K21511 | Skid   | 272      |                   |                    | 5000              |
| 26 × 40   | K21505 | Carton | 298      | 500               | 16                 | 8000              |
|           | K21512 | Skid   | 298      |                   |                    | 5000              |
| 28 × 40   | K21506 | Carton | 322      | 400               | 16                 | 6400              |
|           | K21513 | Skid   | 322      |                   |                    | 5000              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

# **Spectro C2S**

#### 10pt

Tag Weight 24"×36"-145 Cover Weight 20"×26"-87 GSM-236 Brightness-92 Gloss-50 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C2 | 2S     |        |          |                   |                    |                   |
|------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE       | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS,<br>PALLET |
| 19 × 25    | K21514 | Carton | 159      | 900               | 16                 | 14400             |
|            | K21521 | Skid   | 159      |                   |                    | 8000              |
| 20×26      | K21515 | Carton | 175      | 800               | 16                 | 12800             |
|            | K21522 | Skid   | 175      |                   |                    | 8000              |
| 23 × 29    | K21516 | Carton | 224      | 600               | 16                 | 9600              |
|            | K21523 | Skid   | 224      |                   |                    | 4000              |
| 23 × 35    | K21517 | Carton | 270      | 500               | 16                 | 8000              |
|            | K21524 | Skid   | 270      |                   |                    | 4000              |
| 25 × 38    | K21518 | Carton | 318      | 400               | 16                 | 6400              |
|            | K21525 | Skid   | 318      |                   |                    | 4000              |
| 26 × 40    | K21519 | Carton | 350      | 400               | 16                 | 6400              |
|            | K21526 | Skid   | 350      |                   |                    | 4000              |
| 28 × 40    | K21520 | Carton | 376      | 400               | 16                 | 6400              |
|            | K21527 | Skid   | 376      |                   |                    | 4000              |

Tag Weight 24"×36"-145 Cover Weight 20"×26"-87 GSM-236 Brightness-92 Gloss-50 ♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C2S—Digital                |        |        |          |                   |                    |                   |  |  |
|------------------------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                               | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 8 <sup>1</sup> / <sub>2</sub> × 11 | K23019 | Ream   | 31       | 150³              | 384³               | 57600             |  |  |
| 17 × 11                            | K23001 | Carton | 63       | 600               | 48                 | 28800             |  |  |
| 18 × 12                            | K23002 | Carton | 73       | 600               | 48                 | 28800             |  |  |
| 19 × 13                            | K23003 | Carton | 83       | 600               | 42                 | 25200             |  |  |
| 20 × 14                            | K23004 | Carton | 94       | 500               | 42                 | 21000             |  |  |

Tag Weight 24"×36"-145 Cover Weight 20"×26"-87 GSM-236 Brightness-92 Gloss-50 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C2S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K26001 | Carton | 73       | 600               | 48                 | 28800             |  |  |
| 19 × 13   | K26002 | Carton | 83       | 600               | 42                 | 25200             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26003 | Skid   | 206      |                   |                    | 6600              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- 1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 150 Sheets/Ream, 8 Reams/Carton.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

#### 12pt

Tag Weight
24"x36"-171
Cover Weight
20"x26"-103
GSM-278
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C | 2S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K21528 | Carton | 188      | 750               | 16                 | 12000             |
|           | K21535 | Skid   | 188      |                   |                    | 7000              |
| 20×26     | K21529 | Carton | 206      | 750               | 16                 | 12000             |
|           | K21536 | Skid   | 206      |                   |                    | 7000              |
| 23 × 29   | K21530 | Carton | 264      | 600               | 12                 | 7200              |
|           | K21537 | Skid   | 264      |                   |                    | 3500              |
| 23 × 35   | K21531 | Carton | 319      | 400               | 16                 | 6400              |
|           | K21538 | Skid   | 319      |                   |                    | 3500              |
| 25 × 38   | K21532 | Carton | 376      | 350               | 16                 | 5600              |
|           | K21539 | Skid   | 376      |                   |                    | 3500              |
| 26 × 40   | K21533 | Carton | 412      | 400               | 16                 | 6400              |
|           | K21540 | Skid   | 412      |                   |                    | 3500              |
| 28 × 40   | K21534 | Carton | 444      | 350               | 16                 | 5600              |
|           | K21541 | Skid   | 444      |                   |                    | 3500              |

Tag Weight
24"x36"-171
Cover Weight
20"x26"-103
GSM-278
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C2S—Digital                |        |        |          |                   |                    |                   |  |  |
|------------------------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                               | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 8 <sup>1</sup> / <sub>2</sub> × 11 | K23025 | Ream   | 37       | 125³              | 384³               | 48000             |  |  |
| 17 × 11                            | K23007 | Carton | 74       | 500               | 48                 | 24000             |  |  |
| 18 × 12                            | K23008 | Carton | 86       | 500               | 48                 | 24000             |  |  |
| 19 × 13                            | K23009 | Carton | 98       | 500               | 42                 | 21000             |  |  |
| 20 × 14                            | K23010 | Carton | 111      | 450               | 42                 | 18900             |  |  |

Tag Weight 24" x 36" - 171 Cover Weight 20" x 26" - 103 GSM - 278 Brightness - 92 Gloss - 50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Spectro C2S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |  |
| 18 × 12   | K26004 | Carton | 86       | 500               | 48                 | 24000             |  |  |  |
| 19 × 13   | K26005 | Carton | 98       | 500               | 42                 | 21000             |  |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26006 | Skid   | 243      |                   |                    | 5500              |  |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- 1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 125 Sheets/Ream, 8 Reams/Carton.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **Spectro C2S**

#### 14pt

Tag Weight 24"x36"-196 Cover Weight 20"x26"-119 GSM-319 Brightness-92 Gloss-50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C | 2S     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K21542 | Carton | 216      | 600               | 16                 | 9600              |
|           | K21549 | Skid   | 216      |                   |                    | 6000              |
| 20×26     | K21543 | Carton | 236      | 600               | 16                 | 9600              |
|           | K21550 | Skid   | 236      |                   |                    | 6000              |
| 23 × 29   | K21544 | Carton | 303      | 400               | 16                 | 6400              |
|           | K21551 | Skid   | 303      |                   |                    | 3000              |
| 23 × 35   | K21545 | Carton | 365      | 300               | 16                 | 4800              |
|           | K21552 | Skid   | 365      |                   |                    | 3000              |
| 25 × 38   | K21546 | Carton | 432      | 300               | 16                 | 4800              |
|           | K21553 | Skid   | 432      |                   |                    | 3000              |
| 26 × 40   | K21547 | Carton | 472      | 300               | 16                 | 4800              |
|           | K21554 | Skid   | 472      |                   |                    | 3000              |
| 28 × 40   | K21548 | Carton | 508      | 275               | 16                 | 4400              |
|           | K21555 | Skid   | 508      |                   |                    | 3000              |

Tag Weight 24"x36"-196 Cover Weight 20"x26"-119 GSM-319 Brightness-92 Gloss-50 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C2S—Digital |        |        |          |                   |                    |                   |  |  |
|---------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12             | K23012 | Carton | 98       | 450               | 48                 | 21600             |  |  |
| 19 × 13             | K23013 | Carton | 112      | 450               | 42                 | 18900             |  |  |
| 20 × 14             | K23014 | Carton | 127      | 400               | 42                 | 16800             |  |  |

Tag Weight
24"×36" − 196
Cover Weight
20"×26" − 119
GSM − 319
Brightness − 92
Gloss − 50
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Spectro C2S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K26007 | Carton | 98       | 450               | 48                 | 21600             |  |  |
| 19 × 13   | K26008 | Carton | 112      | 450               | 42                 | 18900             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26009 | Skid   | 279      |                   |                    | 4800              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.

- 1 Spectro is available with 10% recycled fiber based on availability and applicable upcharges.
- 2 Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

Effective

#### 16pt

Tag Weight
24"×36" –217
Cover Weight
20"×26" –132
GSM –353
Brightness –92
Gloss –50
\$10% recycled fiber¹
SFI Certified Sourcing

Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C | 28     |        |          |                   |                    |                   |
|-----------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25     | K21556 | Carton | 239      | 550               | 16                 | 8800              |
|           | K21563 | Skid   | 239      |                   |                    | 5000              |
| 20×26     | K21557 | Carton | 261      | 600               | 16                 | 9600              |
|           | K21564 | Skid   | 261      |                   |                    | 5000              |
| 23 × 29   | K21558 | Carton | 335      | 350               | 16                 | 5600              |
|           | K21565 | Skid   | 335      |                   |                    | 2500              |
| 23 × 35   | K21559 | Carton | 404      | 300               | 16                 | 4800              |
|           | K21566 | Skid   | 404      |                   |                    | 2500              |
| 25 × 38   | K21560 | Carton | 478      | 275               | 16                 | 4400              |
|           | K21567 | Skid   | 478      |                   |                    | 2500              |
| 26 × 40   | K21561 | Carton | 522      | 300               | 16                 | 4800              |
|           | K21568 | Skid   | 522      |                   |                    | 2500              |
| 28 × 40   | K21562 | Carton | 562      | 275               | 16                 | 4400              |
|           | K21569 | Skid   | 562      |                   |                    | 2500              |

Tag Weight 24"×36"-217
Cover Weight 20"×26"-132
GSM-353
Brightness-92
Gloss-50
\$10% recycled fiber¹
SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified²

| Spectro C2S—Digital |        |        |          |                   |                    |                   |  |  |
|---------------------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE                | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12             | K23016 | Carton | 109      | 400               | 48                 | 19200             |  |  |
| 19 × 13             | K23017 | Carton | 124      | 400               | 42                 | 16800             |  |  |

Tag Weight 24"×36"−217 Cover Weight 20"×26"−132 GSM−353 Brightness−92 Gloss−50 ♣10% recycled fiber¹

SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Spectro C2S—Digital for HP Indigo                                 |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K26010 | Carton | 109      | 400               | 48                 | 19200             |  |  |
| 19 × 13   | K26011 | Carton | 124      | 400               | 42                 | 16800             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K26012 | Skid   | 308      |                   |                    | 4200              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching.



<sup>1</sup> Spectro is available with 10% recycled fiber based on availability and applicable upcharges.

<sup>2</sup> Spectro is sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# The fine line between efficient and effective.

#### For when your campaign needs to perform everywhere.

We've engineered Opus® for maximum impact across an extended range of weights and finishes. The perfect balance of shade and brightness makes your brand jump off the page. Opus also has tighter tolerance standards than any of its competitors—and when your canvas is consistent, what you print stays consistent. Opus always delivers striking, reliable performance to meet the needs of any integrated marketing campaign.

#### One big happy family

Opus offers the broadest range of weights and finishes across sheet, web, and digital formats, including Opus PS—a solution optimized for direct mail—and Opus Digital and Opus Digital for HP Indigo, which are optimized to perform across digital printing platforms. With unrivaled versatility, Opus delivers the right impression at multiple touchpoints.

#### Striking the right balance

On one side of Opus, shade determines how evenly light reflects from a surface. A neutral shade provides a full, balanced gamut of light, which can come at the expense of crisp, intense color. On the other side, brightness gives vibrancy and pop, but this can come at the cost of shifting some pastels and warmer tones to a bluer shade. Opus perfectly balances the two, delivering a full range of dynamic color.

#### Confidence comes standard

Opus has the tightest tolerance standards of any premium paper in its category, delivering minimal variability within and across runs. Nothing else in the industry even comes close. Now *that* inspires confidence.

# Stocked basis weights

| Sheet            |                          |                  |       |      |       |       |
|------------------|--------------------------|------------------|-------|------|-------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | DULL | MATTE | SATIN |
| Text             | 70/104                   |                  | •     | •    | •     |       |
|                  | 80/118                   |                  | •     | •    | •     |       |
|                  | 100/148                  |                  | •     | •    | •     |       |
| OPUS PS          | 105/155 <sup>1</sup>     | 7pt²             |       |      | •     |       |
| Cover            | 65/176                   |                  | •     | •    |       |       |
|                  | 65/176                   | 7pt²             |       |      | •     |       |
| OPUS PS          | 70/190                   | 7pt²             | •     |      |       |       |
|                  | 80/216                   |                  | •     | •    |       |       |
| OPUS PS          | 80/216                   | 9pt³             |       |      | •     |       |
| OPUS PS          | 87/235                   | 9pt³             | •     |      |       |       |
|                  | 100/270                  |                  | •     | •    |       |       |
|                  | 120/325                  |                  | •     | •    |       |       |
|                  | 130/352                  |                  | •     | •    |       |       |

| Web              |                          |                  |       |      |       |       |
|------------------|--------------------------|------------------|-------|------|-------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | DULL | MATTE | SATIN |
| Text             | 60/89                    |                  | •     |      | •     | •     |
|                  | 70/104                   |                  | •     | •    | •     | •     |
|                  | 80/118                   |                  | •     | •    | •     | •     |
|                  | 100/148                  |                  | •     | •    |       |       |
| OPUS PS          | 105/155 <sup>1</sup>     | 7pt²             |       |      | •     |       |
| Cover            | 65/176                   |                  | •     | •    |       |       |
|                  | 65/176                   | 7pt²             |       |      | •     |       |
| OPUS PS          | 70/190                   | 7pt²             | •     | •    |       |       |
| OPUS PS          | 78/210                   |                  | •     |      |       |       |
|                  | 80/216                   |                  | •     | •    |       |       |
| OPUS PS          | 80/216                   | 9pt³             |       |      | •     |       |
| OPUS PS          | 87/235                   | 9pt³             | •     | •    |       |       |

| Digita           | l and Digita             | al for HF        | Indigo |      |       |       |
|------------------|--------------------------|------------------|--------|------|-------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS  | DULL | MATTE | SATIN |
| Text             | 80/118                   |                  | •      | •    |       |       |
|                  | 100/148                  |                  | •      | •    |       |       |
| Cover            | 80/216                   |                  | •      | •    |       |       |
|                  | 100/270                  |                  | •      | •    |       |       |
|                  | 120/325                  |                  | •      | •    |       |       |

#### **Specifications**

FINISHES

Gloss, Dull, Satin, Matte

PUT UP

Cartons, Skids, Rolls

SHADE

Blue white

L\*a\*b PAPER WHITE SHEETS 4

96.20, 1.45, -4.85

L\*a\*b PAPER WHITE WEB4

95.80, 1.45, -4.00

RECYCLED FIBER CONTENT SHEETS

10%

RECYCLED FIBER CONTENT WEB

10% available upon request

recycled fiber content digital 10%

CERTIFICATIONS SHEETS

OLITII IOATIONO OILLETO

SFI Certified Sourcing FSC CoC certified<sup>5</sup>

CERTIFICATIONS WEB

CoC certified<sup>6</sup>

SFI Certified Sourcing Either FSC, SFI, or PEFC

1 Matte Reply Card.

- 2 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 3 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 4 CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
- 5 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 6 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
  All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Text**

#### 60lb/89gsm

Brightness-92 Opacity-92 Paper Gloss-72 Caliper - .0029 PPI-688

☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K12687 | Roll   | 49       |

#### 70lb/104gsm

Brightness-94 Opacity-92.5 Paper Gloss - 72 Caliper - .0031 PPI-638

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>3</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 25 × 38 | K632   | Carton | 140      | 1000              | 16                 | 16000              |
| 28 × 40 | K50651 | Skid   | 166      |                   |                    | 11500              |

Brightness-92 Opacity-93 Paper Gloss-72 Caliper - .0035 PPI-578 ☼10% recycled fiber¹ SFI Certified Sourcing

Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12745 | Roll   | 49       |
| 261/2 | K12746 | Roll   | 49       |
| 35    | K12688 | Roll   | 49       |
| 351/2 | K12692 | Roll   | 49       |
| 38    | K12695 | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Text**

#### 80lb/118gsm

Brightness-94 Opacity-93.5 Paper Gloss-72 Caliper - . 0035 PPI-570

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 19×25   | K635   | Carton | 80       | 2000              | 16                 | 32000              |
| 23 × 35 | K636   | Carton | 136      | 1100              | 16                 | 17600              |
|         | K50653 | Skid   | 136      |                   |                    | 10000              |
| 24 × 36 | K637   | Carton | 146      | 1000              | 16                 | 16000              |
|         | K50654 | Skid   | 146      |                   |                    | 10000              |
| 25 × 38 | K640   | Carton | 160      | 1000              | 16                 | 16000              |
|         | K50655 | Skid   | 160      |                   |                    | 10000              |
| 28 × 40 | K641   | Carton | 188      | 800               | 16                 | 12800              |
|         | K50656 | Skid   | 188      |                   |                    | 10000              |

Brightness-92 Opacity-94 Paper Gloss-72 Caliper - .0039 PPI-512 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 171/2 | K12747 | Roll   | 49       |
| 18    | K12748 | Roll   | 49       |
| 231/2 | K12749 | Roll   | 49       |
| 261/2 | K12750 | Roll   | 49       |
| 35    | K8407  | Roll   | 49       |
| 351/2 | K8404  | Roll   | 49       |
| 38    | K12696 | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

58

# **Opus Gloss Text**

#### 80lb/118gsm

Brightness – 94 Opacity – 93.5 Paper Gloss – 72 Caliper – .0035 PPI – 570

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 11 × 17 | K12086 | Carton | 31       | 2000              | 32                 | 64000              |
| 12 × 18 | K12096 | Carton | 36       | 1500              | 40                 | 60000              |
| 13 × 19 | K13665 | Carton | 42       | 1500              | 40                 | 60000              |

Brightness—94
Opacity—93.5
Paper Gloss—72
Caliper—.0035
PPI—570
\$10% recycled fiber¹
SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital for H           | P Indigo |        |          |                   |                    |                   |
|-------------------------|----------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE     | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18                 | K13072   | Carton | 36       | 1500              | 40                 | 60000             |
| 13 × 19                 | K13120   | Carton | 42       | 1500              | 36                 | 54000             |
| 29½ × 20⅓ <sub>16</sub> | K13123   | Carton | 103      | 1000              | 20                 | 20000             |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **Opus Gloss Text**

#### 100lb/148gsm

Brightness—94 Opacity—96 Paper Gloss—72 Caliper—.0044 PPI—454

PPI-454
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Sheets  |        |        |          |                    |                    |                    |
|---------|--------|--------|----------|--------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 19×25   | K642   | Carton | 100      | 1600               | 16                 | 25600              |
| 23 × 35 | K644   | Carton | 169      | 900                | 16                 | 14400              |
|         | K50703 | Skid   | 169      |                    |                    | 8000               |
| 25 × 38 | K645   | Carton | 200      | 800                | 16                 | 12800              |
|         | K50705 | Skid   | 200      |                    |                    | 8000               |
| 28 × 40 | K646   | Carton | 236      | 600                | 16                 | 9600               |
|         | K50706 | Skid   | 236      |                    |                    | 8000               |

Brightness—92 Opacity—96.5 Paper Gloss—72 Caliper—.0050 PPI—402 \$10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web         |        |        |          |
|-------------|--------|--------|----------|
| SIZE        | CODE   | PUT UP | DIAMETER |
| <b>17</b> ½ | K12753 | Roll   | 49       |
| 18          | K13584 | Roll   | 49       |
| 231/2       | K12751 | Roll   | 49       |
| <b>26</b> ½ | K12752 | Roll   | 49       |
| 35          | K12689 | Roll   | 49       |
| 35½         | K12693 | Roll   | 49       |
| 38          | K12697 | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Text**

#### 100lb/148gsm

Brightness-94 Opacity-96 Paper Gloss-72 Caliper-.0044 PPI-454

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17 | K12093 | Carton | 39       | 1500              | 32                  | 48000             |
| 12 × 18 | K12084 | Carton | 45       | 1200              | 40                  | 48000             |
| 13 × 19 | K13667 | Carton | 52       | 1000              | 40                  | 40000             |

Brightness-94 Opacity-96 Paper Gloss-72 Caliper - .0044 PPI-454 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for H           | P Indigo |        |          |                   |                    |                   |
|-------------------------|----------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE     | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18                 | K13073   | Carton | 45       | 1200              | 40                 | 48000             |
| 13 × 19                 | K13106   | Carton | 52       | 1000              | 36                 | 36000             |
| 29½ × 20⅓ <sub>16</sub> | K13109   | Carton | 129      | 800               | 20                 | 16000             |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 65lb/176gsm

Brightness-94 Opacity-97 Ca PF ٥

| Paper Gloss-72                 |
|--------------------------------|
| Caliper0056                    |
| PPI-356                        |
| ☼10% recycled fiber¹           |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |

| Sheets  |       |        |          |                   |                     |                    |
|---------|-------|--------|----------|-------------------|---------------------|--------------------|
| SIZE    | CODE  | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |
| 23×35   | K9671 | Carton | 201      | 750               | 16                  | 12000              |
| 25 × 38 | K9715 | Carton | 238      | 625               | 16                  | 10000              |
| 28 × 40 | K9719 | Carton | 280      | 500               | 16                  | 8000               |

Brightness-94 Opacity-97 Paper Gloss-72 Caliper - .0056 PPI-356 ♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 38   | K12814 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 80lb/216gsm

Brightness-94 Opacity-98 Paper Gloss-72 Caliper - .0068 PPI-294

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K427   | Carton | 146      | 1000              | 16                 | 16000             |
| 20×26   | K428   | Carton | 160      | 1000              | 16                 | 16000             |
| 23 × 35 | K425   | Carton | 248      | 600               | 16                 | 9600              |
|         | K50493 | Skid   | 248      |                   |                    | 5500              |
| 25 × 38 | K429   | Carton | 292      | 500               | 16                 | 8000              |
|         | K50495 | Skid   | 292      |                   |                    | 5500              |
| 26 × 40 | K430   | Carton | 320      | 500               | 16                 | 8000              |
|         | K50496 | Skid   | 320      |                   |                    | 5500              |
| 28 × 40 | K431   | Carton | 344      | 400               | 16                 | 6400              |
|         | K50497 | Skid   | 344      |                   |                    | 5500              |

Brightness-92 Opacity-98 Paper Gloss-72 Caliper - .0072 PPI-278 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35½  | K12694 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 80lb/216gsm

Brightness-94 Opacity-98 Paper Glos Caliper - .0 PPI-294 ♠10% recy

| opacity oc                     |
|--------------------------------|
| Paper Gloss-72                 |
| Caliper 0068                   |
| PPI-294                        |
| ♣10% recycled fiber¹           |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |

| Digital   |        |        |          |                   |                     |                    |
|-----------|--------|--------|----------|-------------------|---------------------|--------------------|
| SIZE      | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |
| 18 × 12   | K12092 | Carton | 66       | 750               | 40                  | 30000              |
| 19 × 13   | K13669 | Carton | 76       | 750               | 36                  | 27000              |
| 20½ × 14⅓ | K13670 | Carton | 90       | 600               | 36                  | 21600              |

Brightness-94 Opacity-98 Paper Gloss-72 Caliper - .0068 PPI-294 10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K13074 | Carton | 66       | 750               | 40                 | 30000             |  |  |
| 19 × 13   | K13125 | Carton | 76       | 750               | 36                 | 27000             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13128 | Carton | 189      | 500               | 20                 | 10000             |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

Effective 03.23

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 100lb/270gsm

Brightness-94 Opacity-99 Paper Gloss-72 Caliper-.0090 PPI-222

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K432   | Carton | 183      | 800               | 16                  | 12800             |
| 20×26   | K456   | Carton | 200      | 800               | 16                  | 12800             |
| 23 × 35 | K474   | Carton | 310      | 500               | 16                  | 8000              |
|         | K50499 | Skid   | 310      |                   |                     | 4000              |
| 25 × 38 | K475   | Carton | 366      | 400               | 16                  | 6400              |
|         | K50500 | Skid   | 366      |                   |                     | 4000              |
| 26 × 40 | K476   | Carton | 400      | 400               | 16                  | 6400              |
|         | K50501 | Skid   | 400      |                   |                     | 4000              |
| 28 × 40 | K482   | Carton | 430      | 400               | 16                  | 6400              |
|         | K50502 | Skid   | 430      |                   |                     | 4000              |

Brightness-94 Opacity-99 Paper Gloss-72 Caliper - .0090 PPI-222

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12 | K12102 | Carton | 83       | 600               | 40                 | 24000             |
| 19 × 13 | K13671 | Carton | 95       | 600               | 36                 | 21600             |

Brightness-94 Opacity-99 Paper Gloss - 72 Caliper - .0090

PPI-222 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 18 × 12   | K13081 | Carton | 83       | 600               | 40                 | 24000             |  |  |
| 19 × 13   | K13111 | Carton | 95       | 600               | 36                 | 21600             |  |  |
| 20 <sup>13</sup> / <sub>16</sub> x 29 <sup>1</sup> / <sub>2</sub> | K13114 | Carton | 236      | 400               | 20                 | 8000              |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 120lb/325gsm

Brightness-94 Opacity-99 Paper Gloss-72 Caliper - .0111 PPI-180

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 20×26   | K484   | Carton | 240      | 600               | 16                 | 9600               |
| 23 × 35 | K485   | Carton | 372      | 400               | 16                 | 6400               |
| 25 × 38 | K487   | Carton | 438      | 300               | 16                 | 4800               |
| 26 × 40 | K488   | Carton | 480      | 300               | 16                 | 4800               |
|         | K12519 | Skid   | 480      |                   |                    | 3600               |
| 28 × 40 | K489   | Carton | 516      | 300               | 16                 | 4800               |
|         | K10981 | Skid   | 516      |                   |                    | 3000               |

Brightness-94 Opacity-99 Paper Gloss-72 Caliper-.0111 PPI-180 ☼10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 17 × 11 | K13673 | Carton | 86       | 500               | 32                 | 16000              |
| 18 × 12 | K13674 | Carton | 100      | 500               | 40                 | 20000              |
| 19 × 13 | K13675 | Carton | 114      | 500               | 36                 | 18000              |

Brightness-94 Opacity-99 Paper Gloss-72 Caliper - .0111 PPI-180 ☼10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |
|---|--------|--------|----------|-------------------|--------------------|--------------------|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |
| 18 × 12   | K13075 | Carton | 100      | 500               | 40                 | 20000              |  |
| 19 × 13   | K13116 | Carton | 114      | 500               | 36                 | 18000              |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13119 | Carton | 283      | 350               | 20                 | 7000               |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

# **Opus Gloss Cover**

#### 130lb/352gsm

Brightness – 94 Opacity – 99 Paper Gloss – 72 Caliper – .0121 PPI – 164

\$10% recycled fiber<sup>1</sup> SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20×26   | K13320 | Carton | 260      | 600               | 16                 | 9600              |
| 23 × 35 | K13321 | Carton | 403      | 375               | 16                 | 6000              |
| 25 × 38 | K13322 | Carton | 476      | 325               | 16                 | 5200              |
| 26 × 40 | K13323 | Carton | 520      | 275               | 16                 | 4400              |
|         | K13324 | Skid   | 520      |                   |                    | 3000              |
| 28 × 40 | K13325 | Carton | 560      | 275               | 16                 | 4400              |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

# **Opus Dull Text**

#### 70lb/104gsm

Brightness – 94 Opacity – 92.5 Paper Gloss – 47 Caliper – .0033 PPI – 602

Caliper – .0033
PPI – 602
\$10% recycled fiber 1
SFI Certified Sourcing
FSC CoC certified 2

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 23 × 35 | K564   | Carton | 119      | 1200              | 16                 | 19200              |
|         | K50602 | Skid   | 119      |                   |                    | 11000              |
| 25 × 38 | K565   | Carton | 140      | 1000              | 16                 | 16000              |
|         | K12506 | Skid   | 140      |                   |                    | 12700              |
| 28 × 40 | K566   | Carton | 166      | 900               | 16                 | 14400              |
|         | K12507 | Skid   | 166      |                   |                    | 12700              |

Brightness−92 Opacity−93.5 Paper Gloss−43 Caliper−.0036 PPI−562 \$10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12758 | Roll   | 49       |
| 23    | K12759 | Roll   | 49       |
| 351/2 | K12760 | Roll   | 49       |
| 38    | K12761 | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Text**

#### 80lb/118gsm

Brightness-94 Opacity-94 Paper Gloss-47 Caliper - .0037 PPI-540

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K567   | Carton | 80       | 2000              | 16                 | 32000             |
| 23 × 35 | K568   | Carton | 136      | 1100              | 16                 | 17600             |
|         | K50605 | Skid   | 136      |                   |                    | 9500              |
| 24 × 36 | K569   | Carton | 146      | 1000              | 16                 | 16000             |
|         | K50609 | Skid   | 146      |                   |                    | 9500              |
| 25 × 38 | K570   | Carton | 160      | 1000              | 16                 | 16000             |
|         | K50610 | Skid   | 160      |                   |                    | 9500              |
| 28 × 40 | K571   | Carton | 188      | 800               | 16                 | 12800             |
|         | K10744 | Skid   | 188      |                   |                    | 8500              |

Brightness-92 Opacity-95 Paper Gloss-43 Caliper - .0042 PPI-482 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K13754 | Roll   | 49       |
| 231/2 | K13755 | Roll   | 49       |
| 261/2 | K13756 | Roll   | 49       |
| 351/2 | K13757 | Roll   | 49       |
| 38    | K8367  | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Text**

#### 80lb/118gsm

Brightness-94 Opacity-94 Paper Gloss-47 Caliper - .0037 PPI-540 ☼10% recycled fiber

FSC CoC certified<sup>2</sup>

| Opacity—94                     | Digital |
|--------------------------------|---------|
| Paper Gloss-47                 |         |
| Caliper0037                    | SIZE    |
| PPI-540                        |         |
| 10% recycled fiber             | 12 × 18 |
| SFI Certified Sourcing         |         |
| ESC CoC certified <sup>2</sup> | 13 × 19 |

| Digital |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18 | K12091 | Carton | 36       | 1500              | 40                 | 60000             |
| 13 × 19 | K13653 | Carton | 42       | 1500              | 40                 | 60000             |

Brightness-94 Opacity-94 Paper Gloss-47 Caliper - . 0037 PPI-540 ♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo |        |        |          |                   |                    |                    |
|-----------------------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE                  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 12 × 18               | K13076 | Carton | 36       | 1500              | 40                 | 60000              |
| 13 × 19               | K13096 | Carton | 42       | 1500              | 36                 | 54000              |
| 29½ × 20⅓,6           | K13099 | Carton | 103      | 1000              | 20                 | 20000              |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

03.23

Effective

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Text**

#### 100lb/148gsm

Brightness-94 Opacity-96 Paper Gloss-47 Caliper - .0047 PPI-426

♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K572   | Carton | 100      | 1600              | 16                  | 25600             |
| 23 × 35 | K573   | Carton | 169      | 900               | 16                  | 14400             |
|         | K50611 | Skid   | 169      |                   |                     | 7500              |
| 24 × 36 | K50612 | Skid   | 182      |                   |                     | 7500              |
| 25 × 38 | K575   | Carton | 200      | 800               | 16                  | 12800             |
|         | K50614 | Skid   | 200      |                   |                     | 7500              |
| 28 × 40 | K578   | Carton | 236      | 600               | 16                  | 9600              |
|         | K50423 | Skid   | 236      |                   |                     | 7500              |

Brightness-92 Opacity-96.5 Paper Gloss-47 Caliper -. 0048 PPI-416 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web         |        |        |          |
|-------------|--------|--------|----------|
| SIZE        | CODE   | PUT UP | DIAMETER |
| <b>26</b> ½ | K12675 | Roll   | 49       |
| 351/2       | K12677 | Roll   | 49       |
| 38          | K12679 | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Text**

## 100lb/148gsm

Brightness-94 Opacity-96

| Paper Gloss-47                 |
|--------------------------------|
| Caliper 0047                   |
| PPI-426                        |
| ☼10% recycled fiber            |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |

| Digital |        |        |          |                   |                     |                   |  |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|--|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |  |
| 12 × 18 | K12085 | Carton | 45       | 1200              | 40                  | 48000             |  |
| 13 × 19 | K13655 | Carton | 52       | 1000              | 40                  | 40000             |  |

Brightness-94 Opacity-96 Paper Gloss-47 Caliper - . 0047 PPI-426 ♣10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |
|-------------------------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 12 × 18                 | K13077 | Carton | 45       | 1200              | 40                 | 48000              |
| 13 × 19                 | K13082 | Carton | 52       | 1000              | 36                 | 36000              |
| 29½ × 20⅓ <sub>16</sub> | K13085 | Carton | 129      | 800               | 20                 | 16000              |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- $1\,$  Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

Effective

Effective

03.23

## **Opus Dull Cover**

#### 65lb/176gsm

Brightness-94 Opacity-97.5 Paper Gloss-47 Caliper - . 0061 PPI-330

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                    |                    |                   |
|---------|--------|--------|----------|--------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS /<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K13349 | Carton | 201      | 750                | 16                 | 12000             |
| 25 × 38 | K13350 | Carton | 238      | 625                | 16                 | 10000             |
|         | K13351 | Skid   | 238      |                    |                    | 4500              |
| 28 × 40 | K12794 | Carton | 280      | 500                | 16                 | 8000              |

Brightness-92 Opacity-97.5 Paper Gloss-47

Caliper - .0061 PPI-328 ♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 38   | K12815 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Cover**

#### 80lb/216gsm

Brightness-94 Opacity-98

| Paper Gloss-47                 |
|--------------------------------|
| Caliper0076                    |
| PPI-262                        |
| ☼10% recycled fiber¹           |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>2</sup> |

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 20×26   | K583   | Carton | 160      | 1000              | 16                 | 16000              |
| 23 × 35 | K584   | Carton | 248      | 600               | 16                 | 9600               |
|         | K12521 | Skid   | 248      |                   |                    | 5500               |
| 25 × 38 | K585   | Carton | 292      | 500               | 16                 | 8000               |
|         | K10745 | Skid   | 292      |                   |                    | 4500               |
| 26 × 40 | K586   | Carton | 320      | 500               | 16                 | 8000               |
|         | K12903 | Skid   | 320      |                   |                    | 4500               |
| 28 × 40 | K587   | Carton | 344      | 400               | 16                 | 6400               |
|         | K50623 | Skid   | 344      |                   |                    | 5000               |

Brightness-92 Opacity-98 Paper Gloss-47 Caliper - .0079 PPI-252 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 351/2 | K12538 | Roll   | 50       |
| 38    | K12787 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

Effective

03.23

## **Opus Dull Cover**

#### 80lb/216gsm

Brightness – 94 Opacity – 98 Paper Gloss – 47 Caliper – .0076 PPI – 262

♣10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital |        |        |          |                   |                     |                    |
|---------|--------|--------|----------|-------------------|---------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS /<br>PALLET |
| 17 × 11 | K12095 | Carton | 58       | 1000              | 32                  | 32000              |
| 18 × 12 | K12100 | Carton | 66       | 750               | 40                  | 30000              |
| 19 × 13 | K13657 | Carton | 76       | 750               | 36                  | 27000              |

Brightness—94
Opacity—98
Paper Gloss—47
Caliper—.0076
PPI—262
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital for HP Indigo   |        |        |          |                   |                    |                   |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |
| 18 × 12   | K13078 | Carton | 66       | 750               | 40                 | 30000             |  |
| 19×13   | K13101 | Carton | 76       | 750               | 36                 | 27000             |  |
| 20 <sup>13</sup> / <sub>16</sub> x 29 <sup>1</sup> / <sub>2</sub> | K13104 | Carton | 189      | 500               | 20                 | 10000             |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

## **Opus Dull Cover**

## 100lb/270gsm

Brightness−94
Opacity−99
Paper Gloss−47
Caliper−.0100
PPI−200
♣10% recycled fiber¹
SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                     |          |
|---------|--------|--------|----------|-------------------|---------------------|----------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS A |
| 20 × 26 | K588   | Carton | 200      | 800               | 16                  | 12800    |
|         | K12904 | Skid   | 200      |                   |                     | 7000     |
| 23 × 35 | K589   | Carton | 310      | 500               | 16                  | 8000     |
|         | K12524 | Skid   | 310      |                   |                     | 4000     |
| 25 × 38 | K594   | Carton | 366      | 400               | 16                  | 6400     |
|         | K10747 | Skid   | 366      |                   |                     | 3500     |
| 26 × 40 | K596   | Carton | 400      | 400               | 16                  | 6400     |
|         | K12520 | Skid   | 400      |                   |                     | 400      |
| 28 × 40 | K597   | Carton | 430      | 400               | 16                  | 6400     |
|         | K10746 | Skid   | 430      |                   |                     | 3500     |

Brightness—94
Opacity—99
Paper Gloss—47
Caliper—.0100
PPI—200
\$10% recycled fiber¹
SFI Certified Sourcing
FSC CoC certified²

| Digital |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 17 × 11 | K12101 | Carton | 72       | 750               | 32                 | 24000              |
| 18 × 12 | K12097 | Carton | 83       | 600               | 40                 | 24000              |
| 19×13   | K13659 | Carton | 95       | 600               | 36                 | 21600              |

Brightness—94
Opacity—99
Paper Gloss—47
Caliper—0100
PPI—200
\$10% recycled fiber¹
SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |  |
|---|--------|--------|----------|-------------------|--------------------|--------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |  |
| 18 × 12   | K13079 | Carton | 83       | 600               | 40                 | 24000              |  |  |
| 19 × 13   | K13087 | Carton | 95       | 600               | 36                 | 21600              |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13090 | Carton | 236      | 400               | 20                 | 8000               |  |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit *sappi.com* for the most up-to-date product specifications and available certifications.

## **Opus Dull Cover**

#### 120lb/325gsm

Brightness-94 Opacity-99 Paper Gloss-47 Caliper -. 0120 PPI-166

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 20×26   | K598   | Carton | 240      | 600               | 16                 | 9600               |
|         | K12908 | Skid   | 240      |                   |                    | 6000               |
| 23 × 35 | K599   | Carton | 372      | 400               | 16                 | 6400               |
|         | K12905 | Skid   | 372      |                   |                    | 3000               |
| 25 × 38 | K600   | Carton | 438      | 300               | 16                 | 4800               |
|         | K12522 | Skid   | 438      |                   |                    | 3300               |
| 26 × 40 | K601   | Carton | 480      | 300               | 16                 | 4800               |
|         | K12523 | Skid   | 480      |                   |                    | 3300               |
| 28 × 40 | K10980 | Carton | 516      | 300               | 16                 | 4800               |
|         | K12906 | Skid   | 516      |                   |                    | 3000               |

Brightness-94 Opacity-99 Paper Gloss-47 Caliper - .0120 PPI-166 ☼10% recycled fiber¹ SFI Certified Sourcing

FSC CoC certified<sup>2</sup>

| Digital |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 18 × 12 | K13662 | Carton | 100      | 500               | 40                 | 20000              |
| 19×13   | K13663 | Carton | 114      | 500               | 36                 | 18000              |

Brightness-94 Opacity-99 Paper Gloss-47 Caliper - .0120 PPI-166 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Digital for HP Indigo   |        |        |          |                   |                    |                    |  |
|---|--------|--------|----------|-------------------|--------------------|--------------------|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |  |
| 18 × 12   | K13080 | Carton | 100      | 500               | 40                 | 20000              |  |
| 19×13   | K13092 | Carton | 114      | 500               | 36                 | 18000              |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13095 | Carton | 283      | 350               | 20                 | 7000               |  |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Dull Cover**

#### 130lb/352gsm

Brightness-94 Opacity-99

| Paper Gloss – 47                |
|---------------------------------|
| Caliper0134                     |
| PPI-148                         |
| 10% recycled fiber <sup>1</sup> |
| SFI Certified Sourcing          |
| FSC CoC certified <sup>2</sup>  |

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 20×26   | K13313 | Carton | 260      | 600               | 16                 | 9600               |
| 23 × 35 | K13314 | Carton | 403      | 375               | 16                 | 6000               |
| 25 × 38 | K13315 | Carton | 476      | 325               | 16                 | 5200               |
|         | K13316 | Skid   | 476      |                   |                    | 3000               |
| 26 × 40 | K13317 | Carton | 520      | 275               | 16                 | 4400               |
|         | K13318 | Skid   | 520      |                   |                    | 3000               |
| 28 × 40 | K13319 | Carton | 560      | 275               | 16                 | 4400               |
|         |        |        |          |                   |                    |                    |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- $1\,$  Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most

## **Opus Satin Text**

#### 60lb/89gsm

Brightness-92 Opacity-93 Paper Gloss-40 Caliper - .0030 PPI-658 ♣10% recycled fiber¹

SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 351/2 | K12571 | Roll   | 49       |
| 38    | K12572 | Roll   | 49       |

## 70lb/104gsm

Brightness-92 Opacity-94 Paper Gloss-40

| Calipel —.0036                  |
|---------------------------------|
| PPI-562                         |
| 10% recycled fiber <sup>1</sup> |
| SFI Certified Sourcing          |
| Either FSC, SFI, or             |
| PEFC CoC certified <sup>2</sup> |

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 261/2 | K12518 | Roll   | 49       |
| 351/2 | K12708 | Roll   | 49       |
| 38    | K12830 | Roll   | 49       |

## 80lb/118gsm

Brightness-92 Opacity-95 Paper Gloss-40 Caliper - .0042 PPI-482 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web         |        |        |          |
|-------------|--------|--------|----------|
| SIZE        | CODE   | PUT UP | DIAMETER |
| <b>26</b> ½ | K12707 | Roll   | 49       |
| 351/2       | K12709 | Roll   | 49       |
| 38          | K2326  | Roll   | 49       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

2 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Matte Text**

## 60lb/89gsm

Brightness-92 Opacity-91.5 Paper Gloss-22

| Caliper0032                     |
|---------------------------------|
| PPI-626                         |
| 10% recycled fiber              |
| SFI Certified Sourcing          |
| Either FSC, SFI, or             |
| PEFC CoC certified <sup>2</sup> |
|                                 |

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  |        | PUT UP | DIAMETER |
| 351/2 | K12700 | Roll   | 50       |

## 70lb/104gsm

Brightness-94

| Opacity — 93.5                 |
|--------------------------------|
| Paper Gloss-22                 |
| Caliper0038                    |
| PPI-526                        |
| ☼10% recycled fiber¹           |
| SFI Certified Sourcing         |
| FSC CoC certified <sup>3</sup> |
|                                |

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 23 × 35 | K532   | Carton | 119      | 1200              | 16                 | 19200              |
|         | K50503 | Skid   | 119      |                   |                    | 9500               |
| 25 × 38 | K534   | Carton | 140      | 1000              | 16                 | 16000              |
|         | K50506 | Skid   | 140      |                   |                    | 9500               |
| 28 × 40 | K535   | Carton | 166      | 900               | 16                 | 14400              |

Brightness-92 Opacity-93.5 Paper Gloss-22 Caliper - . 0038 PPI-526 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12698 | Roll   | 50       |
| 261/2 | K12821 | Roll   | 50       |
| 351/2 | K12701 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

## **Opus Matte Text**

#### 80lb/118gsm

Brightness-94 Opacity-94.5 Paper Gloss - 36 Caliper -. 0041 PPI-488

☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K539   | Carton | 136      | 1100              | 16                  | 17600             |
|         | K50512 | Skid   | 136      |                   |                     | 8000              |
| 25 × 38 | K542   | Carton | 160      | 1000              | 16                  | 16000             |
|         | K50514 | Skid   | 160      |                   |                     | 8000              |
| 28 × 40 | K543   | Carton | 188      | 800               | 16                  | 12800             |
|         | K50515 | Skid   | 188      |                   |                     | 8000              |

Brightness-92 Opacity-95 Paper Gloss - 36 Caliper-.0041 PPI-488 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12699 | Roll   | 50       |
| 351/2 | K12702 | Roll   | 50       |

#### 100lb/148gsm

Brightness-94 Opacity-97 Paper Gloss - 36 Caliper - .0053 PPI-376 ☼10% recycled fiber¹ SFI Certified Sourcing FSC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K549   | Carton | 169      | 900               | 16                 | 14400             |
|         | K50519 | Skid   | 169      |                   |                    | 6000              |
| 25 × 38 | K553   | Carton | 200      | 800               | 16                 | 12800             |
|         | K50526 | Skid   | 200      |                   |                    | 6000              |
| 28 × 40 | K554   | Carton | 236      | 600               | 16                 | 9600              |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus Matte Cover**

#### 65lb/176gsm

Brightness-94 Opacity-97.5 Paper Gloss - 36 Caliper - .0072 Guar. Caliper-7pt1 PPI-278 ☼10% recycled fiber² SFI Certified Sourcing FSC CoC certified3

| Sheets  |        |        |          |                   |                     |                   |
|---------|--------|--------|----------|-------------------|---------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS /<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K1736  | Carton | 201      | 750               | 16                  | 12000             |
| 26 × 40 | K1737  | Carton | 260      | 600               | 16                  | 9600              |
|         | K12902 | Skid   | 260      |                   |                     | 5500              |
| 28 × 40 | K1738  | Carton | 280      | 500               | 16                  | 8000              |

Brightness-92 Opacity-97.5 Paper Gloss - 36 Caliper - .0072 Guar. Caliper-7pt1 PPI-278

☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified4

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 351/6 | K12703 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 4 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

Effective

03.23

## **Opus PS Gloss Cover**

#### 70lb/190gsm

Brightness-94 Opacity-98 Paper Gloss-65 Caliper - .0071 Guar. Caliper-7pt1 PPI-282 ☼10% recycled fiber² SFI Certified Sourcing FSC CoC certified3

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 25 × 38 | K12005 | Skid   | 256      |                   |                    | 5000               |
| 28 × 40 | K12006 | Skid   | 302      |                   |                    | 5000               |

Brightness-92 Opacity-98 Paper Gloss - 65 Caliper - . 0071 Guar. Caliper-7pt1 PPI-282

☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified⁴

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12553 | Roll   | 50       |
| 23    | K12585 | Roll   | 50       |
| 261/2 | K12022 | Roll   | 50       |
| 351/2 | K12023 | Roll   | 50       |
| 38    | K12021 | Roll   | 50       |

#### 78lb/210gsm

Brightness-92 Opacity-98 Paper Gloss-65 Caliper - .0080

PPI-250 ☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified4

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 19    | K12028 | Roll   | 50       |
| 351/2 | K12575 | Roll   | 50       |
| 38    | K12576 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 4 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus PS Gloss Cover**

#### 87lb/235gsm

Brightness-94 Opacity-98 Paper Gloss-65 Caliper - .0092 Guar. Caliper-9pt1 PPI-218 ☼10% recycled fiber² SFI Certified Sourcing FSC CoC certified3

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 24 × 36 | K14170 | Skid   | 290      |                   |                    | 4000               |
| 25 × 38 | K12008 | Carton | 318      | 500               | 16                 | 8000               |
|         | K12011 | Skid   | 318      |                   |                    | 4000               |
| 26 × 40 | K12012 | Skid   | 348      |                   |                    | 4000               |
| 28 × 40 | K12010 | Carton | 374      | 400               | 16                 | 6400               |
|         | K12013 | Skid   | 374      |                   |                    | 4000               |

Brightness-92 Opacity-98 Paper Gloss-65 Caliper - . 0092 Guar. Caliper-9pt1 PPI-218 ☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12799 | Roll   | 50       |
| 231/2 | K12588 | Roll   | 50       |
| 261/2 | K12035 | Roll   | 50       |
| 35    | K12587 | Roll   | 50       |
| 351/2 | K12036 | Roll   | 50       |
| 38    | K12037 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 4 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

Effective

03.23

## **Opus PS Dull Cover**

#### 70lb/190gsm

Brightness-92 Opacity-98.0 Paper Gloss-43 Caliper - . 0071 Guar. Caliper-7pt1 PPI-282 ☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified3

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 351/2 | K12773 | Roll   | 50       |
| 38    | K12802 | Roll   | 50       |

#### 87lb/235gsm

Brightness-92 Opacity-98 Paper Gloss Caliper - .00 Guar. Calipe PPI-218 €10% recy SFI Certifie

PEFC CoC certified<sup>3</sup>

| Opacity—98.0   | Web  |        |        |         |
|--|------|--------|--------|---------|
| Paper Gloss – 43<br>Caliper – .0092  | SIZE | CODE   | PUT UP | DIAMETE |
| Guar. Caliper—9pt <sup>4</sup><br>PPI—218  | 18   | K12803 | Roll   | 50      |
| \$10% recycled fiber <sup>2</sup><br>SFI Certified Sourcing<br>Either FSC, SFI, or | 38   | K12805 | Roll   | 50      |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 4 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Opus PS Matte Text Reply Card**

## 105lb/155gsm

Brightness-94 Opacity-97.5 Paper Gloss-15 Caliper - .0072 Guar. Caliper-7pt1 PPI-278 ☼10% recycled fiber² SFI Certified Sourcing

FSC CoC certified3

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 25 × 38 | K12113 | Skid   | 210      |                   |                    | 5000               |
| 28 × 40 | K12110 | Carton | 248      | 600               | 16                 | 9600               |

Brightness-92 Opacity-97.5 Paper Gloss-15 Caliper - . 0072 Guar. Caliper-7pt1 PPI-278

☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified4

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 231/2 | K12108 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 4 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

## **Opus PS Matte Cover**

#### 80lb/216gsm

Brightness—94
Opacity—98.5
Paper Gloss—36
Caliper—.0093
Guar. Caliper—9pt¹
PPI—214
\$10% recycled fiber²
SFI Certified Sourcing
FSC CoC certified³

| Sheets  |        |        |          |                   |                    |                    |
|---------|--------|--------|----------|-------------------|--------------------|--------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS /<br>PALLET |
| 23 × 35 | K12119 | Carton | 248      | 600               | 16                 | 9600               |
|         | K12389 | Skid   | 248      |                   |                    | 4400               |
| 25 × 38 | K12120 | Carton | 292      | 500               | 16                 | 8000               |
|         | K12388 | Skid   | 292      |                   |                    | 4400               |
| 26×40   | K12116 | Carton | 320      | 500               | 16                 | 8000               |
|         | K12118 | Skid   | 320      |                   |                    | 4000               |
| 28 × 40 | K12117 | Carton | 344      | 400               | 16                 | 6400               |
|         | K12121 | Skid   | 344      |                   |                    | 4400               |

Brightness—92 Opacity—98.5 Paper Gloss—36 Caliper—.0093 Guar. Caliper—9pt<sup>1</sup> PPI—214

\$10% recycled fiber<sup>2</sup>
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified<sup>4</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 38   | K12047 | Roll   | 50       |

All grades are acid-free and meet the permanence of paper criteria specified by ANSI/NISO Z39.48-1992 (R2009). Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching and recycled fiber consistent with EPA definitions, which is processed chlorine-free (PCF). Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Opus sheets are sold standard with 10% recycled fiber. Opus web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Opus sheet products are sold standard with SFI Certified Sourcing and FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request either an SFI or PEFC CoC claim, based on availability of credits.
- 4 All Opus web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.

  All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.



# The fine line between style and substance.

Beauty and strength, together in one powerful package that's perfect for publishers, direct mailers, catalogers, and printers alike. At Somerset, our one-of-a-kind manufacturing process produces sturdy paper with a smooth surface that allows images to pop off the page. The strength of the product translates directly into remarkable on-press efficiency and a heftier, more substantial feel in the finished piece. With Somerset®, you always get stunning results that demand your audience's attention.

## A new definition of powerful

Somerset is the only mill that combines papermaking, coating, and calendering into a single continuous process. This means a stronger paper with more bulk and fewer splices, which is critical to high-volume web printing. The process also creates a smoother surface that allows ink to stay higher up on the paper for superior hold-out and print gloss—delivering rich, arresting imagery and a completely immersive experience.

## **Peace of mind**

Somerset paper is built to withstand the demands of our continuous 4,000-feet-per-minute manufacturing process without breaking, making it the perfect solution for high-intensity printing environments. Its incredible durability means fewer web breaks and less downtime, which also means less hassle and fewer surprise costs. And the Somerset Mill uses three machines—all capable of producing a high volume of multiple weights and finishes—helping to ensure your project comes in on time.

## A difference you can feel

Somerset delivers a far more substantial feel when compared to similar basis weight papers. This is critical for publishers and direct mailers because it allows for a lighter weight while maintaining a powerful, tactile experience that your customers will want to keep in their hands longer.

## **Stocked basis weights**

| Web              |                          |                  |       |       |       |
|------------------|--------------------------|------------------|-------|-------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | SATIN | MATTE |
| Text             | 50/74                    |                  | •     | •     | •     |
|                  | 60/89                    |                  | •     | •     | •     |
|                  | 70/104                   |                  | •     | •     | •     |
|                  | 80/118                   |                  | •     | •     | •     |
|                  | 100/148                  |                  | •     | •     | •     |
|                  | 105/155 <sup>1</sup>     | 7pt²             |       |       | •     |
| Cover            | 68/185                   | 7pt²             | •     |       |       |
|                  | 80/216                   | 7pt²             | •     |       |       |
|                  | 80/216                   | 9pt³             |       |       | •     |
|                  | 82/222                   | 9pt³             | •     |       |       |

## **Specifications**

Nanes

Gloss, Satin, Matte

PUT UP

Rolls

SHADE

Blue white

L\*a\*b PAPER WHITE

95.00, 1.00, -2.10

RECYCLED FIBER CONTENT WEB

10% available upon request

CERTIFICATIONS

SFI Certified Sourcing
Either FSC, SFI, or PEFC
CoC certified<sup>5</sup>

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Matte Reply Card.
- 2 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 3 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements
- 4 CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
- 5 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Gloss Text**

#### 50lb/74gsm

Brightness-88 Opacity-90.5 Paper Gloss-70 Caliper - .0024 PPI-820

♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K12505 | Roll   | 49       |
| 38   | K13683 | Roll   | 49       |

#### 60lb/89gsm

Brightness-88 Opacity-92 Paper Gloss-70 Caliper-.0029 PPI-690 ♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Web                                   |        |        |          |
|---------------------------------------|--------|--------|----------|
| SIZE                                  | CODE   | PUT UP | DIAMETER |
| <b>17</b> <sup>1</sup> / <sub>2</sub> | K12710 | Roll   | 49       |
| 18                                    | K12714 | Roll   | 49       |
| 23                                    | K11849 | Roll   | 49       |
| 231/2                                 | K12718 | Roll   | 49       |
| 261/2                                 | K39937 | Roll   | 49       |
| 33                                    | K36265 | Roll   | 49       |
| 331/2                                 | K12720 | Roll   | 49       |
| 341/2                                 | K35985 | Roll   | 49       |
| 35                                    | K35987 | Roll   | 49       |
| 351/2                                 | K1644  | Roll   | 49       |
| 38                                    | K11807 | Roll   | 49       |
| 52                                    | K12354 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

## **Somerset Gloss Text**

#### 70lb/104gsm

Brightness-88 Opacity-93 Ca PF SF Eit

| aper Gloss – 70                |
|--------------------------------|
| aliper0034                     |
| PI-590                         |
| 10% recycled fiber1            |
| FI Certified Sourcing          |
| ither FSC, SFI, or             |
| EFC CoC certified <sup>2</sup> |

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 171/2 | K12711 | Roll   | 49       |
| 18    | K12715 | Roll   | 49       |
| 23    | K11851 | Roll   | 49       |
| 231/2 | K39942 | Roll   | 49       |
| 261/2 | K11852 | Roll   | 49       |
| 33    | K35988 | Roll   | 49       |
| 331/2 | K12721 | Roll   | 49       |
| 341/2 | K35989 | Roll   | 49       |
| 35    | K35990 | Roll   | 49       |
| 351/2 | K39957 | Roll   | 49       |
| 38    | K39959 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

<sup>1</sup> Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>2</sup> All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>2</sup> All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Gloss Text**

#### 80lb/118gsm

Brightness – 88 Opacity – 94 Paper Gloss – 70 Caliper – .0040 PPI – 504

PPI-504
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 171/2 | K12712 | Roll   | 49       |
| 18    | K12580 | Roll   | 49       |
| 19    | K12832 | Roll   | 49       |
| 23    | K12716 | Roll   | 49       |
| 231/2 | K12581 | Roll   | 49       |
| 261/2 | K12833 | Roll   | 49       |
| 33    | K39971 | Roll   | 49       |
| 331/2 | K12604 | Roll   | 49       |
| 341/2 | K35991 | Roll   | 49       |
| 35    | K35992 | Roll   | 49       |
| 351/2 | K12053 | Roll   | 49       |
| 38    | K39206 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

## **Somerset Gloss Text**

#### 100lb/148gsm

Brightness—88 Opacity—96 Paper Gloss—70 Caliper—.0052 PPI—382 \$10% recycled fi

Caliper—.0052
PPI—382
♣10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 171/2 | K12713 | Roll   | 49       |
| 23    | K12717 | Roll   | 49       |
| 231/2 | K12583 | Roll   | 49       |
| 261/2 | K10889 | Roll   | 49       |
| 33    | K10890 | Roll   | 49       |
| 35    | K12722 | Roll   | 49       |
| 351/2 | K12509 | Roll   | 49       |
| 38    | K12584 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

<sup>1</sup> Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>2</sup> All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>2</sup> All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Gloss Cover**

#### 68lb/185gsm

Brightness – 88 Opacity – 98 Paper Gloss – 65 Caliper – .0072 Guar. Caliper – 7pt¹ PPI – 278 ♣10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Web   |        |        |          |  |  |
|-------|--------|--------|----------|--|--|
| SIZE  | CODE   | PUT UP | DIAMETER |  |  |
| 18    | K13589 | Roll   | 49       |  |  |
| 23    | K13248 | Roll   | 49       |  |  |
| 261/2 | K13369 | Roll   | 49       |  |  |
| 351/2 | K13249 | Roll   | 49       |  |  |
| 38    | K13250 | Roll   | 49       |  |  |

## 80lb/216gsm

Brightness—88
Opacity—98
Paper Gloss—70
Caliper—.0073
Guar. Caliper—7pt¹
PPI—276
\$10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K12816 | Roll   | 49       |
| 351/2 | K12817 | Roll   | 49       |
| 38    | K12818 | Roll   | 49       |

#### 82lb/222gsm

Brightness—88 Opacity—98 Paper Gloss—65 Caliper—.0092 Guar. Caliper—9pt<sup>1</sup> PPI—218 \$10% recycled fiber<sup>2</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 23    | K13911 | Roll   | 49       |
| 261/2 | K13912 | Roll   | 49       |
| 35    | K13913 | Roll   | 49       |
| 351/2 | K13914 | Roll   | 49       |
| 38    | K13915 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Satin Text**

#### 50lb/74gsm

Brightness-88
Opacity-90.5
Paper Gloss-28
Caliper-.0027
PPI-730
\$10% recycled fiber¹

Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K13682 | Roll   | 49       |

#### 60lb/89gsm

Brightness—88 Opacity—93 Paper Gloss—30 Caliper—.0031 PPI—656 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 35    | K11809 | Roll   | 49       |
| 351/2 | K12737 | Roll   | 49       |
| 38    | K12527 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Satin Text**

#### 70lb/104gsm

Brightness-88 Opacity-94 Paper Gloss-30 Caliper - .0036 PPI-558

☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 35    | K11808 | Roll   | 49       |
| 351/2 | K12738 | Roll   | 49       |
| 38    | K33436 | Roll   | 49       |

## 80lb/118gsm

Brightness-88 Opacity-95 Paper Gloss-30 Caliper - .0042

PPI-478 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 351/2 | K12532 | Roll   | 49       |

## 100lb/148gsm

Brightness-88 Opacity-96 Paper Gloss - 30 Caliper - .0054 PPI-368

♣10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K12722 | Poll   | 40       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Matte Text**

## 50lb/74gsm<sup>1</sup>

Brightness-88 Opacity-92 Paper Gloss-18 Caliper-.0029 PPI-700

☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K32370 | Roll   | 49       |

## 60lb/89gsm

Brightness-88 Opacity-93 Paper Gloss-22 Caliper - .0032 PPI-620 ☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>3</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K32362 | Roll   | 49       |
| 35    | K12729 | Roll   | 49       |
| 351/2 | K12732 | Roll   | 49       |
| 38    | K32363 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges
- 2 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

## **Somerset Matte Text**

#### 70lb/104gsm

Brightness – 88 Opacity – 94 Paper Gloss – 22 Caliper – .0038 PPI – 526

\$10% recycled fiber<sup>1</sup>
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K17053 | Roll   | 49       |
| 231/2 | K12725 | Roll   | 49       |
| 261/2 | K12727 | Roll   | 49       |
| 30    | K13552 | Roll   | 49       |
| 35    | K12730 | Roll   | 49       |
| 351/2 | K12733 | Roll   | 49       |
| 38    | K11857 | Roll   | 49       |

## 80lb/118gsm

Brightness—88 Opacity—95 Paper Gloss—22 Caliper—.0045 PPI—448 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 231/2 | K12726 | Roll   | 49       |
| 35    | K12731 | Roll   | 49       |
| 351/2 | K12734 | Roll   | 49       |

#### 100lb/148gsm

Brightness—88
Opacity—96
Paper Gloss—23
Caliper—.0058
PPI—346
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 35    | K17318 | Roll   | 49       |
| 351/2 | K13741 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Matte Text Reply Card**

#### 105lb/155gsm

Brightness−88
Opacity−97
Paper Gloss−15
Caliper−.0071
Guar. Caliper−7pt¹
PPI−282
♣10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified³

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 18    | K13134 | Roll   | 49       |
| 23    | K13133 | Roll   | 49       |
| 261/2 | K13132 | Roll   | 49       |
| 351/2 | K13131 | Roll   | 49       |
| 38    | K13130 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Meets SIMRA/NASTA specifications.
- 2 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Somerset Matte Cover**

#### 80lb/216gsm

Brightness – 88 Opacity – 98.5 Paper Gloss – 25 Caliper – .0094 Guar. Caliper – 9pt¹ PPI – 214 ♣10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Web   |        |        |          |
|-------|--------|--------|----------|
| SIZE  | CODE   | PUT UP | DIAMETER |
| 261/2 | K13677 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Somerset web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Somerset web products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.



# The fine line between price and performance.

## Greatness doesn't guarantee an unlimited budget.

That's why we've engineered Flo® to give you the quality you expect from Sappi paper at a price that makes it hard to resist. Flo's superior color balance helps your brand look its best under a variety of lighting conditions. And because Flo is a great match to most standard proofing media, what you see before you print is what you get in the final product. With Flo, you get an exceptional experience that fits within your cost structure.

# Celebrated for so much more than price

Sappi is chosen for our quality ingredients, environmental responsibility, reliable on-press performance, and attention to the smallest of details. Flo brings you dynamic features at a practical price so you can meet the demands of your brand and your budget.

## A natural beauty

Flo's superior print surface, balanced shade, and optimized brightness provide accurate color reproduction while enhancing vibrant, fully saturated colors. With Flo, skin tones look natural, images are true, and critical colors are spot-on—reflecting beautifully on your brand.

# What you saw is what vou'll see

Flo is engineered for consistency—both in surface uniformity and for optimal printed color stability. It's the printer's choice for accurately matching color proofs and ensuring that what you saw on press is what you'll see in the final piece. Your printed color becomes more predictable in any environment—whether on press, in the office, or outside in natural lighting conditions.

## Stocked basis weights

| Sheets           |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | DULL | MATTE |
| Text             | 60/89                    |                  |       |      | •     |
|                  | 70/104                   |                  | •     | •    | •     |
|                  | 80/118                   |                  | •     | •    | •     |
|                  | 100/148                  |                  | •     | •    | •     |
|                  | 110/162 <sup>1</sup>     | 7pt²             |       |      | •     |
| Cover            | 80/216                   | 7pt²             | •     | •    |       |
|                  | 80/216                   | 9pt³             |       |      | •     |
|                  | 100/270                  | 9pt³             | •     | •    |       |
|                  | 120/325                  |                  | •     | •    |       |

| Web              |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | DULL | MATTE |
| Text             | 40/59                    |                  | •     |      | •     |
|                  | 45/67                    |                  | •     |      |       |
|                  | 50/74                    |                  | •     |      |       |
|                  | 60/89                    |                  | •     |      |       |
|                  | 70/104                   |                  | •     |      |       |

| Digital          |                          |                  |       |      |       |
|------------------|--------------------------|------------------|-------|------|-------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | DULL | MATTE |
| Text             | 80/118                   |                  | •     | •    |       |
|                  | 100/148                  |                  | •     | •    |       |
| Cover            | 80/216                   | 7pt²             | •     | •    |       |
|                  | 100/270                  | 9pt³             | •     | •    |       |
|                  | 120/325                  |                  | •     | •    |       |

## **Specifications**

INISHES

Gloss, Dull, Matte

PUT UP

Cartons, Skids, Rolls

SHADE

Blue white

L\*a\*b PAPER WHITE SHEETS<sup>4</sup> 95.80, 1.22, -3.25

92.50, 0.82, -1.75

L\*a\*b PAPER WHITE WEB (40-50LB)4

L\*a\*b PAPER WHITE WEB (60-70LB)<sup>4</sup>

93.40, 0.93, -1.95

RECYCLED FIBER CONTENT SHEETS

10%

RECYCLED FIBER CONTENT WEB

10% available upon request

RECYCLED FIBER CONTENT DIGITAL

10%

CERTIFICATIONS

SFI Certified Sourcing
Either FSC, SFI, or PEFC
CoC certified<sup>5</sup>

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Matte Reply Card.
- 2 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 3 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements
- 4 CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
- 5 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
  All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Gloss Text

## 40lb/59gsm

Brightness—82 Opacity—88 Paper Gloss—55 Caliper—.0020 PPI—996 SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>1</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K16453 | Roll   | 49       |

## 45lb/67gsm

Brightness – 82 Opacity – 89.5 Paper Gloss – 60 Caliper – .0023 PPI – 882

PPI—882 \$10% recycled fiber<sup>2</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>1</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K16459 | Roll   | 49       |

## 50lb/74gsm

Brightness – 82 Opacity – 90 Paper Gloss – 60 Caliper – .0025 PPI – 792

PPI—792 \$10% recycled fiber<sup>2</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>1</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K16452 | Roll   | 49       |

#### 60lb/89gsm

Brightness—83 Opacity—92 Paper Gloss—60 Caliper—.0029 PPI—680

\$10% recycled fiber<sup>2</sup>
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified<sup>1</sup>

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K13680 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Gloss Text**

#### 70lb/104gsm

Brightness—90 Opacity—91.5 Paper Gloss—68 Caliper—.0031 PPI—638 \$10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11029 | Carton | 70       | 2000              | 16                 | 32000             |
|         | K11024 | Skid   | 70       |                   |                    | 22000             |
| 23 × 35 | K11030 | Carton | 119      | 1200              | 16                 | 19200             |
|         | K11025 | Skid   | 119      |                   |                    | 11000             |
| 24 × 36 | K11031 | Carton | 128      | 1200              | 16                 | 19200             |
|         | K11026 | Skid   | 128      |                   |                    | 11000             |
| 25 × 38 | K11032 | Carton | 140      | 1000              | 16                 | 16000             |
|         | K11027 | Skid   | 140      |                   |                    | 11000             |
| 28 × 40 | K11033 | Carton | 166      | 900               | 16                 | 14400             |
|         | K11028 | Skid   | 166      |                   |                    | 11000             |

Brightness −83 Opacity −93 Paper Gloss −60 Caliper −.0035 PPI−572 \$10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified²

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K13693 | Roll   | 49       |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Gloss Text**

#### 80lb/118gsm

Brightness-90 Opacity-93 Paper Gloss-68 Caliper - .0035 PPI-572

☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11039 | Carton | 80       | 2000              | 16                 | 32000             |
|         | K11034 | Skid   | 80       |                   |                    | 20000             |
| 23 × 29 | K11379 | Carton | 112      | 1400              | 16                 | 22400             |
|         | K11841 | Skid   | 112      |                   |                    | 11600             |
| 23 × 35 | K11040 | Carton | 136      | 1100              | 16                 | 17600             |
|         | K11035 | Skid   | 136      |                   |                    | 9500              |
| 24×36   | K11041 | Carton | 146      | 1000              | 16                 | 16000             |
|         | K11036 | Skid   | 146      |                   |                    | 9500              |
| 25 × 38 | K11042 | Carton | 160      | 1000              | 16                 | 16000             |
|         | K11037 | Skid   | 160      |                   |                    | 10000             |
| 28 × 40 | K11043 | Carton | 188      | 800               | 16                 | 12800             |
|         | K11038 | Skid   | 188      |                   |                    | 10000             |

Brightness-90 Opacity-93 Paper Gloss-68 Caliper - .0035 PPI-572 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Digital                 |        |        |          |                   |                    |                   |
|-------------------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17                 | K11943 | Carton | 31       | 2000              | 32                 | 64000             |
| 12 × 18                 | K11947 | Carton | 36       | 1500              | 40                 | 60000             |
| 13 × 19                 | K11955 | Carton | 42       | 1500              | 36                 | 54000             |
| 14 × 20                 | K11951 | Carton | 47       | 1200              | 36                 | 43200             |
| 29½ × 20⅓ <sub>16</sub> | K13237 | Carton | 103      | 1000              | 20                 | 20000             |
|                         | K13685 | Skid   | 103      |                   |                    | 9200              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Gloss Text**

#### 100lb/148gsm

Brightness-90

| Opacity-96.5                    |
|---------------------------------|
| Paper Gloss-68                  |
| Caliper0043                     |
| PPI-466                         |
| ☼10% recycled fiber¹            |
| SFI Certified Sourcing          |
| Either FSC, SFI, or             |
| PEFC CoC certified <sup>2</sup> |

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19 × 25 | K11049 | Carton | 100      | 1600              | 16                 | 25600             |
|         | K11044 | Skid   | 100      |                   |                    | 15000             |
| 23 × 29 | K11380 | Carton | 140      | 1100              | 16                 | 17600             |
|         | K11842 | Skid   | 140      |                   |                    | 8400              |
| 23 × 35 | K11050 | Carton | 169      | 900               | 16                 | 14400             |
|         | K11045 | Skid   | 169      |                   |                    | 7500              |
| 24 × 36 | K11051 | Carton | 182      | 800               | 16                 | 12800             |
|         | K11046 | Skid   | 182      |                   |                    | 8000              |
| 25 × 38 | K11052 | Carton | 200      | 800               | 16                 | 12800             |
|         | K11047 | Skid   | 200      |                   |                    | 8000              |
| 28 × 40 | K11053 | Carton | 236      | 600               | 16                 | 9600              |
|         | K11048 | Skid   | 236      |                   |                    | 8000              |

Brightness-90 Opacity-96.5 Paper Gloss-68 Caliper - .0043 PPI-466 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Digital                 |        |        |          |                   |                    |                   |
|-------------------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17                 | K11944 | Carton | 39       | 1500              | 32                 | 48000             |
| 12 × 18                 | K11948 | Carton | 45       | 1200              | 40                 | 48000             |
| 13 × 19                 | K11956 | Carton | 52       | 1000              | 36                 | 36000             |
| 14×20                   | K11952 | Carton | 59       | 1000              | 36                 | 36000             |
| 29½ × 20⅓ <sub>16</sub> | K13146 | Carton | 129      | 800               | 20                 | 16000             |
|                         | K13686 | Skid   | 129      |                   |                    | 7200              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

## Flo Gloss Cover

#### 80lb/216gsm

Brightness −90 Opacity −97.5 Paper Gloss −68 Caliper −.0072 Guar. Caliper −7pt¹ PPI−278 \$10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11150 | Carton | 146      | 1000              | 16                 | 16000             |
|         | K11149 | Skid   | 146      |                   |                    | 9000              |
| 20×26   | K11055 | Carton | 160      | 1000              | 16                 | 16000             |
|         | K11197 | Skid   | 160      |                   |                    | 9000              |
| 23 × 29 | K11416 | Carton | 205      | 750               | 16                 | 12000             |
| 23 × 35 | K11056 | Carton | 248      | 600               | 16                 | 9600              |
|         | K11151 | Skid   | 248      |                   |                    | 4500              |
| 24 × 36 | K11216 | Skid   | 266      |                   |                    | 4500              |
| 25 × 38 | K11057 | Carton | 292      | 500               | 16                 | 8000              |
|         | K11054 | Skid   | 292      |                   |                    | 4500              |
| 26 × 40 | K11058 | Carton | 320      | 500               | 16                 | 8000              |
|         | K11198 | Skid   | 320      |                   |                    | 4500              |
| 28 × 40 | K11059 | Carton | 344      | 400               | 16                 | 6400              |
|         | K11199 | Skid   | 344      |                   |                    | 4500              |

Brightness—90 Opacity—97.5 Paper Gloss—68 Caliper—.0072 Guar. Caliper—7pt¹ PPI—278 ♣10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 17 × 11   | K11945 | Carton | 58       | 1000              | 32                 | 32000             |
| 18 × 12   | K11949 | Carton | 66       | 750               | 40                 | 30000             |
| 19 × 13   | K11957 | Carton | 76       | 750               | 36                 | 27000             |
| 20 × 14   | K11953 | Carton | 86       | 600               | 36                 | 21600             |
| 20½ × 14⅓   | K11987 | Carton | 90       | 600               | 36                 | 21600             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13147 | Carton | 189      | 500               | 20                 | 10000             |
|   | K13687 | Skid   | 189      |                   |                    | 4500              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Gloss Cover**

## 100lb/270gsm

Brightness—90
Opacity—99
Paper Gloss—68
Caliper—.0093
Guar. Caliper—9pt¹
PPI—214
♣10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified³

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11153 | Carton | 183      | 800               | 16                 | 12800             |
|         | K11152 | Skid   | 183      |                   |                    | 8000              |
| 20×26   | K11061 | Carton | 200      | 800               | 16                 | 12800             |
|         | K11200 | Skid   | 200      |                   |                    | 8000              |
| 23 × 29 | K11417 | Carton | 257      | 600               | 16                 | 9600              |
|         | K11844 | Skid   | 257      |                   |                    | 4200              |
| 23 × 35 | K11062 | Carton | 310      | 500               | 16                 | 8000              |
|         | K11154 | Skid   | 310      |                   |                    | 4000              |
| 24×36   | K12785 | Skid   | 332      |                   |                    | 4000              |
| 25 × 38 | K11063 | Carton | 366      | 400               | 16                 | 6400              |
|         | K11060 | Skid   | 366      |                   |                    | 4000              |
| 26 × 40 | K11064 | Carton | 400      | 400               | 16                 | 6400              |
|         | K11201 | Skid   | 400      |                   |                    | 4000              |
| 28 × 40 | K11065 | Carton | 430      | 400               | 16                 | 6400              |
|         | K11202 | Skid   | 430      |                   |                    | 4000              |

Brightness−90
Opacity−99
Paper Gloss−68
Caliper−0093
Guar. Caliper−9pt¹
PPI−214
\$10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified³

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 17 × 11   | K11946 | Carton | 72       | 750               | 32                 | 24000             |
| 18 × 12   | K11950 | Carton | 83       | 600               | 40                 | 24000             |
| 19 × 13   | K11958 | Carton | 95       | 600               | 36                 | 21600             |
| 20 × 14   | K11954 | Carton | 108      | 500               | 36                 | 18000             |
| 20½ × 14⅓   | K11988 | Carton | 113      | 500               | 36                 | 18000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13148 | Carton | 236      | 400               | 20                 | 8000              |
|   | K13688 | Skid   | 236      |                   |                    | 3500              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

Effective

03.23

## **Flo Gloss Cover**

#### 120lb/325gsm

Brightness-90 Opacity-99 Paper Gloss-68 Caliper-.0110 PPI-182

\$10% recycled fiber<sup>1</sup>
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20×26   | K13561 | Carton | 240      | 625               | 16                 | 10000             |
|         | K13560 | Skid   | 240      |                   |                    | 6000              |
| 23 × 35 | K13563 | Carton | 372      | 400               | 16                 | 6400              |
|         | K13562 | Skid   | 372      |                   |                    | 3000              |
| 25 × 38 | K13565 | Carton | 438      | 375               | 16                 | 6000              |
|         | K13564 | Skid   | 438      |                   |                    | 3000              |
| 26 × 40 | K13567 | Carton | 480      | 300               | 16                 | 4800              |
|         | K13566 | Skid   | 480      |                   |                    | 3000              |
| 28 × 40 | K13569 | Carton | 516      | 300               | 16                 | 4800              |
|         | K13568 | Skid   | 516      |                   |                    | 3000              |

Brightness −90
Opacity −99
Paper Gloss −68
Caliper −.0110
PPI −182
♣10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K13580 | Carton | 100      | 500               | 40                 | 20000             |
| 19 × 13   | K13581 | Carton | 114      | 500               | 36                 | 18000             |
| 20 × 14   | K13583 | Carton | 129      | 500               | 36                 | 18000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13582 | Carton | 283      | 350               | 20                 | 7000              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Dull Text**

#### 70lb/104gsm

Brightness—90
Opacity—92
Paper Gloss—47
Caliper—.0033
PPI—612
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or

PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K10987 | Carton | 70       | 2000              | 16                 | 32000             |
|         | K10982 | Skid   | 70       |                   |                    | 19000             |
| 23 × 35 | K10988 | Carton | 119      | 1200              | 16                 | 19200             |
|         | K10983 | Skid   | 119      |                   |                    | 11000             |
| 24×36   | K10989 | Carton | 128      | 1200              | 16                 | 19200             |
|         | K10984 | Skid   | 128      |                   |                    | 11000             |
| 25 × 38 | K10990 | Carton | 140      | 1000              | 16                 | 16000             |
|         | K10985 | Skid   | 140      |                   |                    | 11000             |
| 28 × 40 | K10991 | Carton | 166      | 900               | 16                 | 14400             |
|         | K10986 | Skid   | 166      |                   |                    | 11000             |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>2</sup> All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Dull Text

#### 80lb/118gsm

Brightness—90 Opacity—94 Paper Gloss—47 Caliper—.0036 PPI—556 ♣10% recycled fiber¹

\$10% recycled fiber SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified 2

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K10997 | Carton | 80       | 2000              | 16                 | 32000             |
|         | K10992 | Skid   | 80       |                   |                    | 19000             |
| 23 × 29 | K11381 | Carton | 112      | 1300              | 16                 | 20800             |
|         | K11845 | Skid   | 112      |                   |                    | 11600             |
| 23 × 35 | K10998 | Carton | 136      | 1100              | 16                 | 17600             |
|         | K10993 | Skid   | 136      |                   |                    | 9500              |
| 24 × 36 | K10994 | Skid   | 146      |                   |                    | 9500              |
| 25 × 38 | K11082 | Carton | 160      | 1000              | 16                 | 16000             |
|         | K10995 | Skid   | 160      |                   |                    | 9500              |
| 28 × 40 | K11083 | Carton | 188      | 800               | 16                 | 12800             |
|         | K10996 | Skid   | 188      |                   |                    | 8500              |

Brightness −90
Opacity −94
Paper Gloss −47
Caliper −.0036
PPI −556
♣10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Digital                 |        |        |          |                   |                    |                   |
|-------------------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17                 | K11959 | Carton | 31       | 2000              | 32                 | 64000             |
| 12 × 18                 | K11963 | Carton | 36       | 1500              | 40                 | 60000             |
| 13 × 19                 | K11971 | Carton | 42       | 1500              | 36                 | 54000             |
| 14×20                   | K11967 | Carton | 47       | 1200              | 36                 | 43200             |
| 29½ × 20⅓ <sub>16</sub> | K13238 | Carton | 103      | 1000              | 20                 | 20000             |
|                         | K13689 | Skid   | 103      |                   |                    | 8700              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Dull Text

#### 100lb/148gsm

Brightness – 90 Opacity – 96.5 Paper Gloss – 47 Caliper – .0047 PPI – 426

PPI-426 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11007 | Carton | 100      | 1600              | 16                 | 25600             |
|         | K11002 | Skid   | 100      |                   |                    | 15000             |
| 23 × 29 | K11382 | Carton | 140      | 1000              | 16                 | 16000             |
|         | K11846 | Skid   | 140      |                   |                    | 8400              |
| 23 × 35 | K11008 | Carton | 169      | 900               | 16                 | 14400             |
|         | K11003 | Skid   | 169      |                   |                    | 7500              |
| 24 × 36 | K11009 | Carton | 182      | 800               | 16                 | 12800             |
|         | K11004 | Skid   | 182      |                   |                    | 7500              |
| 25 × 38 | K11010 | Carton | 200      | 800               | 16                 | 12800             |
|         | K11005 | Skid   | 200      |                   |                    | 7500              |
| 28 × 40 | K11011 | Carton | 236      | 600               | 16                 | 9600              |
|         | K11006 | Skid   | 236      |                   |                    | 7500              |

Brightness −90
Opacity −96.5
Paper Gloss −47
Caliper −.0047
PPI−426
\$10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Digital                 |        |        |          |                   |                    |                   |
|-------------------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 11 × 17                 | K11960 | Carton | 39       | 1500              | 32                 | 48000             |
| 12 × 18                 | K11964 | Carton | 45       | 1200              | 40                 | 48000             |
| 13 × 19                 | K11972 | Carton | 52       | 1000              | 36                 | 36000             |
| 14×20                   | K11968 | Carton | 59       | 1000              | 36                 | 36000             |
| 29½ × 20⅓ <sub>16</sub> | K13143 | Carton | 129      | 800               | 20                 | 16000             |
|                         | K13690 | Skid   | 129      |                   |                    | 6900              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

<sup>1</sup> Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.

## Flo Dull Cover

#### 80lb/216gsm

Brightness −90 Opacity −97.5 Paper Gloss −47 Caliper −.0075 Guar. Caliper −7pt¹ PPI −268 \$10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11144 | Carton | 146      | 1000              | 16                 | 16000             |
|         | K11143 | Skid   | 146      |                   |                    | 9000              |
| 20×26   | K11013 | Carton | 160      | 1000              | 16                 | 16000             |
| 23 × 29 | K11419 | Carton | 205      | 700               | 16                 | 11200             |
| 23 × 35 | K11014 | Carton | 248      | 600               | 16                 | 9600              |
|         | K11145 | Skid   | 248      |                   |                    | 4500              |
| 25 × 38 | K11015 | Carton | 292      | 500               | 16                 | 8000              |
|         | K11012 | Skid   | 292      |                   |                    | 4500              |
| 26 × 40 | K11016 | Carton | 320      | 500               | 16                 | 8000              |
|         | K11204 | Skid   | 320      |                   |                    | 4500              |
| 28 × 40 | K11017 | Carton | 344      | 400               | 16                 | 6400              |

Brightness—90 Opacity—97.5 Paper Gloss—47 Caliper—.0075 Guar. Caliper—7pt¹ PPI—268 ♣10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 17 × 11   | K11961 | Carton | 58       | 1000              | 32                 | 32000             |
| 18 × 12   | K11965 | Carton | 66       | 750               | 40                 | 30000             |
| 19 × 13   | K11973 | Carton | 76       | 750               | 36                 | 27000             |
| 20 × 14   | K11969 | Carton | 86       | 600               | 36                 | 21600             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13144 | Carton | 189      | 500               | 20                 | 10000             |
|   | K13691 | Skid   | 189      |                   |                    | 4200              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Dull Cover

#### 100lb/270gsm

Brightness−90
Opacity−99
Paper Gloss−47
Caliper−0099
Guar. Caliper−9pt¹
PPI−202
\$10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified³

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11147 | Carton | 183      | 800               | 16                 | 12800             |
|         | K11146 | Skid   | 183      |                   |                    | 7000              |
| 20×26   | K11019 | Carton | 200      | 800               | 16                 | 12800             |
| 23 × 29 | K11420 | Carton | 257      | 550               | 16                 | 8800              |
| 23 × 35 | K11020 | Carton | 310      | 500               | 16                 | 8000              |
|         | K11148 | Skid   | 310      |                   |                    | 3500              |
| 25 × 38 | K11021 | Carton | 366      | 400               | 16                 | 6400              |
|         | K11018 | Skid   | 366      |                   |                    | 3500              |
| 26 × 40 | K11022 | Carton | 400      | 400               | 16                 | 6400              |
|         | K13559 | Skid   | 400      |                   |                    | 4000              |
| 28 × 40 | K11023 | Carton | 430      | 400               | 16                 | 6400              |
|         | K11208 | Skid   | 430      |                   |                    | 3500              |

Brightness−90 Opacity−99 Paper Gloss−47 Caliper−.0099 Guar. Caliper−9pt¹ PPI−202 \$10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified³

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K11966 | Carton | 83       | 600               | 40                 | 24000             |
| 19 × 13   | K11974 | Carton | 95       | 600               | 36                 | 21600             |
| 20 × 14   | K11970 | Carton | 108      | 500               | 36                 | 18000             |
| 20½ × 14⅓   | K11990 | Carton | 113      | 500               | 36                 | 18000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13145 | Carton | 236      | 400               | 20                 | 8000              |
|   | K13692 | Skid   | 236      |                   |                    | 3200              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Dull Cover

#### 120lb/325gsm

Brightness-90 Opacity-99 Paper Gloss-47 Caliper-.0121 PPI-168

PPI-168 \$10% recycled fiber<sup>1</sup> SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20 × 26 | K13571 | Carton | 240      | 625               | 16                 | 10000             |
|         | K13570 | Skid   | 240      |                   |                    | 6000              |
| 23 × 35 | K13573 | Carton | 372      | 400               | 16                 | 6400              |
|         | K13572 | Skid   | 372      |                   |                    | 3000              |
| 25 × 38 | K13575 | Carton | 438      | 375               | 16                 | 6000              |
|         | K13574 | Skid   | 438      |                   |                    | 3000              |
| 26 × 40 | K13577 | Carton | 480      | 300               | 16                 | 4800              |
|         | K13576 | Skid   | 480      |                   |                    | 3000              |
| 28 × 40 | K13579 | Carton | 516      | 300               | 16                 | 4800              |
|         | K13578 | Skid   | 516      |                   |                    | 3000              |

Brightness −90
Opacity −99
Paper Gloss −47
Caliper −.0121
PPI−168
♣10% recycled fiber¹
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified²

| Digital   |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K13585 | Carton | 100      | 500               | 40                 | 20000             |
| 19 × 13   | K13586 | Carton | 114      | 500               | 36                 | 18000             |
| 20 × 14   | K13588 | Carton | 129      | 500               | 36                 | 18000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K13587 | Carton | 283      | 350               | 20                 | 7000              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **Flo Matte Text**

## 40lb/59gsm1

Brightness – 82 Opacity – 90 Paper Gloss – 29 Caliper – .0022 PPI – <sup>2</sup> SFI Certified Sourcing Either FSC, SFI, or

PEFC CoC certified4

| Web  |        |        |          |
|------|--------|--------|----------|
| SIZE | CODE   | PUT UP | DIAMETER |
| 35   | K16451 | Roll   | 49       |

#### 60lb/89gsm

Brightness −90 Opacity −92 Paper Gloss −22 Caliper −.0032 PPI −626 \$10% recycled fiber³ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified⁴

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11810 | Carton | 60       | 2400              | 16                 | 38400             |
| 23 × 35 | K11813 | Skid   | 102      |                   |                    | 13000             |
| 24 × 36 | K12882 | Skid   | 110      |                   |                    | 13000             |
| 25 × 38 | K11815 | Skid   | 120      |                   |                    | 13000             |
| 28 × 40 | K11817 | Skid   | 142      |                   |                    | 13000             |

#### 70lb/104gsm

Brightness−90
Opacity−94
Paper Gloss−22
Caliper−.0038
PPI−526
\$10% recycled fiber³
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified⁴

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19 × 25 | K11819 | Skid   | 70       |                   |                    | 22000             |
| 23 × 35 | K11820 | Carton | 119      | 1200              | 16                 | 19200             |
|         | K11821 | Skid   | 119      |                   |                    | 10500             |
| 24×36   | K11991 | Skid   | 128      |                   |                    | 11000             |
| 25 × 38 | K11823 | Skid   | 140      |                   |                    | 10500             |
| 28 × 40 | K11825 | Skid   | 166      |                   |                    | 10500             |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Meets SIMRA/NASTA specifications.
- 2 For PPI information, please contact your Sappi sales representative.
- 3 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 4 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Matte Text

#### 80lb/118gsm

Brightness-90 Opacity-94.5 Paper Gloss - 36 Caliper - .0041 PPI-488

☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K11827 | Carton | 136      | 1100              | 16                 | 17600             |
| 24 × 36 | K11828 | Carton | 146      | 1000              | 16                 | 16000             |
|         | K11992 | Skid   | 146      |                   |                    | 9500              |
| 25 × 38 | K11829 | Carton | 160      | 1000              | 16                 | 16000             |
|         | K11830 | Skid   | 160      |                   |                    | 7500              |
| 28 × 40 | K11831 | Carton | 188      | 800               | 16                 | 12800             |

#### 100lb/148gsm

Brightness-90 Opacity-96

Paper Gloss - 36 Caliper-.0052 PPI-386 ☼10% recycled fiber¹ SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 24×36   | K11834 | Carton | 182      | 800               | 16                 | 12800             |
| 25 × 38 | K11835 | Carton | 200      | 800               | 16                 | 12800             |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 2 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## Flo Matte Text Reply Card

#### 110lb/162gsm

Brightness-90 Opacity-97 Paper Gloss-15 Caliper - . 0073 Guar. Caliper-7pt1 PPI-274 ☼10% recycled fiber² SFI Certified Sourcing Either FSC, SFI, or PEFC CoC certified<sup>3</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19 × 25 | K11090 | Skid   | 110      |                   |                    | 11000             |
| 23×35   | K11096 | Carton | 186      | 800               | 16                 | 12800             |
|         | K11091 | Skid   | 186      |                   |                    | 5500              |
| 25 × 38 | K11098 | Carton | 220      | 700               | 16                 | 11200             |
|         | K11093 | Skid   | 220      |                   |                    | 5500              |
| 28 × 40 | K11099 | Carton | 260      | 600               | 16                 | 9600              |
|         | K11094 | Skid   | 260      |                   |                    | 5500              |
|         |        |        |          |                   |                    |                   |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications

## **Flo Matte Cover**

#### 80lb/216gsm

Brightness – 90
Opacity – 98
Paper Gloss – 36
Caliper – .0092
Guar. Caliper – 9pt¹
PPI – 218
♣10% recycled fiber²
SFI Certified Sourcing
Either FSC, SFI, or
PEFC CoC certified³

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K11839 | Carton | 146      | 1100              | 16                 | 17600             |
| 20×26   | K12764 | Carton | 160      | 850               | 16                 | 13600             |
| 23 × 35 | K11102 | Carton | 248      | 600               | 16                 | 9600              |
| 25 × 38 | K11100 | Skid   | 292      |                   |                    | 4250              |
| 26 × 40 | K11104 | Carton | 320      | 500               | 16                 | 8000              |
|         | K11840 | Skid   | 320      |                   |                    | 4000              |
| 28 × 40 | K11105 | Carton | 344      | 500               | 16                 | 8000              |
|         | K11756 | Skid   | 344      |                   |                    | 4200              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish. Sappi's use of recycled fiber is consistent with EPA definitions. Learn more about recycled fiber at sappi.com/RF.

- 1 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 2 Flo sheets are sold standard with 10% recycled fiber. Flo web is available with 10% recycled fiber as a making item based on availability and applicable upcharges.
- 3 All Flo products are sold standard with SFI Certified Sourcing and either an FSC, SFI, or PEFC Chain-of-Custody (CoC) claim, based upon customer request and availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.



# The fine line between reliable and remarkable.

When you need a dream on the surface and dependability on press. EuroArt Plus® is a smart choice for impressive performance. Engineered to provide exceptional on-press efficiency and reliable runnability, it has the brightness, shade, and ultrasmooth surface to ensure that color pops right off the page and delivers an incredible visual experience.

## Postal guaranteed

EuroArt Plus 7pt and 9pt guaranteed calipers on covers are ideal for printing direct mail pieces and brochures that make a big impact while remaining cost-effective.

## Style that excites

EuroArt Plus presents a sophisticated blue-white shade and high brightness. This print surface facilitates phenomenal image fidelity and superior color vibrancy that get messaging noticed.

## A workhorse with versatility

EuroArt Plus, which features fast inkdrying times and outstanding folding performance, is HP Indigo certified and suitable for many other dry-toner digital printing presses. It's FSC certified and available in gloss and silk finishes to meet the needs of any job.

## Stocked basis weights

| Sheets           |                          |                  |       |      |
|------------------|--------------------------|------------------|-------|------|
| TEXT OR<br>COVER | BASIS WEIGHT<br>(lb/gsm) | GUAR.<br>CALIPER | GLOSS | SILK |
| Text             | 60/90                    |                  | •     |      |
|                  | 70/104                   |                  | •     | •    |
|                  | 80/118                   |                  | •     | •    |
|                  | 100/150                  |                  | •     | •    |
| Cover            | 74/200                   | 7pt¹             |       |      |
|                  | 80/216                   | 7pt¹             | •     |      |
|                  | 80/216                   | 9pt²             |       | •    |
|                  | 92/250                   | 9pt²             | •     |      |
|                  | 100/275                  | 9pt²             | •     | •    |
|                  | 120/325                  |                  | •     | •    |
|                  | 130/350                  |                  | •     | •    |

## **Specifications**

Gloss, Silk

PUT UP Skids

SHADE

Blue white

1.25, -5.80

CERTIFICATIONS

Either FSC or PEFC CoC certified⁴

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements
- 2 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements
- 3 CIE L\*a\*b\* values are approximate and in conformance with ISO 13655:2017. Data are specified according to the measurement condition M0, measured using an X-Rite eXact, configured to D50, 2° Standard Observer, 45/0 measurement geometry, with white (self) backing. Values may vary significantly when measured with different instruments. Average CIE L\*a\*b\* data are presented for relative paper shade comparisons—not as product specifications. Paper white values specified according to the measurement condition M1 are available upon request.
- 4 All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **EuroArt Plus Gloss Text**

## 60lb/90gsm

Brightness—91 Opacity—92.0 Paper Gloss—65 Caliper—.0028 PPI—714 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 23 × 29 | K14090 | Skid   | 84       |                   |                    | 11500             |
| 23 × 35 | K14070 | Skid   | 102      |                   |                    | 11500             |
| 24 × 36 | K14026 | Skid   | 110      |                   |                    | 11500             |
| 25 × 38 | K14071 | Skid   | 120      |                   |                    | 11500             |
| 28 × 40 | K14072 | Skid   | 142      |                   |                    | 11500             |

#### 70lb/104gsm

Brightness—91 Opacity—93.5 Paper Gloss—65 Caliper—.0032 PPI—624 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 19×25   | K14073 | Skid   | 70       |                   |                    | 20000             |
| 23 × 29 | K14076 | Skid   | 98       |                   |                    | 10000             |
| 23 × 35 | K14103 | Skid   | 119      |                   |                    | 10000             |
| 24×36   | K14027 | Skid   | 128      |                   |                    | 10000             |
| 25 × 38 | K14084 | Skid   | 140      |                   |                    | 10000             |
| 28 × 40 | K14028 | Skid   | 166      |                   |                    | 10000             |

## **EuroArt Plus Gloss Text**

## 80lb/118gsm

Brightness—92 Opacity—95.0 Paper Gloss—65 Caliper—.0037 PPI—540 SFI Certified Sourcing Either FSC or PEFC CoC certified¹

| Sheets                                 |        |        |          |                   |                    |                   |
|--|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                                   | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18                                | K14145 | Skid   | 36       | 500               | 72                 | 36000             |
| 13 × 19                                | K14146 | Skid   | 42       | 500               | 72                 | 36000             |
| 29½ × 20 <sup>13</sup> / <sub>16</sub> | K14114 | Skid   | 103      |                   |                    | 17000             |
| 19×25                                  | K14047 | Skid   | 80       |                   |                    | 18000             |
| 23 × 29                                | K14078 | Skid   | 112      |                   |                    | 9000              |
| 23 × 35                                | K14048 | Skid   | 136      |                   |                    | 9000              |
| 24 × 36                                | K14049 | Skid   | 146      |                   |                    | 9000              |
| 25 × 38                                | K14029 | Skid   | 160      |                   |                    | 9000              |
| 28 × 40                                | K14030 | Skid   | 188      |                   |                    | 9000              |

#### 100lb/150gsm

Brightness—92 Opacity—97.5 Paper Gloss—65 Caliper—.0048 PPI—416 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets      |        |        |          |                   |                    |                   |
|-------------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE        | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18     | K14147 | Skid   | 45       | 500               | 52                 | 26000             |
| 13 × 19     | K14148 | Skid   | 52       | 500               | 52                 | 26000             |
| 29½ × 20⅓16 | K14115 | Skid   | 129      |                   |                    | 13000             |
| 19×25       | K14031 | Skid   | 100      |                   |                    | 14500             |
| 23 × 29     | K14075 | Skid   | 140      |                   |                    | 7250              |
| 23 × 35     | K14050 | Skid   | 169      |                   |                    | 7250              |
| 24 × 36     | K14032 | Skid   | 182      |                   |                    | 7250              |
| 25 × 38     | K14033 | Skid   | 200      |                   |                    | 7250              |
| 28 × 40     | K14034 | Skid   | 236      |                   |                    | 7250              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

1 All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

Effective

03.23

## **EuroArt Plus Gloss Cover**

## 80lb/216gsm

Brightness—92 Opacity—99.0 Paper Gloss—65 Caliper—.0074 Guar. Caliper—7pt<sup>1</sup> PPI—270 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>3</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K14149 | Skid   | 66       | 250               | 72                 | 18000             |
| 19 × 13   | K14150 | Skid   | 76       | 250               | 72                 | 18000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14116 | Skid   | 189      |                   |                    | 8400              |
| 19×25   | K14055 | Skid   | 146      |                   |                    | 9000              |
| 23 × 35   | K14056 | Skid   | 248      |                   |                    | 4500              |
| 24 × 36   | K14151 | Skid   | 266      |                   |                    | 4500              |
| 25 × 38   | K14041 | Skid   | 292      |                   |                    | 4500              |
| 26 × 40   | K14086 | Skid   | 320      |                   |                    | 4500              |
| 28 × 40   | K14042 | Skid   | 344      |                   |                    | 4500              |

## 92lb/250gsm

Brightness—92 Opacity—99.0 Paper Gloss—65 Caliper—.0093 Guar. Caliper—9pt<sup>2</sup> PPI—214 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>3</sup>

| Sheets  |        |        |          |                   |                    |                   |  |  |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS.<br>PALLET |  |  |
| 20×26   | K14152 | Skid   | 184      |                   |                    | 8000              |  |  |
| 23 × 35 | K14153 | Skid   | 285      |                   |                    | 4000              |  |  |
| 24×36   | K14164 | Skid   | 306      |                   |                    | 4000              |  |  |
| 25 × 38 | K14154 | Skid   | 336      |                   |                    | 4000              |  |  |
| 26 × 40 | K14155 | Skid   | 368      |                   |                    | 4000              |  |  |
| 28 × 40 | K14156 | Skid   | 396      |                   |                    | 4000              |  |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

- 1 Guaranteed to meet US Postal Service 7-point minimum business-reply requirements.
- 2 Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.
- 3 All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **EuroArt Plus Gloss Cover**

#### 100lb/275gsm

Brightness—92 Opacity—99.0 Paper Gloss—65 Caliper—.0100 Guar. Caliper—9pt<sup>1</sup> PPI—200 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K14157 | Skid   | 83       | 250               | 56                 | 14000             |
| 19 × 13   | K14158 | Skid   | 95       | 250               | 56                 | 14000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14117 | Skid   | 236      |                   |                    | 6400              |
| 19 × 25   | K14057 | Skid   | 183      |                   |                    | 7000              |
| 20×29   | K14074 | Skid   | 200      |                   |                    | 7000              |
| 23 × 29   | K14077 | Skid   | 257      |                   |                    | 3500              |
| 23 × 35   | K14058 | Skid   | 310      |                   |                    | 3500              |
| 24 × 36   | K14091 | Skid   | 332      |                   |                    | 3500              |
| 25 × 38   | K14044 | Skid   | 366      |                   |                    | 3500              |
| 26 × 40   | K14085 | Skid   | 400      |                   |                    | 3500              |
| 28 × 40   | K14045 | Skid   | 430      |                   |                    | 3500              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

<sup>1</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.

<sup>2</sup> All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **EuroArt Plus Gloss Cover**

#### 120lb/325gsm

Brightness—92 Opacity—99.0 Paper Gloss—65 Caliper—.0123 PPI—164 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20×26   | K14159 | Skid   | 240      |                   |                    | 6000              |
| 23 × 35 | K14160 | Skid   | 372      |                   |                    | 3000              |
| 25 × 38 | K14161 | Skid   | 438      |                   |                    | 3000              |
| 26 × 40 | K14162 | Skid   | 480      |                   |                    | 3000              |
| 28 × 40 | K14163 | Skid   | 516      |                   |                    | 3000              |

#### 130lb/350gsm

Brightness—92 Opacity—99.5 Paper Gloss—65 Caliper—.0135 PPI—148 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |  |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14118 | Skid   | 307      |                   |                    | 4800              |  |  |
| 28 × 40   | K14059 | Skid   | 560      |                   |                    | 2600              |  |  |

## **EuroArt Plus Silk Text**

#### 70lb/104gsm

Brightness—92 Opacity—94.0 Paper Gloss—32 Caliper—.0038 PPI—526 SFI Certified Sourcing Either FSC or PEFC CoC certified¹

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 23 × 35 | K14087 | Skid   | 119      |                   |                    | 9000              |
| 24 × 36 | K14035 | Skid   | 128      |                   |                    | 9000              |
| 25 × 38 | K14080 | Skid   | 140      |                   |                    | 9000              |
| 28 × 40 | K14036 | Skid   | 166      |                   |                    | 9000              |

#### 80lb/118gsm

Brightness—92 Opacity—95.5 Paper Gloss—32 Caliper—.0043 PPI—466 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets                                 |        |        |          |                   |                    |                   |  |
|--|--------|--------|----------|-------------------|--------------------|-------------------|--|
| SIZE                                   | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |
| 12 × 18                                | K14139 | Skid   | 36       | 500               | 64                 | 32000             |  |
| 13 × 19                                | K14140 | Skid   | 42       | 500               | 64                 | 32000             |  |
| 29½ × 20 <sup>13</sup> / <sub>16</sub> | K14111 | Skid   | 103      |                   |                    | 15000             |  |
| 19×25                                  | K14081 | Skid   | 80       |                   |                    | 16000             |  |
| 23 × 35                                | K14079 | Skid   | 136      |                   |                    | 8000              |  |
| 24 × 36                                | K14037 | Skid   | 146      |                   |                    | 8000              |  |
| 25 × 38                                | K14046 | Skid   | 160      |                   |                    | 8000              |  |
| 28 × 40                                | K14038 | Skid   | 188      |                   |                    | 8000              |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

1 All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

## **EuroArt Plus Silk Text**

#### 100lb/150gsm

Brightness—92 Opacity—98.0 Paper Gloss—32 Caliper—.0054 PPI—370 SFI Certified Sourcing Either FSC or PEFC CoC certified¹

| Sheets                                 |        |        |          |                   |                    |                   |
|--|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE                                   | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 12 × 18                                | K14141 | Skid   | 45       | 500               | 48                 | 24000             |
| 13 × 19                                | K14142 | Skid   | 52       | 500               | 48                 | 24000             |
| 29½ × 20 <sup>13</sup> / <sub>16</sub> | K14112 | Skid   | 129      |                   |                    | 12000             |
| 19×25                                  | K14060 | Skid   | 100      |                   |                    | 12000             |
| 24 × 36                                | K14039 | Skid   | 182      |                   |                    | 6000              |
| 25 × 38                                | K14061 | Skid   | 200      |                   |                    | 6000              |
| 28 × 40                                | K14062 | Skid   | 236      |                   |                    | 6000              |

## All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

## **EuroArt Plus Silk Cover**

#### 80lb/216gsm

Brightness—92 Opacity—99.0 Paper Gloss—32 Caliper—.0093 Guar. Caliper—9pt<sup>1</sup> PPI—214 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K14143 | Skid   | 66       | 250               | 64                 | 16000             |
| 19 × 13   | K14144 | Skid   | 76       | 250               | 64                 | 16000             |
| 19×25   | K14169 | Skid   | 146      |                   |                    | 9000              |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14113 | Skid   | 189      |                   |                    | 8000              |
| 23 × 35   | K14125 | Skid   | 248      |                   |                    | 4000              |
| 24×36   | K14129 | Skid   | 266      |                   |                    | 4000              |
| 25 × 38   | K14123 | Skid   | 292      |                   |                    | 4000              |
| 26 × 40   | K14126 | Skid   | 320      |                   |                    | 4000              |
| 28 × 40   | K14124 | Skid   | 344      |                   |                    | 4000              |

#### 100lb/275gsm

Brightness—92 Opacity—99.0 Paper Gloss—35 Caliper—0105 Guar. Caliper—9pt<sup>1</sup> PPI—190 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>2</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 18 × 12   | K14130 | Skid   | 83       | 250               | 56                 | 14000             |
| 19 × 13   | K14131 | Skid   | 95       | 250               | 56                 | 14000             |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14109 | Skid   | 236      |                   |                    | 6000              |
| 23 × 35   | K14088 | Skid   | 310      |                   |                    | 3500              |
| 24 × 36   | K14132 | Skid   | 332      |                   |                    | 3750              |
| 25 × 38   | K14051 | Skid   | 366      |                   |                    | 3500              |
| 26 × 40   | K14082 | Skid   | 400      |                   |                    | 3500              |
| 28 × 40   | K14052 | Skid   | 430      |                   |                    | 3500              |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

<sup>1</sup> Guaranteed to meet US Postal Service 9-point minimum business-reply requirements.

<sup>2</sup> All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.

## **EuroArt Plus Silk Cover**

## 120lb/325gsm

Brightness—92 Opacity—99.0 Paper Gloss—35 Caliper—.0132 PPI—152 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |
|---------|--------|--------|----------|-------------------|--------------------|-------------------|
| SIZE    | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |
| 20×26   | K14133 | Skid   | 240      |                   |                    | 5500              |
| 23 × 35 | K14134 | Skid   | 372      |                   |                    | 3000              |
| 25 × 38 | K14135 | Skid   | 438      |                   |                    | 2875              |
| 26 × 40 | K14136 | Skid   | 480      |                   |                    | 2875              |
| 28 × 40 | K14137 | Skid   | 516      |                   |                    | 2875              |

#### 130lb/350gsm

Brightness—92 Opacity—99.5 Paper Gloss—35 Caliper—.0145 PPI—138 SFI Certified Sourcing Either FSC or PEFC CoC certified<sup>1</sup>

| Sheets  |        |        |          |                   |                    |                   |  |
|---|--------|--------|----------|-------------------|--------------------|-------------------|--|
| SIZE  | CODE   | PUT UP | M WEIGHT | SHEETS/<br>CARTON | CARTONS/<br>PALLET | SHEETS/<br>PALLET |  |
| 20 <sup>13</sup> / <sub>16</sub> × 29 <sup>1</sup> / <sub>2</sub> | K14110 | Skid   | 307      |                   |                    | 4400              |  |
| 20×26   | K14138 | Skid   | 260      |                   |                    | 5000              |  |
| 23×35   | K14053 | Skid   | 403      |                   |                    | 2500              |  |
| 28 × 40   | K14054 | Skid   | 560      |                   |                    | 2500              |  |

All grades are acid-free and manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching. Caliper is an approximation only and cannot be guaranteed except where indicated. Non-caliper guaranteed grades are manufactured to weight and finish.

# Mill certifications and recycling efforts

Sappi approaches paper holistically, using renewable energy and resources to create a recyclable and sustainable product. We use third-party forestry certification programs to ensure that our wood and pulp suppliers are adhering to responsible forestry practices—helping paper to continue to be one of the most sustainable mediums for communication. All of Sappi North America's US-based coated paper and packaging mills are triple certified in accordance with the leading global sustainable forestry chain of custody certification systems, including the Sustainable Forestry Initiative® (SFI) program, the Programme for the Endorsement of Forest Certification™ (PEFC), and the Forest Stewardship Council® (FSC-C014955).

Product certifications are available upon request. Please visit *sappi.com* or email samplesNA@sappi.com for the most up-to-date product specifications and available certifications.

All EuroArt Plus sheet products are sold standard with FSC Chain-of-Custody (CoC) Mix Credit claims. Alternatively, customers may request a PEFC CoC claim, based on availability of credits. All values listed are approximate and subject to change. Please visit sappi.com for the most up-to-date product specifications and available certifications.



## Sustainable Forestry Initiative (SFI®)

The SFI program is based on the premise that responsible environmental behavior and sound business decisions can coexist. SFI program participants practice sustainable forestry on all lands they manage and influence millions of additional acres through the training of loggers and foresters in best management practices and landowner outreach programs. The SFI Forest Management Standard is internationally endorsed by PEFC.



## Programme for the Endorsement of Forest Certification (PEFC™)

PEFC is a global nonprofit, nongovernmental organization that works throughout the entire forest supply chain to promote good practices in the forest and to ensure forests are harvested and managed using the highest ecological, social, and ethical standards.



## Forest Stewardship Council (FSC®)

FSC is a global nonprofit entity that supports environmentally appropriate, socially beneficial, and economically viable management of the world's forests. FSC independently tracks, traces, and identifies wood fibers from the forest through every step of the procurement, manufacturing, and printing process, confirming that each supplier in the chain follows rigorous controls, management, and reporting practices.



## **Recycling Logo**

Using a recycle logo reminds consumers that recycling paper is an easy way to reduce their environmental impact across the life cycle of printed materials.

Need inspiration? We have created a library of unique and fun recycling logos, free for anyone to use. To download high-resolution versions, visit us at *sappi.com/recycling-logo-library*.



















## Sappi e-commerce

A customer portal delivering seamless access to information, at your fingertips 24/7. Track the status of your orders, view all open orders, and bookmark the important ones.

- Check inventory in real time.
- View production schedules, including closed mill runs.
- Access your order-related documents (order confirmations, weight lists, invoices, etc.).
- Submit transit claims and returns.
- Use a variety of paper and paperboard calculators.
- Show the environmental impact of a print job with the eQ Calculator.

Register today at www.ecommerce.sappi.com!

Effective 03.23

## **Contact Information**

## Sappi Global Head Offices

## Sappi Europe

Glaverbel Building 166 Chaussée de la Hulpe 1170 Brussels Belgium

Tel +32 (0)2 676 9700

#### Sappi Limited

108 Oxford Road Rosebank Johannesburg, 2196 South Africa Tel +27 (0)11 407 8111

## Sappi North America

255 State Street
Boston, MA 02109
United States of America
Tel +1 617 423 7300

## Sappi Trading

28/F, One Pacific Centre 414 Kwun Tong Road Kwun Tong Kowloon, Hong Kong Tel +852 2877 4855

## Sappi North America Graphics and Packaging Regional Sales Offices

#### **Great Lakes**

1717 Dixie Highway, 150B Fort Wright, KY 41011 United States of America Tel +1 888 739 6601

## Northern/ National Accounts/ Publishing

287 Bowman Avenue

Suite 225
Purchase, NY 10577
United States of America
Tel +1 914 696 5544

#### Southern

3700 Mansell Road Suite 140 Alpharetta, GA 30322 United States of America Tel +1 404 751 2600

## Western

333 South Anita Drive Suite 840 Orange, CA 92868 United States of America Tel +1 714 456 0600

#### Sappi North America Inside Sales

#### **Great Lakes**

ты +1 866 Sappi 11 (+1 866 727 7411)

## National Accounts/ Publishing

Tel +1 866 478 2932

#### Northern

ты +1 866 Sappi 10 (+1 866 727 7410)

## Southern

ты +1 866 Sappi 15 (+1 866 727 7415)

#### Western

ты +1 866 Sappi 16 (+1 866 727 7416)

## Sappi Samples

sappisamples.com

The names, symbols, logos, and all other intellectual property of the companies, brands, and people appearing herein are the exclusive property of their respective owners and should not be interpreted as an endorsement of or by Sappi; any legal and equitable rights in their intellectual property are exclusively reserved to those owners.

The data, specifications, and/or certifications provided herein are current as of the date of printing, and may change without notice at Sappi's discretion.

Sappi is a trademark of Sappi Limited, and EUROART and GALERIE are trademarks of Sappi Europe. MCCOY, SPECTRO, OPUS, SOMERSET and FLO are trademarks of Sappi North America, registered in the U.S. and other countries.

© 2023 Sappi North America, Inc. All rights reserved.



Sappi North America 255 State Street Boston, MA 02109 www.sappi.com

# The Fine Line of Sappi Papers

## **Our products**

We engineer our products to meet specific user needs, but there are several attributes you'll get from every piece of Sappi paper:

- Superior quality
- High-grade fiber
- Smooth printing surface
- Consistent press performance
- Dependability in the toughest printing environments
- Superior ink hold-out for full color intensity
- Uniform color reproduction
- Side-to-side consistency
- Tight variability tolerances
- Manufactured in the USA (McCoy, Spectro, Opus, Somerset, and Flo)

## Sustainability

When you commit to a print campaign, you should be confident in your paper company's approach to sustainability. That's why we take a holistic view of our environmental responsibilities—from harvest through manufacturing, distribution, end use, and disposal. From beginning to end, we infuse environmental and social responsibility into our paper, processes and people, in order to give you one less thing to worry about.

For product-specific environmental information, go to sappi.com/coc-options.

## Pioneering research and innovation

At Sappi, our passion for paper can be traced back over 165 years and is what guides us today. Our history of industry firsts includes the first paper coated and calendered on two sides, the first dull-coated paper, and the first mill-branded paper. Our innovative spirit is also demonstrated in initiatives like *Sappi etc.* and *Ideas that Matter*, which provide thought leadership for the entire paper industry.

## Best-in-class service

We go way beyond technical specifications to help you choose the right paper for your brand and campaign needs. And once you're on press, our trusted printer technical support team stands ready to make sure your project turns out just right.